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) C�~�1(: �: >�
 B
�� �* *5�* �� 2��100  W�e�

 Be3� XY7 B
�� �* %�p�,

 2, 85���200  2, ��'	 2���: %B

5  B���V B
�� W��

 
 �p�, ����9/0 B

 

�����A:�c.��� B�A5�Y� . 

.XY7 2�5� &�@�� (�
� 

.>�
 2��+ &�@�� (S 

._��^�J5. 2��+ &�@�� ��] (0 

�
�                        (               P=V.I=200× 5 × 10�3 = 1 �    

(S                                                 P=V.I=100× 0.9 = 90 �    

     (0                 P=V.I= 200

2
× 100

2
= 100 × 50 = 5000 �    

1-2- *5�*1  

���	R*�V (*��R*�V g�A 2, �5ZH� B�
�Q� �O B.� R�T��� 
 �V *��* ���7 �V

 &���� �:�* i��/3� �A 
 B�
�Q� 2,�� iV�O ���� (*�� .�A�����	R*�V ���V �eO

 �*2��
�R�V  ����� ��	
���
�A ��	5� �� (*�A ��O Be.� 25����..  +� 25����e.

 (
�4 �����IV B.� ����� �A
��� C
�: {2, �:��= ���� �* ���� % 2
���
� ��91

 (
�4 +� R�Z�� �^	��1 .*��* *5:
III  ���� �* 2
���
� �. R���* �O �A
��� C
�:

                                                   
١  - Diode 



                                                                            ����� ��	
���
�5 

 

 

 �:��=B�V *5= �A2�5��  ��ce� �* *5e� �3�e�� 25����e. �eA �
�=�	 (*�� ��

 *�v�� (�@� �� �
�����O��*5�.  �Ob �A �+t�����A  �O���	R*�V  j5e	 
* �A �V

N, P .�	5� �� q��Q� 

5�*(*�. * �Z�� g������	R*�V  (*�@�e.� *�5e� ����e� ��	
���
� �* �O B.�

 ���7��*��4 +� �e�+ >�e� TA�Y� *5�* .
* C�eZ�� �e��	R*�V  +�j5e	 R�eV N 
 P 

B.� (�� >��'� *�+, R�V 2
���
� �	5�] >�� �* .N *�+, R�eV (�@� 
 P  qeV �eA

 �� �9� ����	 �� �v��	 �* 
 (�� o�O��*5:
 �A �� �	�
, { �	5�] >�� �* g���A��A

 *�v�� >��	��] �. ����*5�. g��  2
�e��
� BO�� +� R��45�: ���A >��	��] �.

 �V (�@� 
 �V��*5�. 

 
) >��1-3*5�* ( 

 
) >��1-4*5�* �ZH'� ����� ( 

�4�  �A 85��� W��

*5�*  Be�5Q� �e	5�] �e���	 �* �e�����
� 2���� *5� C����

 2�� (�	�� ���A �v��	 �* 
 (��2
���
��V  
(�@��V 
 (�e�*�4 �e	5�] >e�� +�  +�

 R��45�: B���V��*5� 85��� 8���A �� B
�� g�� .���e���	. � �* Be
�(�e��C, 
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� >eeeZ3 R�eeeV

���	R*�V 

B.� �@� 85��� 2���:  B���V *5�* 
�	���O .�z	+�  ���� �*���	R*�V  j5e	P 

 �* 
 2
���
� ��O *�������	R*�V j5	 N *����  *5:
 �A (�@� ��O���e�, ge�� .

>���R�V  B�� B��7���mu�  2�e��: �e� 
 (*�eO �5c� �	5�] ��� +� 85��� W��



 �5c� 2, ���� 
 *5�* +� 85�������O.  Be.� qO ���= 2, ���Q� �O 2���: g�� �A

��@4 85��� ��'	 2���: ��*5� �e:�* i��/e3� �eA 85��� ��'	 2���: ���Q� .

 &���� �	5�] *��+��*5� { *���� ���+>���R�eV  &���e� �e:�* i��/e3� �eA Be��7�

 i��/3�����A��. 

�A��O�5< 2��
�R�V ���	R*�V ] R�e. �e� R���* �e��� 
 �e���:� R�eV������

�����A  �O ��+ �**5�* R��A % �eV������] ge�� 2�e�A (�e�Be.� ���e. R��eA �e�c
� .

 R�V���O���	R*�V .*��* *5:
 ��'�A R*
��� *���� �A ����:� R�V������] g�� /�	 

1-2-1-  �	5�] R��*) ! ( 

 R��* +� �5z�� �	5�]���	R*�V �H'�(���O  +�v� (*
��� R��*>A�7 >e��� 

 �	5�]���	R*�V �����A %*5� *��
 �c�., 2, �A ��	, 2
�A. |t5e���  (*
�e�� ge��

 g�A +�v�40-  ��125+  �:�*��	�.*��4 �����A�O {  ��* g���A�5<  q�Q���>eA�7 

(+��	�4��R .B��	 

1-2-2-  (��=b R��*)2*�O ��c	�( ) "#$  (  

 2*�O��c	� �� (��=b R��* +� �5z��2��
�R�V ���	R*�V �:�* >7��� 
 �~O��� %

 �����������A  g�� �O2��
��V  ���e7 ���� >=�* ��	, 2
�A�e	��)A  �e���� 2
�eA 


 ���vA�: R��A ��V* ��v	� �� �����V2,�V  R���9)	 �� 
����	�5�  >������O % 2
�A

 �A �c�., ��	,2,�V *5� *��
��5�� B
�� �* . % g�A +�v� (*
���40-  �e�150  +

 �:�*��	�.*��4 �����A ��c
� . &��-<� g���A2�5��  �ZH'�2��
�R�V ���	R*�V 

 �5
���O �*2,�V .*��* *5:
 

1-2-3- ) �	�A R��* % ( 

�*� �	�A R2��
�R�V ���	R*�V%  �A d5A�� R�V���O���	R*�V  �e	�A �eO Be�V

2,�V  R/�3�����A. * R����4���g  R/�3 �	�A �YQ	2,�V  �e	�A R��* ��e���e���	. 

�� >]5O5��� +� (*�@�.� �A ��* g>A�7(+��	�4��R �����A  



                                                                            ����� ��	
���
�7 

 

 

1-2-4- ) �	�A 
 �	5�] g�A ������ B�
�Q�&#'!%  ( 

2��V ���:� �O �	54�z	+�  
 ������
��z	+�  B�
�Q� R���* ���<��s�������A �ez	+� 

 �YA�� +� �	�A 
 �	5�] g�A ������ B�
�Q� .����V B�
�Q� R���* /�	 &���� C�Q�	��e�+  �eA

B.* ����, ������] g�� .����g(���O A�: B��A�7� �e	�A �eA �e	5�] +� &���e� ���e: R/e�3

�����A 2��
� �� R��A .���	R*�V  B�
�Q� g�� %�H'�>A�7s���� 	�����A. R)*+, =  T+ −  T,P  

C�~� )2(:  *5e�* �e� �e	�A 
 �	5�] g�A ������ B�
�Q�40 %R�ep�,°1 �2 5/3 

�����A. 
���*��O  �	�A R��*45  �:�*��	�.*��4  2���: 
 ���A20  g�� +� R�p�,

 ��O �5c� *5�*% 85 B��* �V�5= W��

 B3�. B.� S5�Y� �	5�] R��* �c.���: R)*+, =  T+ −  T,P → T+ = P. R)*+, + T, = 20 × 0.85 × 3.5 + 45= 104.5 ℃ 
 

1-2-5- ) ��4���4 
 �	�A g�A ������ B�
�Q�&#'%" ( 

 ��+ �YA����4���4 
 �	�A g�A ������ B�
�Q�  2�'	 �����V*: R)*,6 = T, −  T6P  

 (�� *�v�� &���� ��	, R��A Ue.5� +� 2�e��: �5ec��e��	R*�V U�e�� �eA �e	�5�A %

�.�X��  oc. 
 �A�� C�Q�	� *5'	 �	�A %*5� *��+ �	5�] R��* �O 2��
��e��	R*�V  &��e7

 R/�3 �����	+�. . �� +� >�� �*��=(���O  �5���*�� �� 
 �eO ��4�e��4 ��Xe7�
�*  �e�

 /�3 ����5
,����5� �����A  C�Z�� R/�3 �	�A �A �� 2, 
 (�� (*�@�.�����V*  �e	�5�A ��

 &����>Q���(��  �� �	�A �A�.�X��  U��� �A 
 �e	�A g�eA ������ B�
�Q� .�V* C�Q�	�

��4���4 % R/�3 �	�A +� &���� C�Q�	� B��A�7���	R*�V  ��4���4 �A �������*5� R��eA .

 �� R/e�3 �e	�A �eA ��4�e��4 �Ye. 2�e��� �� �* %�A�� iV�O ������ B�
�Q� g�� ��	,

A �O �5ZH� ���= +� 
 (*5�	 ��Q�� 
 y�� �� �Y. g�� 
 (*�* i��/3� �	�A �Y. g�

 ���7 ��4���4 
��4�*�  (*�@�.� &���� ��'�A C�Q�	� R��A��*5�. 
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1-2-6-  ��4���4 g�A ������ B�
�Q�
 ) U���&#'"7  ( R)*68 =  T6 −  T8P  

 P53 �YA�� g�A ������ B�
�Q���=(���O 
  U��� 2�'	 �����V* .ge�� R��A 

 �5z����2�5�  �Y.��=(���O  �� 2���� �� �� .*5�	 S�H�	� ��/A g��^�V ge��

 �� �Y.�A&�5� ����*��  S�H�	������O  �Y. ����=(���O �A �5V �eA�� i��/e3�. 

���A �+t �O R*��5� �* ��2�5�  �5V R��c:� k*�4 +��eA�:R  2, �e��c< k*�e4

*�O (*�@�.�. �5z�� g��A  �5���*�� R
� �O g3 +�oZ	(��  (*�@�.���*5�. 

 

) C�~�3(:  �����] B
�� 2�5� &�@�� R���* *5�* ��32  Be�
�Q� �e4� .Be.� &�


�A��A ��4���4 �� �	5�] ������℃ �⁄ 81/0  +� �e	5�] &���e� �:�* 
 ���A℃ 130 

 U��� &���� �:�* 
 ���	 +
�v�℃ 42  �e����� Be�
�Q� ���eQ� �~O��e� �e��A

 q���.��=(���O  g���� ����	��� % U���� g�� �*B.� ��Q1 ���] &���� �:�*�  R =  T+ − T,P = 130 − 42

32
= 2.75 ℃ �⁄  

   →   2.75 − 0.81 = 1.94 ℃ �⁄ ������ B�
�Q���=(���O      →     42 + 932 × 1.94: = 104 ℃���] &���� �:�* 

 

) C�~�4(: �e����� Be�
�Q� �A *5�* ��℃ �⁄ 8/1  �e� R
� �eA��=(�e��O 

 ������ B�
�Q� R���*℃ �⁄ 2  U�e�� &���� �:�* �4� .B.� (�� oZ	℃ 40 

 +� �	5�] &���� �:�* 
 ���A℃ 125 ���	 +
�v�%  ���eQ� �e1 2�5e� &�@�� �~O���

�*5A �V�5= 

R=1,8+2=3,8  ℃ �⁄    >O ������ B�
�Q� ; =  T+ −  T,R = 125 − 40

3.8 = 22.4 < 

 



                                                                            ����� ��	
���
�9 

 

 

1-2-7- *5�* 2�5� 

 &��7 R�V*5�* ��	, �A �:5� �A|t5���  q�����. j5	 +����e��A  ge�� 
*��eV*5 

 W��

 B3� R���*�Q��|�c  g���A�e�A ����V ��A�m�eZH'��R  �eO�eA2�5��  2�e�A 2�5e�

��*5�%  2���: ���Q�2,�V �����A  R�����= �ZH'� g�� �A 
 ��=��� 
���	5e� .

 *�5� �* o�Y� g��>]�VR  2�5�� /�	 R*5�*��*5�. 

1-2-8- * 85��� W��

*5� 

*���	 �����V 
 (*5A XY7 *5�* %���A �@�� ���O �A Bc�	 �	, W��

 �4� { �e4� �e��

 �H'� �� +� W��

 g��@����� *5� % �e��A��*5e�  �e	5�]p-n  Be9: �* *5e�*

 (�� ����� h�� 
����	 B���V.  (��5O C�Z�� 
 *5�* g�=5. ���A &�5� g�� �*

 2, 2����*5� { ���� &�ZH'� +� ��� g���A��A �O �e� �eV*5�* +� (*�@�.� ��)�V

>]�VR *5� ��3�4 �z	 �* ���A R*5�*%  85e��� W�e�

 �e�] >e��� B��A�72,�eV 

�����A.  g�� o�Y� 
 (*5A &
�@�� ���H� R�V*5�* �*�A2�5��  ���� �ZH'� ��

 S�H�	� ��)�V2,�V  ;�Y���*5� .�A2�5��C�~� ��q��54 � *5e�* �20  %�ep�,50 

 >��� �O R*5�* ���� q���* +��	 B

�:�2� 20  �p�, (��e�V W�e�

 �eA>A�7>e��� 

 �~O��� 85���50  B

���A. 

) C�~�5(:  W��

 Xc�� �A R*5�*V  B�
�Q� 
R  �eZ7 �e���< .Be.� (�� R�.

B��	 g}�Y� �

 ��O (*�@�.� *5�* R��A BA�m W��

 B3� C�� +� *��* V=  ��0,6V 

 �� ��O S�H�	�0,7V ���Q� �1 �+� �A %V  y-�=�2���:R�V �c.���(�e� 1 �e��*

�����A+� ���	 2���: 
* � V = 2 V  
R = 7 KΩ 2, �* �eO R���� R��AV=  %

0,6 V ��0,7 V  �����A  y-�e=� �Be.� ��Q12���:R�eV  �e��* �e�1 >e���

�����A� 

BA�m W��

 B3� C�� V= = 0.7 V →  i=1 = V − 0.7R  

V= = 0.6 V →  i=2 = V − 0.6R  

 y-�=� ����� R��A�:�2��VR �c.���(�� 1 :B��* q�V�5= ��O ���s� ���* 



10                                                                                2��
� :C
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���	R*�V i=2 = 1.01i=1 V − 0.6 = 1.019V − 0.7: → V = 10 V 

R��AR =1 KΩ   
V = 2 V :B��* q�V�5= /�	 V= = 0.7 V →  i=1 = 2 − 0.7
1

= 1.3 mA V= = 0.6 V →  i=2 = 2 − 0.6
1

= 1.4 mA i=2i=1
= 1.4

1.3 = 1.08 

% &����s� ���* g���A��A8 ��*5�. 

1-2-9- *5�* R��O h	�O�3 

 S�H�	� �* �O ���� q9� ����A R�V������] +� ���2��
�R�eV �e��	R*�V  
�e��:+� 

 ��O h	�O�3 (*
��� %*5� ��3�4 �z	 �* ���A �V*5�*2,�V ���e��A % >�e� �e�	, 2
�eA

 ��	, �A �:5� �A .����	 ���s� �:
�= ��z�	� *�5� r5�+� 	�z  ���� g�A C*���	��e�*�VR

�V *��* *5:
 �	+�= B���= %8�.� �A  �* 2+�= g�� B�3�6 ���Q�h	�O�3�VR  t�Ae��

�	�5�  r5� >�� R
� 2,��mu� *��\4.  �* �\
h	�O�3�VR t�A  +� ���A2��
���eV� *�@�e.� (

 �* ��eO B��A�7 �O *5�h	�O�3�eVR  t�eA 2�e�
� �e� S�eH�	� ��e)�V .�e��A ��e��* ��

���	R*�V �9� ����A R�V������] +� ��� ���A �O ��z	�� *5� ��3�4 ���7 ��eO h	�eO�3 %

 2,�����A�O { �A2�5�� .*5� �-�� (���
�3 �A �ZH'� �� 

1-3-  2*�O R�.*��V*5R &��7 

 �*2��
�R�V ���	R*�V �5���/	��� %*5�* ��	�� &��7� %�B@.
 �5�e���� %  (�e�w

 *��+ 85��� R�VW��

 >��� R��A 
�<�= �A e�� 2*5ec	 8��.* �*g 2��
��eV  �eO

 �� 
 ����A ����* �� W��

 2, >��� B��A�7�<�= �A R*�eZ�7� >J��� % �+t��*5e� 

 ��1 �� 
* �O*��  +� g��2��
��V  Rt�eA 85e��� W�e�

 �e� q���e�	 R�e. qeV �A ��

�z	*�5�  g�A2,�V 
* ��+ >�� .*5� q��Q�  2�'	 �� &��7 *5�*���V*  W�e�

 �eO

85���VA ��'	 2���: �A ��IA  >��������O. 



                                                                            ����� ��	
���
�11 

 

 

 
) >��1-5�V*5�* 2*�O R�. ( 


* �A�> �3 �* �O ��-�'�, &�
*� B=�. ������	R*�V  ���: +� 
*��V*5 *5:
 

 Be.� ge��� �e�+ >�e� TA�Y� /�	 (���� �� �A ��� *5�* 
* R��A %*��* �e����

 �ZH'�7*�|�Q ��A �����	 �� �	�����.� 

 
) >��1-6(�� R�. *5�* 
* �ZH'� ����� ( 

 251*��V*5R  ���� P53 qV �A R�.(���	�  ��'	 2���:2,�V  �eA��A qV�A���e��A {

 R
� W��

 B3� P53 �ZH'� ����� �A �:5� �A g���A��A2,�V  &
�@�������A �e�� ge�� .

 oc.��*5�  W�e�

 >eO �v��	 �* 
 *+5�A B.� ��'�A 2, R
� W��

 B3� �O R*5�* ��

 
 ��3�4 ���7 �)�* *5�* R
� 85����A�g&�5�  �5< �Av	+�(��R *��eV*5 e���	+5e.. 

 2*�O R+�5� �A ��+ >�� TA�Y� >�'� g�� >� R��AB�
�Q��V��  �eA *�e�+ ����A qV� �A

*��V*5 g�A R��c:� W��

 q��Q� �� %2,�V  *�v�����O�q. 
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) >��1-7 2*�O R+�5� (B�
�Q��V (�� R�. R�V*5�* �A 

IA =  IB1 + I=1 =  IB2 +  I=2 IB1 =  V=1R1
 

IB2 =  V=2R2
 

V=1 =  V=2 =  V= =  VA
2

 

IA =  V=R1
+ I=1 =  V=R2

+ I=2 

 *�ev�� �eV*5�* g�eA R
�e�� W��

 q��Q� �� P53 ����� +� (*�@�.� �A g���A��A

��*5�  >�'� �O P53 �� y�<�A����O. 

) C�~�6(:  �A�'� *5�* 
* ��+ >�� �*�A&�5�  >Z�� R�.(���	�  W��

 ��DC 

>O 85���V= = 5 KV *5e�* 
* 85��� ��'	 2���: .���O q��Q� *5= g�A �� IA1 = 30mA 
IA2 = 35mA  .B.�B.� S5�Y�: 
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 2*�O R+�5�B�
�Q��V (�� R�. R�V*5�* �A 

 �ee4� (�ee
�B�
�Q��eeVR %��ee��A ��ee��* �eeA��A W�ee�

 qee�Q� R1 = R2 = R = 100 KΩ W��

 %*��V*5  ��B.* �A .���
, 

 W�ee�

 �ee4� (S*��eeV*5 %��ee��A �eeA��AV=1 = V=2 = EF
2

  Bee�
�Q� ���eeQ�

W��

 q�Q�R2R1 
  ��B.* �A . ���
, 

(�
� IA1 + V=1R = IA2 + V=2R   ;     V=2 = V= − V=1 

V=1 = V=
2

+ R
2

9IA2 + IA1: = 

5HE
2

+ 100HΩ
2

935 × 10�3 − 30 × 10�3:= 2750 V V=2 = V= − V=1 = 5 K − 2750 = 2250 V 
(S IA1 + V=1R1

= IA2 + V=2R2
   

R2 = V=2R1V=1 − R19IA2 − IA1:     ;     R1 = 100KΩ 

R2 = 2.5 KV × 100KΩ
2.5KV − 100KΩ935 × 10�3 − 30 × 10�3: = 125 KΩ 

1-4-  2*�O R+�5�*��V*5 
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��2�5� � 
* ���O ��1 ����	R*�V *5�* ��	��% � %�5���/	����B@.
 �5�e���� %  (�e�w

 g�A ��A 2���: �� q����	 R+�5� qV �A ��2,�V *5� q��Q� { ����<�= �A  �* �eO ��-�e'�

 &�
*� B=�. ���,�3���	R*�V  �eZH'� �e���� /e�	 q�Q�e�� 8�e��A �* %*��* *5e:


���	 �	����	 ��+ >�� .�
*  (�� R+�5� qV �A *5�* 2�'	 �����V*: 

 

 
) >��1-8 ( �ZH'� �����*5�* R�V(�� R+�5� 

�V*5�* 2*5A R+�5� �A �:5� �A%  R
� 2�e��� W�e�

 Be3� 2�� �A��A oc.2,�eV 

��*5� { ��� q�Q��� 8���A �ZH'� ����� 2*5c	 2���� >�
* �A2,�V g�e�^�V %

B=�. ���,�3 &-�'� % +� R�5c� 2���:*��V*5  oce. �e�� ge�� 
 *5A �V�5H	 �A��A

��*5�  2, +� R��'�A 2���: �O R*5�* ����*�\4 >� R��A .*+5�A % ge�� >�e'�

 ��+ >�� TA�Y�B�
�Q��V��  �A �� qO ����A qV� �A*�V*5�  R�.e��e�O�q  �e� �e�

 g�A R
��� 2���: q��Q�2,�V  �eZH'� �e���� TA�Y� &�5� g�� �* %*5� *�v��

 R
� W��

 B3� %��+*��V*5 	 *�v�� �� ���'� g�� �O *5A �V�5H	 �A��A����O. 
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) >��1-9(�� R+�5� R�V*5�* �A B�
�Q� 2*�O R�. ( 

 R�vA >�� �*B�
�Q��VRR2 
 R1  +�B�
�Q��VR  (*�@�.� R+5�3��*5� g�� .

B�
�Q��eeV R
�ee�� 2�ee��: q�ee�Q� ieeQ	 �eeA (
-ee� % R�eeV*5�* Bee6�@� �ee��A

&��7D2 
 D1  /�	���	5�. 

) C�~�7(:  R+�5� qV�A *5�* 
*(���	�  2���: �� >eO300 �ep�,R  ���eA�5< 

 q��Q� qV �A R
������O Xc�� W��

 �4� .5  
 Be

B�
�Q��eVRR1 = 0.029 


R2 = 0.027  �� B���eV B��e�
 �* *5e�* �eV q�Q��� W��

 B3� %����A qV�

.���O g���� 

 
 I1 =  I2 = I)J)

2
= 300

2
= 150 A V=1 = VA − R1I1 = 5 − 0.029 × 150 = 0.65 V V=2 = VA − R2I2 = 5 − 0.027 × 150 = 0.95 V 

1-5-  ��A �A (���V *5�*RC 
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) >��1-10 
 ��*5�	 ( ��A �A R*5�* ����RC 

 >��P53  ��A �A R*5�* ����RC  2�'	 �����V* .��e)�V��eO 2�e�+ �* t = 0 

 ���OS  ��+ �YA�� +� 2+�= (���O W��� 2���: ���Q� *5� ���ABe.* �A ���e�,  �eA

 g��5	KVL :q���* 

KVL:VA =  VB + VK = VB + 1K L i. dt VB = R. i 
�:5� �A �� ��	, �A �@� 2+�= ��

� d�����A P5e3 >�e�	��@�* �e
*��� >� �A %

 ��+ �YA�� +� R�5c� 2���: ���Q�B.* �A ����,: i9t: = VAR  e�) BK⁄  

�A��A 2+�= W��

 ���Q� �:�A B. VK9t: = 1C Q i. dt)
0

= VA91 − e�) BK⁄ : 

s� ���Q��� �� 2��+ �A Bc�	 2+�= W��

 &����2�5�  �AT�'�4��R  P53 �YA�� +�

�A&�5�  ��+B.* �A :*�
, 
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RESR) =  ETBK  e�) BK⁄  

s� �4��� 2+�= W��

 &�� �� ���Q� P53 �YA�� �* %q���A ��.�5= C
� �z�
 �*t  ��

:q���* &�5� g�� �* (*�* ���7 �@� �A��A dV,dt 9t = 0: = V6RC 

) C�~�8(:  >�� R*5�* ���� �*(*�*(�� R = 44  
 qV�C = 0,1  
 *���3 
����

 2+�= ��

� W��

220  B

�����A ���O �4� .S  �z�
 �*t = 0  S5�Y� %*5� ���A

:�c.��� B.� 

 
 ����R*5�* 

*5�* ��] 2���: (�
� 

 RW�	� (S=b�(�(�� 2+�= �* 

 �z�
 �* 2+�= W��

 (0t = 2 ��	�m
���� IU = 220

44
= 5 A 

W = 
1

2
 CV2= 0,5×0,1× 10�6 × 9220:2 = 0,00242 J 

RC = 0,1× 10�6 ×44 = 4,4 μs VK9t = 2μs: = 220e�2×10X6 4.4×10X6⁄ = 139,64 V 

1-6-  ���� �A (���V *5�*RL 
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) >��1-11 
 ��*5�	 ( ��A �A R*5�* ����RL 

 P53 >�� ��A �A R*5�* ����RL  2�'	 �����V* ���O �O �	��+ .S �ez�
 �*t 

= 0  i��/3� �@� ��

� ���Q� +� ��. 2���: %*5� ���A����A�  2���: g�� ���Q� �O

 ��+ �YA�� +�B.* �A ����,: 

KVL:VA =  VY + VB = L R[R) + Ri 

��B.� �@� ��. ��

� d % �z�
 �* ����t = 0  ���e� +� R�5ec� 2���: ���Q�

 �@� �A��A�����A { P53 >��	��@�* �
*��� >� �A ���� 2���: ���Q� g���A��A�A&�5� 

 ��+B.* �A ����,: i9t:  = VAR  91 − e�)B Y⁄ : 

VY  = L didt = VAe�)B Y⁄  
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���
�19 

 

 

 R��AB.* �A � 2�/�� 2*�
,2�e��: �eYA�� +� ��e. 2���: &����s  T�e'�e��

4���q :q���* &�5� g�� �* �O didt =  VAL e�)B Y⁄   didt 9t = 0: = VAL  

 R��At  ���=��/A��  +�
\Y  % �@� �A ��. W��

 *��+ ���= 2��+ �* �������.� 

 2���: 
�A�g&�5�  �c.�����*5�  IA = VAL  

1-7- (*�4+�V) *�+, i=�1 *5�* 

 
) >��1-12 ( ��A �A R*5�* ����RL *�+, i=�1 *5�* �A (���V 

 ���� �* �4� >��t�A ���Os1 �z�
 �*t1  Xc�� T��< +� ���� 2���: %*5� ���A

 
 *5�* %W��

��A  ���7�A��*5� ���O �	��+ B�\4 +� ��A �4� 
s1  *5� +�A�<�e= �eA 

 RW�	�=b�(�(�� : &����s� >A�Q� �* ��. �O j5�5� g�� 
 ��. �* B@
�H� 2���

����O R��A R���� ���A % 2���: �5c� ���� �* ��O g�� .���A ����* *5:
 �@�. ��A

 *5�* 2*�O R+�5� �A P53 >��D]  &�5� ��A �A��4�*�  �eO�� 2,  i=�e1 *5e�*

 *�4+�V *5�* �� *�+,������	. 

 



20                                                                                2��
� :C
� >eeeZ3 R�eeeV

���	R*�V 

 
) >��1-13*�+, i=�1 *5�* *����� ( 

 ����� �*1 ���Os1 �* %(�� ���A *5e�* &�5e� g��D] �A&�5e�  
 +�eA ���e�

*5�*D1 �A&�5�  (*5�	 >�� (��5O C�Z�� ��eA �@�e. B�e��= �eA �:5� �A g���A��A

���Q� 2��+ B�\4 �A 
 ��3�� i��/3� �@� ��

� ���Q� +� 2���:
E�B    *5e= �eA ��e��

4�*� ��+ �YA�� +� 2���: �
*��� .B.* �A ����,: i19t:  = VAR  91 − e�)B Y⁄ : 

 �4�2��+t1  ���� *5= qJ�* B
�� ���Q� �A 2���: %���A ��/A �3�O (+��	� �A
E�B 

���.�.  �����2  +�A �A 2�����Os1  j
����*5� *�4+�V *5�* +� ��A 2���: 
D] 

 �5c�����O. � 2���: ���Q ��+ �YA�� +� 2,B.* �A ����,: i19t: =  I1e�)B Y⁄   
 2���: g���A�5<  �@e� �A 2���: ���Q� *5� *��+ 2��+ �4� 
 ��3�� iV�O ����	

�� >����O. 2�e�+ �* �O ��7
t =t1   �e��Os1  +�eA��*5e� �eA��A 2�e��: ���eQ� %

��*5� :�A I1 = i19t =  t1: = VAR 9 1 − e�)1B Y⁄ : 

) C�~�9(:  ���� �* ��+)*�+, i=�1 *5�* �A �@�. ��A(  �@� ��A ��V� B���= �4�

Xc�� W��

 %���A  �A��A220  ��A h	��O
�	� 
 B

220 ���A R�	�V
���� .��5e��*�

�O  &�� R��A ���O100  >�e� .*5� +�A hp. 
 ���A ��	�m 
����r5��eV  qe.� ��
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 (*5�	
  ��. �* (�� (��=b RW�	��� �e����	 �c.��� )*��eV*5 (�e��C,  ��e3e��

�	5�(. 

 
 2��+ �* ���O ��7
t = 0  ���A��*5� Tc< 2���:  �e�+ �
*����eA�5<  �eY=

 i��/3�����A� :�A B.� �A��A 2���: g�� ���Q� �O i9t:  = VAL × t I0 =  E�Y  × t = 
220

220×10X6 × 100 × 10�6 = 100 A 

��)�V��O  2��+ �* ���Ot1  +�A��*5�*5�* T��< +� ��A 2���: %D]  ���7�A��*5e� 

 2�e��: ge�� ���Q� B.� �@� �A��A ��A ��V� B���= ��	, �A �:5� �A 
100  BeA�m �ep�,

 �7�A���	��  RW�	� g���A��A=b�(�(��  ��+ �YA�� +� ��. �** �A B.����,: 

W =
1

2
 Li2 = 1 2  × 220 × 10�6 × 1002 = 1,1 j 

 
) C�~�10(: ) /�1�	 B�
�Q� ��+ >�� �*R = 0�A��A W��

 Xc�� %(VA=220  B



)BA�m 2��+ ��A h	��O
�	� 
 (L = 220 .B.� (�� ��3 R�	�V 
���� 
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&�� R��A ���O �4� (�
� t1 = 100  >�e� %*5e� +�A hp. 
 ���A ��	�m
����

.�����	 q.� �� 2���: r5� 

.�����	 g���� �� �@�. ��A �* (�� (��=b RW�	� (S 

 
(�
�  �* ���O ��7
t = 0  �e�+ �e
*��� �A ��A 2���: %*5� ���A�A&�5e�  �eY=

 i��/3�����A�: i9t: = VAL t 
 
 �*t =t1 :q���* I^ = VAL t1 = 220 × 100 × 10�6

220 × 10�6 = 100 A 
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���O ��7
 ( SS1  �*t =t1 *5�* +� ��A 2���: �5c� %*5� +�AD`  +�w,��**�4 .

�v	,+����O  ��� �Z��(���O�R  ���Q� �* ��A 2���: .*���	 *5:
 ���� �*100  �ep�,

 �7�A���	��  RW�	� 
=b�(�(�� :�A B.� �A��A ��. �* W = 0.5LI^2 = 0.5 × 220 × 10�6 × 1002 = 1.1 j 
1-8- *5�* 85��� R+�.+�A 2��+ 

 
) >��1-14 ( ��*5�	*5�* 85��� R+�.+�A 2��+ 

tcc =  t8 + td 

��ee)�V��eeO  hpee. 
 �ee��A q�Q�ee�� B���eeV Bee
�� �* *5ee�* �ee��<�ee= �eeA 

 �@e� �eA 2, q�Q�e�� 2�e��: %85e��� W�e�

 C�e��� �� ���� ���c< ���3�A�e.�% 

 25ee1>���R�eeV  (�ee�=b �ee	5�] >ee�� �* Bee��7�(�ee��	�  B���eeV �eeA 2�ee�^�V

 �e��*� 2*�Oe���eV* .>����eVR  R�eV��A �eA *�ev� 2�e� oe�O�� R��eA Be��7�
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 �e~�= 
 ���H� 2�e�2,�eV  �eA&�e�2��+ ��* +�e�	 Be7
 �e����e	 2�e�+ �eO �

*��* ��ee	 *5ee�* 85ee��� R+�ee.+�A*5ee�* 85ee��� R+�ee.+�A 2�ee�+ .  P5ee3 >�ee� �*

�Atcc Be.� (�e� (*�* 2�'	.  g�e�^�V85e��� 2�e��: �e�] �eAIBB  (*�* 2�e'	

Bee.� (�ee�.tcc  R���*�ee@
n�t8
 td ���ee��A%t8  �eeQY�� �* ��eeA (�ee�=b +� �ee��	

5�] ���H��e��� 85e��� �e�] 2�e��: �e� �@e� +� �5ec� g�A 2��+ 
 (*5A �	IBB 

���ee��A.td  �* ��eeA (�ee�=b +� �ee��	�ee��	R*�V ���ee��ABcee�	 .td �eeAt8  ��

 
 (����	 ���	 o����� 2,  �ASF  2�'	����V*. SF =  tdt8 

 85��� 2���: ��] ���Q� �A Bce�	 2�e�+ �eA 2�e��: &��e��s� B��e. �eYA��

*��* q�Q���: IBB =  t8 didt 
 ��A ���Q�=b�(�(��  ��+ �YA�� +� 85��� R+�.+�A 2��+ �*B.* �A ����,: QBB = 1

2
IBBtcc 

 ��A ���Q� +� (*�@�.� �A g��^�V=b�(�(�� ��2�5�  �� �A �� 85��� ��] 2���:

�O �c��Q� tcc = t8 �����A% :*�O �c.��� ��+ �YA�� +� 

IBB = g2QBB didt 
 tcc = h2QBBdidt   

) C�~�11(: *5�* �� 85��� R+�.+�A 2��+ %���� tcc = 3 ��	�m
����  ���Q� 


2��+ �A Bc�	 2���: &����s�
ijA  30 �����A .B.� S5�Y�: 

 ��A (�
�=b�(�(�� )QBB(. 

 85��� ��] 2���: (S)IBB(. 
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 tcc = h2QBBdidt  → QBB = 1

2

didt  tcc2

= 0.5 × 30 × 106 × 32 × 10�12 = 135 μs 

IBB = g2QBB didt = k2 × 135 × 10�6 × 30 × 106 = 90A  
1-9- ,85��� 
 q�Q��� R+�.+�A 2��+ ��m 

 

 
) >��1-15 ��A �A R*5�* ���� (RL 2���: R�V��*5�	 
 *�+, i=�1 *5�* �A (���V 

 �4��O�� Sw1  2��+ �*t = 0 &��2��+ ���A ���A R*��+%  ��J�* B
�� 2���:

����I0 =  E�B �� �V�5=.  �5c� ��A +� 2���: g������O.  B
�� g�� �* *�4+�V *5�*

 ���7 85��� 8���A �*��4�*�  XY7 
�����A���O �^	��1 .Sw1   2��+ �*t = t1 

 *5�* % *5� +�AD]  ���7�A *5�* g�� T��< +� ��A 2���: 
 (*�O B���V��*5� C�� .



26                                                                                2��
� :C
� >eeeZ3 R�eeeV

���	R*�V 

2��+ �* �4�t =t2   ���OSw1 |�*�v� *5e� ���A. �eA�5<  *5e�* �	�e94�	D  >e�


��*5�  *5�* 
D]  XY7��**�4 *5e�* 2���: ��] B
�� g�� �* .D] e���e	�5� 

���A *��+ ����A.  R�eV*5�* *��* C����� �\
D  
D]  >�e'� ge�� .�e���cA ���e�

|t5���  (���O *
��� ��. �� C�Z�� �A
R[R)  y�<�A��*5� �� ��. ���Q� .��2�5e� 

 �YA�� +�
R[R) =  E�Y B.* �A  +� R��45e�: R��eA g��^�V .*�
,�A�e��VR  �	�e94�	

 *5�* �. 
* W��

D]  Be�
�Q� �� 
 (*5�	 R+�5� *5�* �A �� 2+�= �� %Rs  �eA ��

 R�. 2+�=���O�q  ��\4 &�	�.5	 �	54�V ��)�z�
�R(  �e�O >�� �\
 .��O ���� ��

 �����A&�5�  ��+��*5�: 

 
) >��1-15 �A *�+, i=�1 *5�* 2�� R+�5� ( 
 2+�= ��B�
�Q� R�. 


�Q� (+��	�5��O ��1 �� �* &�	�.5	 2�/�� C����� �A �:5� �A B�  S�eH�	� qeV�

��*5� ��+ �YA�� +� 2+�= B�3�6 (+��	� g��^�V .B.* �A ����,: WB =  1
2

CAVK2  →  CA = 2WBVK2  

WB =  1
2

LA[ m I0 + tccVALA  n2 − I0 ] 
1-10- �5���/	���1 

 +� �5���/	��� ��3 ���	R*�V .B.� (�� >��'� PNP eO �5�e��/	��� 2, �eA �

 Bc~� 
NPN  ��@4 �@�� �5���/	��� 2, �A �O��*5�. 

                                                   
١  - Transistor 
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) >��1-16 �5���/	��� (PNP  
NPN 

 
) >��1-17 (�����  �5���/	��� l��'� ����� �ZH'�NPN 

 �* �5���/	��� +� (*�@�.� R��A ��:B.� �+t 8���A j5	 
* ���� 

1  8���A (DC 

2  8���A (AC 

1-10-1-  8���ADC 

W��

 ���A B
�� g�� �* h�A-����� )BE( 2���: %B W�e�

 %CE  2�e��: 
C  ���eQ�

 .��e��A ����* �� *5= o.����eA&��c�*��)  
 R*
�
 g�eA �5�e��/	��� �<�ec��� C�e	�O

 �* .���A r5� >�� C�Q�	� (*��, 2, �:
�= g�� >�� %R*
�
 r5� >�� C���� �A B
��

 B3���* �� �:
�= r5����O�q �5���/	��� ��A U= .�A&�5�  ��+�����A: 
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) >��1-18�5���/	��� ��O ���5	 ( 

 &�5e� g�� �* %*��4 ���7 C��3 ����	 �* �O ���A R5�	 �A �5���/	��� ��\s� �4�

 �5���/	����A2�5��  ��5Q��B(���O  >������O��	, �A �:5� �A .  �e� �5�e��/	���

 ���] �. 2��
������A  R*
�
 
* 
 �:
�= 
* R���* ���� 
%B.�  +� �e�� g���A�e�A

�]���V h�eA �e��] �e4� &�5e� ge�� �* .�e��A l��e'� �:
�= 
 R*
�
 g�A ���A %

 &�5� W��

 B�5Q� %���A l��'���4�*��5���O ���] �4� . % Be�5Q� �e��A l��'�

 &�5� 2���:��4�*� ����� ���] �4� 
 % ���eQ� 
* �V ���A l��'� W�e�

 
 2�e��:

 B�5Q���*5�. 

 B.� j�c�� 
 XY7 ���5	 %�5���/	��� ��O �)�* ����	 
*�O  2���: XY7 ����	 �*

 �A h�A(+��	��R  �O B.� qO�	��	�5�  Be
�� ge�� �* 
 (�e� ���7�A �5���O 2���:

 >�� +�A ���O �� ��	�� �5���/	�������O  �A h�A 2���: �O ���5� �* 
(+��	��R 

�+ �5e���O W��

 %���A ���* �� *5= q��/O�� ���Q� �5���O 2���: �O *5� *�–  �e����

 >�� ���A ���O �� ��	�� �5���/	��� &�5� g�� �* 
 (�� /�1�	 ����A���e�O �* .

 g��iHA  �5���/	��� +��A2�5�� �J5. (*�@�.� [��*5� { ���� �5���/	������5	 �* 

 *��* ���7 j�c�� 
 XY7 ���* �� l��'� ����� i���, 
�����A. 
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1-10-2- 2��+�VR �5���/	��� _��^�J5. 

 
) >��1-19 (�5���/	��� l��'� ����� i���, 

 
) >��1-20 (2��+�VR �5���/	��� _��^�J5. 

��)�V��O ���Q� h�A W��

V1  *5= �A ����4�*� ���e7�A ��e��3-A h�A 2���: %

��*5�%  �5���O 2���: ���&��	��+�  C5<���'O  ge�� .�e�O i��/e3� �A j
�� ��

�A �� 2��+tR  2�'	 2��+ 
 (*�*=u���  (����	��*5�. �A&��c�*��) &�e�	��+�  �eO

 C5<���'O  ��2+�=�VR  ���7 B���V 8���A �* �5���/	��� �	5�] ��=�*A��)	�.  ��A
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 i��/3� g�� �O (*5�	 i��/3� �A j
�� �5���O 2���: 2��+ g�� +��Q��|�c  �Y= B
��

�A 
 *��*tc  (�� (*�* 2�'	 B.� *5�� 2��+ �O������	.  �)��A 2���: i��/3� g��

 *��+ �	��+ BA�m 2, �A 
 *��* �5���/	��� ��=�* 2+�= �A��*5� *5�� 2��+ X7�
 �* .

 2���: �O B.� �	��+ &�� +� �5���O10  �eA ���9	 ���Q� ���*90  ���eQ� �e��*

.�.�A *5= ���9	 tp  (����	 h
�] 2��+��*5� {�)�* &��c� �A  B.� �5���/	��� 2*5A g�
� 2��+

 2, +� j�c�� 2���: 
��*�\4 .��)�V��O ���eQ� +� h�A W��

V1 �eAV2- e���e.� %

&�� �A �5���O 2���:t6  (����	 (��=b 2��+ �O���*5  �� *5e= �e�c7 ���Q� 2��V

 .*��* C5< �O B.� �	��+ &�� 2��+ g�����'O  ��e��*�A �e	5�] �3��� R�V��A ��

 �	��+ BA�m �A �5���O 2���: hp. .*5�2+�=�VR  �eO (*5�	 iV�O �A j
�� �	5�]

 ��@4 C
/	 2��+ 2, �A��*5� �A 
tq  (*�* 2�'	��*5�2��+ g�� . % B.� �	��+ &��

 C5< �O���'O  +� �5���O 2���: ��90  +� �e��O �eA *5e= ���e9	 ���Q� ���*10 

.�.�A ���9	 ���Q� ���*tJ  ��5��= 2��+�����A  +� �e��O �5e���O 2���: �O10 

 �@� �A 
 (�� ���9	 ���*���.�. 

  2��+ j5�v�=u���  2�� g�
� 2��+ �� *5�� 2��+ 
������	 
  2�e�+ j5�v�

� C
/	 2��+ 
 (��=b ��5��= 2��+ �������	. tJp =  tR + tc tJqq =  t6 + tq 
 ��O >��.  : K = 

)rs)rst)ruu 
1-10-3-  �* 2�5� &�@��2��+�VR �5���/	��� _��^�J5. ���H� 
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) >��1-21�5���/	��� l��'� ����� i���, ( 

>�� �A �:5� �A % 
 �5���O 2���:2��+�VR :q���* 2, ���H� 

KT =tR + tc + tp 

(1 – K)T = t6 + tq + tJ 

 2��+ �*tR  ����tR ≤ t ≤ 0 q���*: i,9t: =  IKw0    ;    VKw9t: = VKK 

 2�5��z�
�R :PK9t: =  i,9t:. VKw9t: = IKw0. VKK 

�* 2�5� &�@�� U.5�� ���Q� 2��+ g�� �A B.� �A��A: 

PR = 1T Q PK9t:. dt)R
0

= 1T Q IKw0. VKK. dt)R
0

= IKw0. VKK. tR. f 
2��+ �*tc ����tc ≤ t ≤ 0 q���*: 

2���: 2��+ g�� �*i,9t: �A&�5�  *��+ �Y=��*5�  R��eA U= �
*��� ���A �\


2, *5� �c.��� �A .q'1�5]�  �YQ	 
* �* �O ��A�� %85��� j�c�� 2���: +�)i,  


t(  �������*5� �A&�5�  ��+�����A: yt =  0 →  i,9t: = IKw0 ≈ 0 t =  tc  →  i,9t: =  IK9sat: →  A ( 0 , 0 ) , B ( tc , IK9sat: ) i,9t: − 0t − 0
=  IK9sat: − 0 tc − 0

 →  i,9t: = IK9sat: tc  . t  
VKw9t: = VKK − RKi,9t: = VKK − RK IK9sat: tc . t 
i,9sat: = VKK − VKw9sat:RK  

VKw9t: = VKK − [ VKK − VKw9sat: ] . t tc 

 2�5� ���Q� g���A��A�z�
�R :�A B.� �A��A PK9t: =  i,9t:. VKw9t: = IK9sat:. t tc [ VKK − VKw9sat: ]. t tc  
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 �AB.* �A  2���: ���Q� 2*�
,�z�
�R  W��

 
�ez�
�R  2�5e� ���eQ��ez�
�R 

 2��+ R��A	tc  P53 >�� �AB.* �A ���e�, ���eQ� P5e3 �eYA�� �* .t  %*��* *5e:


 R�+� �A g���A��A2��+�VR ���H�tc v t v 0  2�5� ���Q��z�
�R  �eV�5= &
�@��

 R��A .��B.* �A 2��+ g�� �* 2�5� &�@�� ��] ���Q� 2*�
,% �eYA�� +� �e��APK9t: 


 *5� ��3�4 T�'� 2��+ �A Bc�	 2, T�'�  q�V* ���7 �@� �A��A ��
  �
*��� +� �eA

B.* 2, R�+� �eA �eO Be.� �	�e�+ %2�e�+ ge�� .q��O �c.��� �� 2��+ (��,PK9t: 

 q��/O����*5��YA�� �* �� 2��+ g�� �\
 .PK9t:  �* %2�5e� &�e@�� ��] 
 (*�* ���7

 �� *5�� 2��+�c.��� ���O�q: dPK9t:dt � 0	 → 	 t`8| �? dPK9t:dt � 	 IK9sat: . VKK	tc . 2IK9sat:9VKK . VKw9sat::	tc2 . t`8|� 0 t`8| �	 VKK. 	tc
29VKK . VKw9sat:: 

 R��\4�: �At`8| �AB.*(��,  �YA�� �*PK9t:  ��+ �YA�� +� 2�5� ��] ���Q� �A

B.* ����,: 

PU �	 IK9sat:. VKK2

49VKK . VKw9sat:: 
 2��+ �* 2�5� &�@�� U.5�� ���Q�	tc:�A B.� �A��A 

Pc � 1TQ PK9t:dt	)~
0

� f6. IK9sat:. 	tcl	VKK2
4	VKw9sat: . VKK

3
	o 

 2��+ �*tp ���� tp v t v 0  �c.��� ��+ &�5� �A 2�5� ���Q���*5�: i,9t: � 	 IK9sat:   ;VKw9t: � VKw9sat:	 

 2�5��z�
�R :PK9t: � i,9t:. VKw9t: � IK9sat:. VKw9sat:	    
 U.5�� 2�5�  : Pp9t: � 1�L PK9t:dt	)s

0
�	1�L IK9sat:. VKw9sat:	dt	)s

0
 � f6. IK9sat:. VKw9sat:	.		tp 
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 (��=b 2��+ �*t6 ���� t6 ≤ t ≤ 0   2�e�+ ��*�Q� �A 2���: 
 W��

 ��*�Q�tp 

�A��A �B. �A  : i,9t: =  IK9sat:   ;     VKw9t: = VKw9sat:  

 2�5��z�
�R   : PK9t: = i,9t:. VKw9t: = IK9sat:. VKw9sat:     
 2�5� &�@�� g���A��A�z�
�R  R��A2��+�VR t6  
tp  2���������A  . 

 U.5�� 2�5�  : P69t: = 1� L PK9t:dt )T
0

= 1� L IK9sat:. VKw9sat: dt )T
0

 = f6. IK9sat:. VKw9sat: .  t6 

 2��+ �*C
/	 tq  ����tq ≤ t ≤ 0  q���*: 

 &�� g�� �* 2��+ ���Q� +� �5���O 2���:q��/O��  �5���O 2���: 2��V �O *5=

 j�c�� B.��A�5<  �Y= �A j
�� iV�O����O  % 2�e�+ ��	�� /�	 ����� g�� �* �\


 *5���
*����R  2, R��AB.* �A ���
,�q  �
*��� g��5	 R��A . % 2�e��: +�IKw0  )

 ( ��'	 2���:y���z	  ) �YQ	 
* 
 (*5�	i  
t  �� (�A&�5�  ��+��5	���q : y t =  0 →  i,9t: = IK9sat: t =  tq  →  i,9t: =  IKw0 ≈ 0
 i,9t: − 0t − tq =  IK9sat: − 0

0 −  tq  →  i,9t: = 9 1 − t tq : . IK9sat: 

VKw9t: = VKK − RKi,9t: = VKK − RK9 1 − t tq : . IK9sat: 

I,9sat: = VKK − VKw9sat:RK  

VKw9t: = VKw9sat: + VKK − VKw9sat:tq  

 2�5��z�
�R   :  PK9t: =  i,9t:. VKw9t: = m 1 − t tq n . IK9sat:. VKw9sat: + VKK − VKw9sat:tq . t 
��5��*��O  W��

 +�VKw9sat:  >A�Q� �*VKK y���z	  UeA�
� % *5�(*�e.�� 

q���* 
 (��: VKw9t: = E��)u .t 
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���	R*�V PK9t: = VKKtq . t. 9 1 − t tq :. IK9sat:  
 2�5� P53 �YA���z�
�R  i���	 �� C
/	 2��+���V*  �e�s�� �YA�� g�� �* �Ot 

 % *��* *5:
tq ≤ t ≤ 0 ���	�5�  �e��s� g�� �A 
 ��O ���s� 2�5e� ���eQ��ez�
�R 

 ���s�����O  R��A .B.* �A  C
/	 2��+ �* 2�5� &�@�� ��] ���Q� 2*�
, % �YA�� +�

 2�5��z�
�R  T�'� 
 ��3�4 T�'� 2��+ �A Bc�	�� 2, A ���7 �@� �A��e��eV*�q  . 

 2�5� 2, R�+� �A �O �	��+ 2,q��/O��  �� B.� (��B.* �A  (*�
,
  2�5e� �YA�� �*

�z�
�R  ���7��V*�q  C
/	 2��+ 2�5� &�@�� ��] ���Q� ��B.* �A : ��, dPK9t:dt = VKKtq . IK9sat: − 2t. VKKtq2 IK9sat: = 0   →    t`8| = tq
2

 

 ���Q� R��\4�: �At`8|  2�5� �YA�� �*�z�
�R  2�e�+ 2�5e� &�e@�� ��] ���Q�

 C
/	B.* �A  ����, : PU =  VKK − IK9sat:
4

 

 2��+ �A �:5� �At`8|  2�5� &�@�� ��]�AB.*(��,  *5�� 2��+ R��Atc  2��+ 


 C
/	tq  �*���A��q  ���Q� �O2,�V . �����	 �A��A qV�A 

 U.5�� 2�5�  : Pq9t: = 1� L PK9t:dt )u
0

=  �TE��)u��968):
6

 

�=b 2��+ �* (�tJ  ����tJ ≤ t ≤ 0  q���*: i,9t: =  IKw0    ;    VKw9t: = VKK 

 2�5��z�
�R  : PK9t: =  i,9t:. VKw9t: = IKw0. VKK 

 ���Q� &�@��: �A B.� �A��A 2�� g�
� 2��+ 2�5� PJp = PR + Pc 
���Q� &�@�� : �A B.� �A��A 2�� k5��= 2��+ 2�5� PJqq = P6 + Pq 

 �5���O 2���: +� ���	 2�5� &�@�� >O j5�v�: �A B.� �A��A P� = PJp + Pp + PJqq + PJ 

C�~�)12(:  >��r5�R�V  . Be.� (�e� qe.� �e�+ >�e� �* R�5���/	��� ���O

 �5���/	��� R�V������]&��c��	�  : +�tc = 1μs  %tR = 0.5μs  %IKA = 100 A  
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 %VKw968): = 2 V  %I� = 8 A  %V�w968): = 3 V  %VKK = 250 V  %t6 =
5μs  %tq = 3μs  %f6 = 10kHz  ��O >��. 
50  ��e'	 2�e��: . Be.� ���*

 �5���O–  �����IKw0 = 3 mA �����A  �* �� �5���O 2���: +� ���	 &��7 y-�� .

: 

 �* (�
�&��2��+  2�� >�
tJp = tR + tc % 

 (S&�� �*2��+  B���V *5��]tp % 

 �* (0&��2��+  2�� XY7tJqq = t6 + tq % 

 ��5��= 2��+ �* (&t0  ���O g����% 

 U.5�� &��7 ��O &�@�� (�P�  ��B.* �A  ���
,% 

 2�5� (r�z�
�R  �5���O 2���: +� ���	PK  �� �e��O �*2��+�eVR  _��^�J5e.

�����	 �c.���. 

 

 
T = 

1qT = 100 μS  ,   K = 0.5 , KT = tR + tc + tp = 50μS   
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���	R*�V tp � 50. 0.5. 1 � 48.5μS 
( 1- K)T =	t6 4 tq 4 t0 � 50μS	, t0 � 50. 5. 3 � 42μS  

(�
� 

 &�� �*=u��� 0 v t v tR : q���* i,9t: � IKw0 VKw9t: � VKK PK9t: � i,9t:VKw9t: � IKw0VKK � 3 � 10�3 � 250 � 0.75W 

P� � 1TQ PK9t:dt)�
0

� IKw0VKKtRf6� 3 � 10�3 � 250� 0.5 � 10�6 � 10� 103� 3.75	mW 

 *5�� 2��+ �< �*0 v t v tc : 

i,9t: � IKAtc t VKw9t: � VKK 4 9VKw9sat: . VKK: ttc PK9t: � i,9t:VKw9t: � IKAtc t �VKK 4 9VKw9sat: . VKK: ttc� 
 &��7PK9t:  �*t =	t`  : q���* �\
 
 *5A �V�5= �~O��� 

	t` � tcVKK
2lVKK . VKw9sat:o � 1 � 10�6 � 250

29250. 2: � 0.504	μs 
	p� � IKAVKK2

4lVKK . VKw9sat:o � 2502 � 100

49250. 2: � 6300.4	w 

Pc � 1TQ PK9t:dt)~
0

� tcf6IKA �VKK2
4 VKw9sat: . VKK

3
�

� 10 � 103 � 100� 1 � 10�6 �250

2
4 2. 250

3
�� 42.33	w 

: �A *5A �V�5= �A��A % >�
 &�� �* &��7 ��O &�@�� PJp � PR 4 Pc � 0.003754 42.33 � 42.333	w 

 B���V *5��] �* (S0 v t v tp : q���* 



                                                                            ����� ��	
���
�37 

 

 

i,9t: � IKA VKw9t: � VKw9sat: PK9t: � i,9t:VKw9t: � IKAVKw9sat: � 2 � 100 � 200	w 

Pp � 1TQ PK9t:dt)s
0

� tpf6IKAVKw9sat:� 2 � 100 � 48.5� 10�6 � 10� 103 � 97	w 

 *5��] �* (0=b�(�+�.R 0 v t v t6 : q���* i,9t: � IKA VKw9t: � VKw9sat: PK9t: � i,9t:VKw9t: � IKAVKw9sat: � 2 � 100 � 200	w 

P6 � 1TQ PK9t:dt)T
0

� t6f6IKAVKw9sat:� 2 � 100 � 5 � 10�6 � 10 � 103 � 10	w 

 

 C
/	 2��+ �*0 v t v tq : q���* 

i,9t: � IKA91. ttq: VKw9t: � E��)u t  ,  IKw0                                �Aq'1�5]�      +�  

PK9t: � i,9t:VKw9t: � IKAVKK �m1. ttqn ttq� 
 �* &��7 &�@�� g��&��2��+  �* % C
/	t =	)u

2
� 1.5μs  : (*5A �~O��� 

P� � VKKIKA
4

� 250� 100

4
� 6250	w 

Pq � 1TQ PK9t:dt)u
0

� tqf6VKKIKA
6

� 250� 100� 3 � 10�6 � 10� 103

6
� 125	w 

: �A B.� �A��A XY7 &�� �* &��7 &�@�� 

PJqq � P6 4 Pq � f6VKKIKA mt6 4 tq6n � 104 125 � 135w 

 ��5��= &�� �* (&0 v t v tJ : q���* 
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���	R*�V i,9t: = IKw0 VKw9t: = VKK PK9t: = i,9t:VKw9t: = IKw0VKK = 3 × 10�3 × 250 = 0.75W PK = 1T Q PK9t:dt)r
0

= IKw0VKKtJf6= 3 × 10�3 × 250 × 42 × 10�6 × 10 × 103= 0.315W 

: �A *5A �V�5= �A��A �5���O 2���: +� ���	 % �5���/	��� �* 2�5� y-�� >O (� P� = PJp + Pp + PJqq + PJ = 42.33 + 97 + 135 + 0.315= 274.65 W 

1-11-  h�A ����� C���O 

 �� �5���/	��� _��^�J5. B��.��2�5� V�O �A 2�� g�
� 2��+ itJp 
  2��+

 2�� k5��=tJqq  % *�* i��/3�.  2��+ &�� �* 2�� >�
 2��+ iV�O R��AtJp 

���A �� h�A 2���: 

 *�* i��/3� 2���� �� �� 
 2�� g�
� +� h] % qeO j�ce�� �e� �� �� 2���: g��

. *5�	 

 ��5��= 2��+ iV�O R��A %*�* i��/3� ���A �� h�A R
� �@�� 2���: ��]  �e�

5e� (��e'O h�A +� �3��� R�V��A	 �5e���O 2�e��: 
 ��e.�X��  . �e.�A �@e� �eA

 (��=b 2��+ g��^�Vt6  ����2�5�  j�c�� �YQ	 �* �5���/	��� ��O �YQ	 2*�* ���7 �A

 C��3 ����	 
 j�c�� ����	 g�A +�� 2��V �O ��	�����A  BH. j�c�� ����	 R�: �A

. *5�	 qO % 
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) >��1-22*5�	 (h�A 2���: �A Bc�	 ����� �5���O W��

 �� 

 R5�	 �A ���A �5z�� g�� R��AVKw  �e��O ��e	 j�ce�� �e���	 +� �O *5�	 ��9� ��

 �* 2�5� &�@�� iV�O R��A g���A��A . *5'	2��+�VR  _��^�J5. ���H���2�5e�  +�

 g��������V : *5�	 (*�@�.� 1->�
 C���O  %2-XY7 C���O  
3- �� C���Oj�c�� 

. 1-11-1- >�
 C���O 

 i��/e3� C
� �ez�
 �* �� h�A 2���: q�	�5�A ����� R��A�e� q�eV*  *5e� oce.

 �5���O 2���:�.�X��  �.�A *5= j�c�� ���Q� �A
  �H'� �� �* 2���: g�� hp.

 �	��A �7�A % B.� �+t j�c�� R��A �O *5= ���A %: q��O (*�@�.� ��+ ���� +� 

 
) >��1-23�/3� (   C
� �z�
 �* h�A 2���: i� 

 
) >��2-24 h�A 2���: ��*5�	 ( 

 ���� U.5� *5= ���Q� ��] �A h�A 2���: 2�	�.�) >��1-23(  ��v	���*5� 

 .�z�
�R  �OVA  �� *5= Bc~� ���Q���4�*�  Be�
�Q� Ue.5� UeQ3 h�A 2���: %
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���	R*�V R1  *
�����*5�  2+�= ���+ .C R*
�
 W��

 2�� >�
 �z�
 �* %  (�e�5O C�Z��

(��  B�
�Q� �v��	 �* 
R2  r��= ���� +� ������O : g���A��A % 

i�1 �	V1 . V�wR1
 

 2��+ B�\4 +� ��A % 2+�=C  
 (�� W����A&�5�  >e�� +�A �������e�O  �* %

 �� *5= ��J�* ���Q� h�A 2���: &�5� g���A&�5�  ���* ��+�����A : 

i�A �	V1 . V�wR1 4 R2
 

 �� �V�5= �A��A 2+�= �. 
* W��

 B3� �A: 

VK � V1 � R2R1 4 R2
 

 ��+ &�5� �A 2+�= W��� �	��+ BA�m ���Q������A : τ1 � 9R1IIR2:. C � B1B2B1tB2
. C 

��)�V��O  �e��s� �e@�� ���eQ� �eA h�A W��

����eA�  C�eZ�� %BE  8�e��A �*

 2+�= 
 ��3�4 ���7 85���C   B�
�Q� T��< +�R2  W���*��*5�  BeA�m g���A��A .

 �A��A 2+�= W���* �	��+��*5� : �A τ2 � R2. C	 
 R��A�u��g  2+�= W���* 
 W��� B9: �3�O 2��+ % h�A 2���: h
�] R��9] ���A

: ���A ��+ ���Q� �A��A t1 � 5τ1 t2 � 5τ2 

 +� R*
�
 r5� >�� h	�O�3 �~O��� g���A��A�� ��+ �YAB.* �A ����, : 

F	 � 1T �	 1t1 4 t2 �	 1

5τ1 4 5τ2
�	 0.2τ1 4 τ2

 

: ���� ���	 

 2+�= B�3�6C  �A ���A(+��	��R  �5�e��/	��� 2�� g�
� +� >c7 �O ���A ��/A

�4� ���+ . *5'	 >��O W��� �*  iV�eO 2�e� >�
 2��+ % *5� >��O W��� 2��+ g��

�	���A�  ���c	 2+�= g�� B�3�6 g��^�V .2,��7  2�e� >e�
 +� ��A �O ���A *��+
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 oc. ��� g�� �O % **�4 h�A +� �3��� 2���: �5c� oc. 
 *5'	 >��O W��� % >��O

 (*59�A 2�5� &�@��BE ��*5� . 

|t5���  Rt�A �� �* 2+�= g�� B�3�6PF  g���] ��nf �����A . 

1-11-2-  XY7 C���O 

 ���Q� +� h�A W��

 �4�V1  �A−V2 g�� �* �.�A  �eA��A h�eA R
� W�e�

 &�5�

 �A �� �V�5=−V2−VK  . 

 �O h�A R
� �@�� W��

 i��/3��<�= �A  *�ev�� 2+�e= W�e�

��*5e�  oce. %

 2��+ iV�OtJqq ��**�4  ��e�+ .��eQ1�V  % �e��A ��e'�A h�eA R
� �e@�� W�e�



 (��'O h�A +� �O �	���:��*5�  �e��A ��� g�� 
 (�� ��*��+��*5e�  2�e��: �e�

 �5���O�.�X��  2+�= *5:
 g���A��A . �.�A �@� �AC  �O�A�5<  Be�
�Q� �eA R+�5�

 2��+ % B.� (�� ���A h�AtJp  
tJqq  �� iV�O���V*  . 

1-11-3- j�c�� �� C���O 

 2��+ iV�O R��AtA  (*�@�.� j�c�� �� C���O +����O�q . �*  k
� ge��VKw 

 ��+ >�� ���� TA�Y� �� �A��5��  C���O���O�q  ��e	 j�c�� ����	 �* 2, W��

 �O

 *��4 ���7. 

 
) >��1-25 (C���O ���  R��Aj�c�� �� C���O 
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���	R*�V i2 � i, . iY 
 o.���� �O (��=b R�V��A y\� 2��+ (BH. j�c��) *5� j�c�� *��+ �5���/	��� �4�

 qO _��^�J5. B��. 
 ��3�� i��/3� B.� h�A 2���: �A��*5�  2��+ . R�eV��A y\�

�� (��=b ��2�5� . *�* iV�O j�c�� ����	 +�� �* �5���/	��� 2*�O ��O �A 

  ���� �* �5���O 2���: ���Q�) >��1-25( : �A B.� �A��A 

iK � VKK . VK]RK  

VK]:  �5���O W��

(����9�         ,        VK] � VKw9sat: 

 *5�* 2
�A h�A 2���: ���Q�D2 : �A B.� �A��A 

I� � i1 � V� . VR1 . V�wR�  

�A ��9� 2
�A �5���O 2���: : �A B.� �A��A h�A 2���: �A �:5� IK � βI� 

 *5�* % �5���O 2���: i��/3� �AD2 (�� g�
�  >e�� 
+�e.��9�R  &�5e�e��

4�*� .  �� g��5	 �AKVL B��* q�V�5= : 

KVL : VKw . V�w . VR1 4 VR2 � 0 VKw � V�w 4 VR1 . VR2 

 �5���O 2���: B
�� g�� �*: �A �� �V�5= �A��A 

I� � VKK . VKwRK �	VKK . V�w . VR1 4 VR2RK  

 �� ��9� �A �5���O 2���:��2�5� �A&�5�  ��+B.* �A : *�
, IK � βI� I� � I1 . I2 � I1 . IK 4 IY IK � β9I1 . IK 4 IY	: → 	 IK 4 βIK � β9	I1 4 IY:	 →	 IK � ββ 4 1
	9I1 4 IY: 

 >ee�� �ee�	, R��eeA+�ee.��9�R  �ee��A % *�ee�4 &�5ee�VR1 � VR2  R��eeA . *5ee�

 �* ��O g�� >���A�:R  *5�*D1 |t5e���  *5e�* �e�1 �e� 
*>�e� �eA  ���e7 R�e.
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ee��4ee�*�  ��eeA Bee�
�Q� g�ee�^�V .RK  R��eeA+�ee.��9�R  �ee�+ U���ee� �* �ee��A

: ��O P�� βI� > IY  →  βI� > VKK − V�w − VR1 + VR2RK  

RK > VKK − V�w − VR1 + VR2βI�  

 �A+�.��9�R  W��

VKw  (��=b 2��+t6  &�e@�� iV�eO �e��A ��� g�� 
 (�� qO

 2��+ g�� �* 2�5���*5�  W��

 251 ��� .VKw (����9�  W��

 +�VKw  BHe. j�c��

 >�
 2��+ 2�5� &�@�� % B.� ��'�Atp  i��/3�����A� . 

C�~�)14(:  �� �*BJT  h�A 2���:5/7  �5e���O 2�e��: 
 �ep�, 
�e���400 

 �p�, 
���������A  ��*�Q� .β  
α  ��Y7 g�� R��A ��B.* �A  . ���
, iK = βi�  → 400 × 10�6 = β × 7.5 × 10�6  →  β = 400

7.5 = 53.33 

α = ββ + 1
= 53.33

54.33
= 0.982 

 

1-12- ��B@.1  

 
) >��1-26B@.�� ( 

 2��
� �� �5���/	���C���O(��  B.� 2���: �A %s� �A ����� 2�e��: �e�% h�eA 

2���: �s� �5���O� �����O  (*�* 2���: h�A �A 251 
��*5�  �e	5�] �* g���A��A %

 ������
� R�V��A=b�(�(��  *5:
 �A �� _��^�J5. 2��+ 
��*�
, � ��� .� �� B@.

                                                   
١  - Metal Oxide Semiconductor Field Effect Transistor   : MOSFET  
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���	R*�V 

 2��
�C���O(��  W��

 �A�����A s� �A �O� W�e�

 �� Be�4–  ge��* 2�e��: 8�5e.

>A�7C���O � R*
�
 B�
�Q� . B.�� 
 (*5A *��+ ����A B@.�	�*��v  R*
�
 2�e��:

 B.� /�1�	 ����A B�4 �A. � ���� �4��
 �\
� Be.� 2, �5�e��/	��� �eA Bc�	 B@.

� _��^�J5. 2��+ �O� qO ����A B@.�����A  g���A��A .e���e	�5�  �*h	�O�3�eV  


&��7�VR  t�A�AA5=�  ��O ��O .� �O ���*
��� ���� *��* �5���/	��� �A Bc�	 B@.

� �O B.� 2, g��* W��

 B3–  2, 8�5.��)�V��O �A2�5��  >e�� ���A ���O ��

����O  �5���O W��

 �A Bc�	 %– e.� ��'�A �5���/	��� ����� &�e@�� �ev��	 �* 
 B

�
 2��+ 2�5�> )tp (�� 25e1 g�e�^�V . Be.� ��e'�A �5�e��/	��� �A Bc�	 B@.

� R*
�
 B�
�Q�� B.� *��+ ����A B@.|��5ZH�  �*&��7�VR  �A +��	 t�A�V����R 

 2, g�=5. +� R��45�: R��A x3��������A .  R��A >�� �*h	�O�3�V  
&��7�VR 

� +� B.� ��9A t�A�B@.R�V  R��A 
 *5� (*�@�.� &��7h	�O�3�V  
&��7�VR  qO %

��9A �.�.� +� ��� .*5� (*�@�.� �5���/	��� +� B.�B�/� g���B@.�� R�V /�5e	 �V

 ���O,2�V B.� ���� �* .  2���� �m� R�V�5���/	��� R�
��3 ���] �A X��v� R�V���� 

MOS�� �� %(*�. 
 ��/�� ����A 2�5� R�V�5�e��/	��� ���] �A X��v� R�V���� +� ��

 2
�A % B=�. �cY7
*2,�O XA�� 
 �V���� �* ���8��Q� 
 (��^�] R�V ��/A R�V

��Y7 �)�* �� % *5�* % B�
�Q� �A R+��	. ����A ����* ���	
���
� R�V 

 R�V�5���/	��� MOS �* �O �
�	�O �A �:5� �A %2,�V �� >�� % *��4NMOS  �� 

PMOS �� (����	 . �	5e��eO�v	,+� g�=�e. NMOS  2�e.,qO B��e�� 
 �� R�e�

�� % *��4�A Bc�	 PMOS  *�A��O��'�A R*��* �* %�cY7
* R�V�5���/	��� y-= �A .

  R�V�5���/	���MOSFET  ( (�@� �� 2
���
� ) >��� �� �9�� k��� �v��	 2���: %

 
 B.� �V�	5�] 2��� �*�+��g
��� �� �V�5���/	��� g�� %�� qV �cY7����	. 

��B@. �� �V��2�5� *�O R+�5� �)���� �A B
59. �A %  g�
� B
�� B�
�Q� ���+

 (>�
)2,�V B.� Bc~� ������ o��� R���* B@.�� +� ��� ��7
 g���A��A . �* �eV

 2���: ���A�+���*�R  �5c� *5= +� �����V* �.�X��  �e�3�� i��/3� 2, &���� �:�*

 *��+ 2, >�
 B
�� B�
�Q� �v��	 �*��*5�  oc. 
��5�*  2, 2���: �O�eA�5< 

B@.�� ���. g�A �	t*��**�4 q��Q� �V . 
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1-13- IGBT1 

 
) >��1-27 (IGBT 

BJT  
 �VMOSFET  �eYQ	 +� �eO ���e�V ����e�5Z= R���* �V�eV�z	�� 

 >���� �� �)���������O  .BJT  B���eV &�e@�� R���* (>e�
) g�
� B
�� �* �V

����V R���O . 
���*��O  _��^�J5. 2��+2,�eV  2�e� k5��e= �* �5eZHA 


 2�� g�
�	t5<��� B.�  .MOSFET ����V �*�7 �V eA �eO oe���� ��e.�X�� 

�	*�4 >�
 
 XY7 .  B���V &�@�� g��
2,�V B.� ��'�A  ��*�4 o:5� &��	 g�� .

 �� o
�7 �* ���.
 
* g�� o�O�� ����+ �* k-� �O2��
� **�4 +�w, ���:  .2��
� 

 R���/� +� ���:BJT  
 �VMOSFET  ��*�5=�A �V*5A �V�5= . k-��V  ��v	��e.

 ��
5� �A �v��2��
�  �5�e��/	��� �A �5.5� R���:ecY7
*�  (�e� T��e� Be�4 �eA

)IGBT ��*�4 ( .  g��2��
� *��* �	�
��3 *�A��O  ���e.
 ge�� �A �O R�)�* ���.� .

 P-<���**�4  : +� B.� &��c�  GEMFET%  COMFET%IGT %MOSFET 

 B
��cY7
*� . 

(��]�R  +�/��B�VR MOSFET % BJT
 GTO  g�� �*2��
� B.� (�� X�: 

 �A�'� .MOSFET  B.� �4�/A B�4 h	��p�� R���* �V.  �A ��O RW�	� �A g���A��A

 [�J5. >�
 B
����**�4 . 

1-14-  �5�����2 

                                                   
١ با گیت عایق شده یترانزیستور دوقطب -   

٢  - SCR   
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) >��1-28�5����� ( 

 
) >��1-29�ZH'� ����� ( �5����� 

 +� �5����� 2��
���91 ���	R*�V % �	, ���] �. R���* 
 B.� (�� >��'�  
 ���O

 B�4�����A  R*�� B
�� �* . % y�< [�V +� �5����� % W�e�

 �4� . *���	 �� �����V

�	,-  % ���A Bc~� ���O]��V�	5R J1  
J3  �e	5�] ��� ��3�4 ���7 q�Q��� 8���A �*J2 

 85��� 8���A �*�����A  �e��O �eA �e	, +� ��e'	 2�e��: �� UQ3 B
�� g�� �* .

. B.� ���7�A   �	, W��

 �4�- ���O2,��7  �e	5�] �O ���A *��+J2  Be��� �e���	 �eA

 ���7�A ���O �A �	, +� 2���: 
 (*5�	 B���V % �.�A ���9A��*5�  �eA �eO RW�e�

 .

 2, R�+��A�5<  g�
� �5����� q�Q�����*5� 

 �� �5����� q�Q��� B��� W����

����	  �A 
V�0  2�'	����V* �� g�
� R��A .2�e��: >7��e� �5�e���� 2IY	  �eO

 . *5� ���7�A ���O �A �	, +� ���A *��* ��	 (���O >@7 2���:��e)�V��eO  �* �5�e����

 �	, +� �O �	���: >7��� B.� B���V B
��- ge�
� �5����� �� ��O �5c� ���A ���O
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 �	��A 2���: %�)	(�	��* I� �����A �e	, +� R�5c� 2���: �4� .-  +� �e��O �e��OI� 

 k5��= �5����� *5���*5�  �5����� 2*�O k5��= (�� �9�� g�� 
�����A  . 

 B���V �5����� �O �	��+����O  *
�� �O R/�1�	 W��

 B3� %1  
* Be.� B



 2, �. ���7��4�*�  ���A ���O ���O +� �	, W��

 �4� ��� .]��V�	5R J1  
J3  8���A �*

 ���7 85�����3�4  �	5�] UQ3 
J2  B���V B
�� �*�����A  �	���: B
�� g�� �* .

�A/:  /�1�	 ��'	 2���:IB  �5����� +��	�*�\4  k5��= 
�����A  . 

 Be.� *��+ �5����� q�Q��� B��� W��

 ��	, �A �:5� �A% �5�e���� R��eA R�eV

 *
�� �����400  ) B

��+,�V�)'��V  *
��100  Be.� ( Be

 % k
� g���A�e�A

 B
�� �5����� 2*�O g�
� R��A q�Q����H��o(���O�R  ge�
� �ez�
 ���+ . *��*

*��+ ����A W��

 �5����� 2��R  ���7 ��A �. 
* ��+ >�� TA�Y���4�*� : 

 
) >��1-30 g�3�4 ���7 (�5����� �. 
* *��+ W��

 

 ���A ��A g���A��A2,��7  ���A *��+�� Xc�� �A 
 ��O >��� �� *��+ W��

 g�� �	�5�A% 

 �5�����
  �5�e���� 2*�eO ge�
� R��A �c.��� k
� %k
� g�� .�.�	 ���� ��A ��

	�����A �	, W��

 �5����� 2*�O g�
� R��A >�� �* .- +� ���O ����A �� ���O W�e�



�5����� q���A ��.�5= �O �	��+ �V 
 (*�* ���7 2, q�Q��� B���  %q��O g�
� ��

 o.��� 2���: h
�] ��) ��e� 
 ����* R���* ���A 2���: h
�]�3�eO �e��A(  �+t

B.� . 2���: h
�] ��Q1 �V57R�� ���A%  �	, W��

 �A �5�����-  g�
� R���O ���O

��*5�. 
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) >��1-31 (��: h
�]��� 
 ����* R���* 2� o.��� 

 �	5�] �	�5�A �O B.� 2, 2���: h
�] +� �5z��p-n  Be�4- O �� �e��(��+��e	�R 

.��O ��)�V��O  �e� 
 2�e	�� ge�
� �* �e'Q	 [�eV Be�4 ���] �� g�
� �5�����

 Be
�� 2���: �O B.� 2, �5����� 2*�O k5��= (�� �9�� 
 *���	 2, 2�� k5��=

2, q�Q��� B���V % 2���: +� ���O�)	(�	��* *5�. 

1-14-1-�5����� R�5���/	��� 
* C�� 

 �5����� *����� >���� R��A��2�5�  R�5�e��/	��� 
* C�� �e.��A �� �5�e����

 .*5�	�A g� �A *5� *�v�� �5����� R�V�	5�] R
� ��+ >�� TA�Y� ���A �4� �5z��

 �@�� 
 Bc~� �5���/	��� 
* >��c���*5�. 

 
 >��)1-32�5����� R�5���/	��� 
* C�� ( 

 �A�A �:5�  �5����� R�5���/	��� 
* C����2�5�  2���:�� 2,  �e�+ �eYA�� +� �eA

B.* :*�
, IK1 = α1Iw1 + IK�01 = α1Ii + IK�01 
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IK2 = α2Iw2 + IK�02 = α2IH + IK�02 

KCL 1 : Ii = IK1 + IK2 = α1Ii + IK�01 + α2IH + IK�02 =α1Ii + α2IH + IK�01  + IK�02 
KCL 2 : IH = Ii + I� →  Ii = α1Ii + α29Ii + I�: + IK�01  + IK�02 →  Ii = α2I� + IK�01  + IK�02

1 − 9 α1 + α2 :  

 2�'	 P53 �YA�����V*  . *��* q�Q�e�� �eYA�� Be�4 2�e��: �eA �	, 2���: �O

g��: ��*�Q� �A g��^�V ��'	 R�VIK�01 
 IK�02  /�	.*��* q�Q��� �YA��  α1 �A&����s�Ii  ���A�

 α2 &����s� �AIH  ���A�
B.�  ��*�Q� i��/3� . α1 
  α2  2���: i��/3� ���AIi ��*5� .  �^	��1α1 + α2  % �e�O >e�� �� B�. �A

 >�� �@� B�. �A r�H� >�������O  
� �*�g  ��/A �	, 2���: B
����*5�  


 g�
� �5�������*5�  . 

1-14-2-k
��VR  �5����� 2*�O g�
� 

1 &���� ( 

 ��	, �A �:5� �A2���:R�V  ��'	IK�01 
 IK�02  &���e� �e:�* XA�� &�� �Ae��

����A  i��/e3� 2, R/e�3 �e	�A �eA &���� C���� �A �� �5����� �	5�] R��* �4� g���A��A %

W��

 �* �5����� 2�� g�
� ���A % q�V*R  2, q�Q��� B��� W��

 +� ���O��*5�. 

 
) >��1-33 (W��

 �* �5����� 2�� g�
�R�V q�Q��� B��� W��

 +� ���O 

2 �	, W��

 i��/3� (_  ���O 
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  �	, W��

 q�Q��� i��/3� �A- ���O% 2���:R�V  ��e'	IK�01 
 IK�02  i��/e3�

��3��  �A W��

 i��/3� g�� �4� 
(+��	��R  �	5�] �O �.�AJ2  ��e��� h�� B9: �*

 g�
� �5����� % *5���*5�  /e�	 k
� g�� �O�ez	+� �ce.��� k
� �e���  R��eA

�5����� 2*�O g�
� 	�����A . 

3�5	 ( 

 
) >��1-34�5	 U.5� �5����� 2�� g�
� ( 

 �ee�=�* �ee	5�] �eeA �5ee	 2�ee	�A�� �eeA�ee��	R*�V  �* 
 2�ee��: R���ee7�A �ee��A

 �5�ee���� 2�ee� gee�
� �eev��	��*5ee� �� j5ee	 gee�� .�5�ee�� �5�ee���� �� �eeV

3 �� 
 R�5	5 �5����� 5�������	  >�e� TA�eY� . P5e3 �� ��eA �ez	 *�5e� W�e�



 �ee	, �ee. 
* �eeA–  
 (*�* C�eeZ�� �5�ee���� �ee��O��ee)�V��eeO ee��V�5ee=�q 

 % q��O g�
� �� �5����� �e	, �eA �e�\s� W��

 ��– �5e	 *5e�* �e��OR  C�e���

���O�q * 2�e� ge�
� �e��A �e�� ge�� % �e	5�] �eA �5e	 2�e	�A�� 
 R�5e	 *5e�

P-N  �eeA �eeO (�ee� �5�ee����A���ee7�R � �5�ee���� 2, �* 2�ee��: gee�
� �

���ee�O  .q9��ee��g 3 �ee4��
5 
 &��ee7 ieeHA �eeO Bee.� gee�� �5�ee���� 5ee�

 2���3 iHA�z	+�  +� �e=�A . ���e�V �e

/�� qV�eA �e�����
�2��
��eVR  �e�1

 /e�	 �e)�* ��t�A&�5e�  . *��* *5e:
 R�5e	�eA2�5��C�~� 3 :5 �5�e��/	��� 5e�

3 %5 �5����� % l���� 5�3) R�5	5 (�5����� 5�. 

 

4 �	, 2���: B��. i��/3� (
����# 
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) >��1-35�5����� �. 
* �A �A�� C���� ���� ( 

 �	, �A 2���: �	�94�	 �A�� +� (*�@�.� �A %�5�������2�5� �� 2,  �e��] +� (*�@�.� 2
�A

�O ����A RW��

 �* B�4��  q�Q�e�� B��� W��

 +� % �� �5�e����*�eO ge�
�  ���e� .

P53 >��% C����  2�'	 �� �5����� �	, �A �A�����V*  �e��O �4� ���� g�� �* .s  ��e�A

 �	, (��5O C�Z�� ���� 
 ��t % ��. % Xc�� T��< +� 2���: % ���A- ���7�A ���O��*5� 

 ��. �* RW�	� (��=b ���A ��� g�� .��*5� ���O ���� +� ��A �4� .s  �e^	��1 *5e� +�A

 ���Q� ���A ��/A �3�O (+��	� �A ��. B@
�H� 2���: &����s� C�c7 �* ��.)����O ( %

 ge�
� �e��A 
 (*5e�	 *��
 �5�e���� �e	, �A �� �	���: �A�� % 2, �* (�� (��=b RW�	�

 2�� 2,��**�4  .�c.��� k
� % k
� g�� �5����� 2*�O g�
� R��A 	�����A  . �



 +� �=�A �*B
���VR  (*�@�.� >�� �* ��= ����A��*5�. 

5 �	, W��

 &����s� (–  2��+ �A Bc�	 ���O
�����# 

 W��

 �	�94�	 �A�� C���� �A �	, �. 
*–  ���A ��/A �3�O (+��	� �A �4� ���O��

�	�5�  *
�� RW��

 �* �� �5�����20  q�Q��� B��� W��

 +� ���O ���*�5�����% 

�� 2,  2�e� (�e�5O C�eZ�� �e��A W�e�

 �	�e94�	 �A�� ���+ . ��O g�
�2+�=�eVR 

 �5����� ��=�* R�V�	5�](��  ��e�� �* �e��O �A �	, +� 2���: R���Q� �v��	 �* 


2+�=�V ���7�A ��*5�  ��� g�� .���	�5�  B��� W��

 +� ���O RW��

 �* �� �5�����

. ��O g�
� 2, q�Q��� � % /�	 k
� g�� �5�e���� 2*�eO g�
� R��A �c.��� k


	�����A . 

6 B�4 �A 2���: h
�] C���� (–  ���O 
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 �	, W��

 k
� g�� �*-  2, q�Q��� B��� W��

 +� ���O ����A �� ���O S�H�	�e��

�O�q .  �O �	��+��V�5=�q  R���* �O o.��� 2���: h
�] �� % q��O g�
� �� �5�����

 B�4 �A ���A �3�O ��� 
 ����*-  C���� ���O���O�q � g�� . 2�e� ge�
� �e��A �e�

 �5�������*5�  B�4 �A �
���� 2���: h
�] ��Q1 �V .57R��  W�e�

 �eA �5����� % ���A

 �	,–  g�
� R���O ���O��*5�  +�v� �� �� �

 .��2�5�  *�* i��/e3� �� 2���: h
�]

. B�4 �	5�] g�=5. ���A �O ���: �� ����-.*5'	 ���O  �5�e���� 2�e� ge�
� +� �e�A

 2*�O k5��= �� 2�	�� g�
� �* �'Q	 [�V B�4 ���]�5����� +� �e�A g���A�e�A . *���e	 

 B.� ��9A >�
* 
* �A �5����� 2�� g�
�: *5� y\� B�4 R
� h
�] 

 B�4 &�@��-  ���O ���O��*5� . 

 qO h
�] (�	+�. ���� &�@����*5� . 

 k
� g��o.������g  
�������g  �5����� 2*�O g�
� R��A k
������A  . 

1-14-3-k
��VR  �5����� +� B6�@� 

1 >A�Q� �* B6�@� (
�����# 

 �	, �. 
* W��

 �	�94�	 �A��–  �5����� ��.�5=�	 2�� g�
� ���A B.� g��� ���O

 . *5�|��5ZH�  �	�94�	 &�	�.5	 2, R*
�
 B.� g��� �O ������� �* W��

 % �e��A ����*

 �e��A �5�e���� ��e.�5=�	 2�� g�
� +� R��45�: R��A . *5A �V�5= ��'�A �A�� g���� 2, 

 >A�Q� �*�A���VR  �5z�� g�� R��A . q��O B6�@� �	�94�	��2�5�  +� �e�+ >�e� TA�eY�

 ���� ���A��4�� RC  . ��O ���� �� &�	�.5	 �	�5�A �� *5�	 (*�@�.� ���� R*
�
 �* 

 
) >��1-36 ( �����A��4�� RC 

2 >A�Q� �* B6�@� (
����# 
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 �* 
 �e	5�] �* 2�e��: �
�)1 i��/3� ���A �5����� �	, �A *��+ 2���: �	�94�	 �A��

 2, 2�� ��4 �v��	��*5�  *��+ &���� 
��(��*�v ���	�5�  R��eA . �	�+5e�A �� �e	5�]

 2�e��: �e� B.� +��	 �	��+ >7��� �� ���O �A �	, +� 2���: C�Q�	��eA�5<  �* Be=�5���

 �	5�]���7�A �A . *5� B6�@� R� >A�Q� �* �5������A���VR  �	, 2���: �	�94�	���e	�5� 

 . *��)A �� 2���: �A�� �� (*5�	 R�. �5����� �A �� ��. �� ��+ >�� TA�Y� 

 
) >��1-372���: �A�� g�3�4 R��A �5����� �A (�� R�. ��. ( 

1-15- j�5	�(*�5	�=�VR  �5����� 

1-15-1-  �
5��� R�V�5����� 

 g���5����� �* 
 (*5A ��5�� &�ZH'� R���* �Vh	�O�3�VR  �A5e= �eA g���e]

 ��O����O  �V�5����� g�� �* .|t5e���  R��eA��R+�e.5. C���O(�e�  �9e� P�eA

 (*�@�.���*5� . �5	� �)�* j�5������V  (��v�. �	5�	 g�� �A Bc�	��*5�  . 

α4 β = π 
 ��
�+=u���  i�, �* : α     ;     B���V ��
�+ : β 

 
) >��1-38�
5��� �5����� ���� ( 
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 ) >��1-39 >�� (r5�R�V  �5�����t�A ���� �* 

1-15-2-  _��^�J5. �� X��. R�V�5����� 

 t�eA ��eO h	�eO�3 R���* �V�5�e���� g��e����e��A  �* 
h	�O�3�eVR t�eA 

�AA5=� ����	�5� �	5e� >e�
 
 XeY7 �* �V�5�e���� ge�� +� .C�ec��VRDC 

  �eeADC1 
C�eec��VR DC  �eeAAC2 �eeA�5<  (*�@�ee.� (*��ee�4��*5ee�  �* .

 �eeZ
�=�	 % �V�5�ee���� gee�� 2���=�ee. RW5ee
5����ee��	R*�V  qeeO ��(*5�	�ee	� 

 ��eO h	�eO�3 i��/e3� �e��A ��� g�� .2,�eV ��*5e� . �e��  �e	, W�e�

 Be3�– 

 B���eV B
�� ���O2,�eV  *�e�+��*5e�  
�	�*��ev  >e�
 Be
�� 2�5e� &�e@��

i��/3� ����A� . 

                                                   
1 - �V�]�1 

2 - �V���5��� 
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1-15-3- GTO
1 

 2��
�GTO X7�
�*  �
5��� �5����� �A Bc�	 2, B�4 ��t �O B.� R�5�����

��/A��  ��=�.B.� (��  .�	�*��v  *��* +�e�	 2�e� ge�
� R��A �O �	���: h
�]

 ���A �
5��� �5����� �A Bc�	57R��  . ���A 

 
 ) >��1-40 2��
� (GTO 

 Bee�4 �ee�t �ee4� % �5�ee���� R�5�ee��/	��� 
* C�ee� �eeA �ee:5� �eeA�A(+��ee	��R 

Be�4 R
� 2�ee��: R5e7 �e@�� h
�e] �ee� �eO �e��A ��/eA– >eeO �e	�5�A % �e��O

 2�ee��:IK1  % �ee'�A 2
�ee�A �� ���eeQ�I�2  �5�ee��/	��� 
 (�ee� �@ee� �eeA��AQ2  


 �5�ee��/	���Q1  
 (�ee� k5��ee=�	�*��eev �ee	, 2�ee��:- XeeY7 �5�ee���� �ee��O

��*5ee�  �* ��eeO gee�� .GTO  &�5ee�ee��4ee�*� �ee	, W�ee�

 �ee4� �ee��� .– �ee��O

 h
�] �� �A % ���A Bc~� 2�e��:Be�4 �eA R5e7 Bec~�– �e��O % ge�
� �5�e����

��*5�  .��)�V��O  h
�e] �e� �e4� Be.� ge�
� 2��
� g�� 2�e��: �e@�� R5e7

                                                   
١- Gate Turn Off thyristor 
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 Bee�4 �eeA–  % *5ee� C�ee��� �ee��O  �5�ee���� k5��ee=��5ee�*  2�ee�
� B�*
�ee�� .

GTO  �e	, W�e�

 Be3� �eO Be.� 2, �
5e��� �5�e���� �A Bc�	–  ��e'�A �e��O

�����A  >�
 B
�� �* 2�5� &�@�� i��/3� oc. ��� g�� 
��*5�  . 

1-15-4-) ��* C���O �	5���. ���OSCS( 

 2��
�SCS ���  +� �)�*(*�5	�=�eVR  Be.� �5�e���� Be�4 �e��] 
* R���* �eO

�����A  B�4 ���] 
* g�� U.5� . R���O B�4 
 R�	, B�4 .��2�5� 2���3  ge�
�

 . *5�	 C���� 2��
� g�� �A �� 2�� k5��= �� 2�� 

 
) >��1-41 2��
� (SCS 

2��
�SCS  e���� ��	�� 2�e�
� �e� �
5e��� �5����e3�< Be.� UeQ3 �e��� .

 ���e7�A B���eV ���O �A �	, +���*5e� .  ��eO (5e�	�A�g&�5e� ���e��A  �e4� �eO

W��

  Be
�� ge�� �* . Be.� 2�e� ge�
� (*�e�, 2�e�
� % �e��A ��e'�A ���O +� �	,

2�e��: Bc~� h
�] �� �4�%  �eA 
 *5e� (*�* R�e��O Be�4 �e� �e@�� h
�e] �e�

2�ee��:% *5ee� C�ee��� R�ee	, Bee�4 �eeA 2�ee�
� %SCS  gee�
���*5ee�  ��ee)�V .

�ee� �ee� R�ee��O Bee�4 �eeA 2�ee��: �ee@�� h
�ee] �ee� �ee4� B���eeV  Beec~� h
�ee]

 2�ee�
� *5ee� (*�* R�e	, Bee�4 �eeA 2�e��:SCS  k5��e=��*5ee�  gee�� Xee7�
 �* .

 �ee�	�� 2�ee�
�GTO ���ee��A  �eeO2�ee��3  �eeYQ	 
* +� �� 2�ee� >ee�
 
 XeeY7

 ���H����	�5�  . ��O B3���* 
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1-15-5-  l����1 

 �O �5����� 
* +� l���� 2��
��A�5< +�5� qV B9: y-= �* 
 R>Z�� (���	� 

 l��'� B�4 ���] �� R���* 
������A      . B.� (�� ��=�. % 

 
) >��1-42l���� 2��
� ( 

 
) >��1-43l���� �ZH'� ����� ( 

 2��
� g���*  �5e. XeA� 
 C
� XA�e���e	�5�  +� �e�� 
 �e�O ��eO��*�A��eO�]�g 

2��
��VR ���	R*�V  ����������A  2��
� �� l���� 2��
� .�3�<
* B.� +� ���� .

 y�< 
* �V���	�5�  2��
� g�� ��O (5�	 . ��O B���V�A�g&�5�  W��

 �4� �O B.�

MT1  �A Bc�	MT2  2, Be�4 �eA 2�e��: Bc~� h
�] �� �^	��1 % ���A Bc~�

 g�
� l���� *5� C������*5�  
��5��*��O  W��

MT1  �A Bc�	MT2  �@��

                                                   
-١ Triac 
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B�4 �A 2���: �@�� h
�] �� �^	��1 ���A  
 (�e� ge�
� l�e��� % *5e� C�e���

 B���V����O  .��)�V��O  Be�4 �e��] % �
5e��� �5�e���� ��	�� �� g�
� l����

 2*�eO k5��e= (�� �9�� 
 *���	 l���� 2�� k5��= �� 2�	�� g�
� �* �'Q	 [�V

 % 2,iV�O ��: +� 2, B���V B
�� 2���: 2��)	(�	��* �����A  . 

1-16- 2��
�R�V  B�4 2���3 

 B=�. R��A8�]�VR  j�5e	� Be�4 R��eA o.��� 2���3(*�5	�=�eVR �5�e����  +�

2��
�R�V 3 (*�@�.� C�����*5� .  g�� U.5�2��
��V  2��+ �* 2���: o.��� h
�] %

�z	*�5�  C���� B�4 �A��*5�  . 

1-16-1- UJT 1 

 
) >��1-44 2��
� (UJT 

 
) >��1-45 �ZH'� ����� (UJT 

                                                   
١  - Uni Junction Transistor 
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V¡ = n × V�2�1 n = c£1c£1tc£2
               0,51≤ n ≤ 0.82 

 2��
�UJT  +� ���2��
�R�V �� ��������A  B=�. R��A �Oh
�]�VR  2�e��3

 (*�@�.� 2, +� B�4��*5�  �� +� 2��
� g�� .B��7 ���	R*�V  j5	n  (�� >��'�

 +� �'HA �O B.����	R*�V  j5	p  . B.� (�� (*�* b5@	 2, >=�*�e��	R*�V p  ��

 y�< 
* 
 (����	 ��������	R*�V  j5	n  h�A ��1  h�A 
2 ������	 . 

  ��O (5�	UJT �A�g&�5�  �O B.� +� ����� W��

 �4�VU  ge�
� % *5� ��'�A

 2���: 
 (�� �5c� *5= +� �����V* . ��)�V��O  +� �e���� W�e�

VE  % *5e� �e��O

 2��
�UJT  k5��=��*5� . 

TA�Y� ��+ >��  +� (*�@�.� �AUJT ��2�5e� ) �5�-�e.� �e�2�.5	+�e. R��eA (

 B=�.h
�]�VR 2���3  *�A (�9A�� R��A �O q���A ����* �:5� ���A . 2��
� UJT 

 ���Q� % �H'�n . B.� BA�m *�� �� 

 
) >��1-46 ���� (+� (*�@�.� �A �5�-�.� UJT 

Bee.� &�5ee� g��eeA P5ee3 ���ee� �5�-�ee.� ��eeO (5ee�	  �ee��O C�eeZ�� �eeA �eeOs  %

 2+�ee=C  Bee�
�Q� Tee��< +�R  W��ee���*5ee�  i��/ee3� �ee���� W�ee�

 �eev��	 �* 


����eeA�  .��ee)�V��eeO  (+��ee	� �eeA �ee���� W�ee�

VU  ��ee.�UJT  
 (�ee� gee�
�

 2+�ee=C  Bee�
�Q� Tee��< +��eeA qeeV� qeeO R�1  W��ee�*��*5ee�  ���ee)�V . W�ee�





60                                                                                2��
� :C
� >eeeZ3 R�eeeV

���	R*�V 

 +� �ee����VE  % *5ee� �ee��OUJT  ���ee�� >��ee. gee�� 
 (�ee� k5��ee=��*5ee�  .

 2��+ ���Q�h
�]�VR  2���3��(��*�v  ��+ �YA�� +�B.* �A ����, : 

T = R. C. ln 1

1�p                          f = 1 T2  

 �ee� R��eeA 25ee1UJT  % �Hee'�n  Bee.� BeeA�m *�ee� �ee�|t5ee���  R��eeA

 h	�O�3 ���s�h
�]�eV  Be�
�Q� �e��s� �eA 
 �e�3�4 BeA�m �� 2+�e= %R  h	�eO�3 %

 ���s� ����V*�q  . 

 
) >��1-47 >�� (r5�R�V  �5�-�.�UJT 

 Bee�
�Q� ���eeQ�R�1  qeeO *
�ee�)100 (qeeV� ���ee��A.  ��ee� �ee��s� R��eeA

h
�]�eeVR  2�ee��3ee��2�5ee�  . *�* �ee��s� �� Bee�
�Q� gee����eeQ1�V R�1  ��ee'�A

 ��e� % *5�h
�]�eVR  2�e��3
5��(�e��  ��*�e�+��*5e�  �eV R��eA .2�.5	+�e. 

 *��* *5ee:
 �YA�5ee� 
 U���ee� %.  Bee�
�Q� P5ee3 �5�-�ee.� R��eeAR  (*
�ee�� �*

 ��+ ���A ���� �� ���A ����* ���7���A ����* �c.��� *�����  . VKK − VEIE  < R < VKK − VUIU  

 �4����	R*�V  j5	 +� ����P 5	 +� (�� (*�* b5@	 iHA 
 ���A jn  % �e��A ge��

 �� 2��
�CUJT  ������	  �A�'� 2, *����� �OUJT �����A  . 
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C�~�)15(:  2���3 ���� �*(*�*(��  +� (*�@�.� �AUJT ��5��*��eO  R�eV������]

 �����A&�5�  % ���A ��+B.� S5�Y� : 

 
 �c.��� (�
�VU : 

 B�
�Q� (*
��� (SR : 

 (r��5ee��*��eeO  Bee�
�Q�R  �eeA��A51  2+�ee= Bee�3�6 % �ee��A qeeV� 5ee��O

� B.� ��Q1 VA � 30	V 

n= 0,51 IU � 10μA VE � 3.5	V IE � 10mA 

F = 60 Hz V= � 0.5	V 

 (�
� VU � nVA 4 V= � 0.51� 304 0.5 � 15.8	v 

(S 

R ¥ VA . VUIU �	 30. 15.8
10� 10�6 � 1.42	MΩ			 → 	R ¥ 1.42	MΩ 

R	  > E��E¨�¨ � 30�3.5
10�10X3 � 2.65	KΩ					 → 				R � 2.65	KΩ 
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(r T =  1F =  1

60
= 16.6 ms T = R. C. ln 1

1 − n → 16.6 × 10�3

=  51 × 103 × C × ln 1

1 − 0.51
   C = 0.456 μf 

1-16-2-  +� (*�@�.� �A �5����� B�4 2���3 ����UJT 

 ���� *����� (5�	 >�� ��+�A�g&�5� �����A  P�A % ���� R*
�
 �* h	��� �O

 W��

 �A �� �9�6  >��c� B

����O  >e] (���O5e��� ���e� Ue.5� W�e�

 hpe. .

 5��� R*5�*��*5�  B�
�Q� .120  *
�e�� �� �e	+ *5e�* +� R�5ec� 2�e��: qeV�

����O  >�� Bc~� ��] �	+ *5�* . ���c	 ���� ��r5��eV  
 (*�* k�eA ���� 2,  �eA

 �5�-�.� ����UJT  C��������O  ���5��	��] ���s� �A �O��2�5�  2+�= W��� 2��+

 
�	�*��v  �YQ	 �* 2���3 h
�] g�

� 2��, h�A1  >�� . *5�	 C���O ��r5�R�V 

 2�e��3
5��(�e��  �5�e��/	��� Uee.5�2N2219  Be�5Q���*5ee�  �5ee���O �e�\s� .

 2+�= U.5� 2, >p�� g�3�4 
 R*
�
 W��

 2�� 5��� �A �5���/	���1  ) *���3 ����

 �A W��

 >��c� DC &�5� (��4�*� �O �* . *��* ���7 �

/�� h	��� �5���/	��� �5��

 �� &��7 
 2���3 iHA ���z	+�  . �e���	 (�

/��) ��: ������
� �* h	��e� �e:
�=

�

/��% h
�]�VR  2���35Q��B(�� �5���/	��� U.5� 2N2219  % Be�4 �A–  �e��O

 (*�* �5�������*5�  i=�e1 *5e�* *��* ���e7 �

/�� h	��� R*
�
 �* �O R*5�* .

 *�4 +�V �� *�+,�����A  �@�. B���= ��.�q]�[  ���e� �e��A �

/�� h	��� ��

�

 ��� ���s� R��A . *5'	 �5���/	��� �5���O �A 2�	�.�h
�]�eVR  2�e��3e��2�5e� 

 Be�
�Q� 2�e�V �eO 2+�= W���* ���� B�
�Q�100  qeV����e��A  . *�* �e��s� ��

 B�
�Q�1 O�5� qV�  h�A 2���: 2*�O *
��� R��A �5���/	��� h�A �*�����A . 
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) >��1-48 ( +� (*�@�.� �A �5����� B�4 2���3 ����UJT 

1-16-3- PUT 1 

 
) >��1-49(  2��
�PUT 

 2�ee�
�PUT  +� �ee)�* �ee��2��
��eeVR  �V�5�ee���� (*�5	�ee=���ee��A  �eeO

�eeA2�5��  (*�@�ee.� 2, +� 2�ee��3 ���ee���*5ee�  R�ee	, Bee�4 R���* 2�ee�
� gee�� .

) 2�ee��3 �ee	, �eeA Bcee�	 Bee�4 �ee���ee��4ee�*� (���ee��A 
* C�ee� �eeA �ee:5� �eeA .

 R�5�ee��/	���PUT  �Hee'���*5ee�  �ee	, W�ee�

 +� Bee�4 W�ee�

 �eeO �	�ee�+ �ee�

                                                   
١  - Programmable Unijanction Transistor 
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e	 �� �����eV ���A ��'�Aq���� �e�� .��e)�V��eO  (+��e	� �eA �e	, W�e�

V©  +� W�e�



 ���e7�A �e��O �eA �	, B���V *5� ��'�A B�4��*5e�  �5�-�e.� �e�+ >�e� ���e� .

 +� (*�@�.� �APUT  2�'	 �����V*  . 

 
) >��1-50(  +� (*�@�.� �A �5�-�.� ����PUT 

 
) >��1-51(  >��r5�R�V  ���O 
 �	, W��

PUT 

 P5e3 �5�-�e.� ��eO (5�	�A�g&�5e�  Be.� �eO Te��< +�e�Q��q  g�eA W�e�



B�
�Q��eeVR R1  
R2  ���ee7 Bee�4 �ee��] R
� BeeA�m W�ee�

 �ee�ee��4ee�*�  �* .
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 2+�ee= �eez�
 g�ee�VC  Bee�
�Q� Tee��< +�R  W��ee���*5ee�  .��ee)�V��eeO  W�ee�



 (+��e	� �A �	,V©  �e� ��e'�A Be�4 W�e�

 +�PUT  �e	, +� B���eV 
 (�e� ge�
�

 ���e7�A ���O �A��*5e�  2+�e= Be
�� ge�� �* .C  qeO qeV� �eA Be�
�Q� Te��< +� RH  W��ee�*��*5ee�  
��ee)�V��eeO  �eeA 2, W�ee�

VE  % ��ee.�PUT  k5��ee=

 ����� (��A
* >��. g�� 
 (����*5�  . VU = V� = VKK × R2R1 + R2
 

n =  ζ = R2R1 + R2
 

   2��+h
�]�VR 2���3 T =  R. C. ln 1

1�p =  R. C. ln 1

1� «2«1¬«2

 

 �* �Hee'� j5ee	 �ee� 2�ee�
�UJT  %n  BeeA�m *�ee� �ee����ee��A 
�ee��*�

�O  2��
�PUT  �e��s� �eAB�
�Q��eVR R1  
R2  ���eQ�n  ��e��2�5e�  �e��s�

 . *�* 

 ��� ��	, R��Ah
�]�eVR 3e��s� �e��O �eYQ	 �* (�e� �e�
5� 2�e�� �e�O �

% ee��2�5ee�  Bee�
�Q� ���eeQ�RH s� ���ee� . *�* ���eeQ1�V  Bee�
�Q�RH  ��ee'�A

 ��� % ���Ah
�]�VR  ��e'�A 2�e��3��*5e� .  ��eQ1 �eVRH  % �e��A �e��O

 ��ee�h
�]�eeVR  �ee��O 2�ee��3��*5ee�  .|t5ee���  gee�� qeeV� �ee� �* Bee�
�Q�

 S�H�	���*5� . 

 �e���* ��	, R��Ah
�]�eVR  �e�O �e��s� 2�e��3e��2�5e� B�
�Q��eVR R1 

 
R2  ����5ee� �eeA�  Bee�4 W�ee�

 �eeO *5ee�	 S�eeH�	� % �ee���* (�5eeH
* W�ee�



h
�]�VR q�	 y-�=� �A 2���3 . ���A B

 

C�~�)16(: : B.� S5�Y� ��+ (�� (*�* ���� �* 

 ���Q� (�
�n  : 

 ���Q� (SR2 : 

 ���Q� (rR : VA = 30 V      R1 = 60 KΩ   C = 0,5 μF VU = 10 V     F = 60 Hz    
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�
� ) n = 
E­E� �  10

30
= 0.33 

S ) n = B2 B1tB2
   →   B2

60×103tB2
= 0.33  →   R2 = 30 kΩ 

r ) T = 
1� =  1

60
= 16.6 ms 

T = R. C. ln 1

1�p  →   16.6 × 10�3 = R × 0.5 ×
10�6 ln 1

1�0.33
          →             R =  81.8 KΩ 

C�~�)17(:  2���3 ���� �*PUT  ��+ (�� (*�*B.� S5�Y� : �c.��� 

 ���Q� (�
�n  : 

 ���Q� (Sf  
T : 

 
 �
� ) n = B3B2tB3

=  15

15t30
= 0.33 



                                                                            ����� ��	
���
�67 

 

 

S)T	 � 	R1. C1. ln 1

1�p � 1� 106 � 0.2� 10�6 � ln 1

1�0.33
�

81	ms 
F = 

1� � 1

81�10X3 � 12.3	Hz 
C�~�)18(:  ���� �*PUT  ��+ >�� (�� (*�*B.� S5�Y� : �c.��� 

 2+�= �. i�, W��

 (�
�C : 
 2��+ (S=u���  ���O 2�� ���A +� ��A �5����� 2�� i�,S . 

 
 

 (�
�PUT  g�
� �	��+��*5�  (+��	� �A �	, W��

 �OV©  +�V�  . ���A ��'�A 

V� �	VB3 � R3R2 4 R3
� VA � 20

204 39
� 40 � 13.56	V 

 i�, W��

 : 13,56 + 0,6 = 14,16 

(S 

n	 � R3R2 4 R3
� 20

204 39
� 0.339	 

T	 � R1. C. ln 1

1. n � 220� 103 � 0.033� 10�6 � ln 1

1. 0.339� 3	ms 
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1-16-4-  l��*1 

 

 
) >��1-522, �ZH'� ����� 
 l��* 2��
� ( 

 2, q�Q��� B��� W��

 
 *���	 B�4 ���] �O B.� �O���� X7�
 �* l��* 2��
�

 qO�����A  2��
� g�� ��O (5�	 .�A�g&�5�  W�e�

 �e4� �O B.�MT1  �eA Bce�	

MT2  *
�� �A30  B���V 
 (�� g�
� l��* % �.�A B

����O  &�5� g�� �* .

 *
�� l��* �. 
* W��

 B3�24  B

�����A  
�V��)��O  W��

MT1  �eA Bce�	

MT2 �A(+��	�  *
��30-  % �.�A B

 +� 
 (�� g�
� l��**5e=  2�e��: �� �5ec�

���V* .  *
�� /�	 B
�� g�� �*24-  ���7 2, �. 
* B

e��4e�*�  �eA �e:5� �eA .

2,�O  B���V y�< 
* +� l��* 2��
�����O  
���	�5� h
�]�VR  �� �e@�� 
 Bc~�

 2��
� g�� �\
 % ��O ��
5�o.������g  l���� B�4 2���3 R��A 2��
������A  . 

                                                   
١  - Diac 
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1-16-5-  ���*1 

 ��eA �.
* W��

 ��*�Q� % l���� B�4 i�, ��
�+ ���s� �A �O B.� �V�)�.* ���*

 l���� 
 (��t ��+ ���� �*)>A�7s���� �����A  �:
�= W��

 ���s� �A .��2�5�  2�5�

 �* �e�	5���V *5e:
 ��+�eA �* *5e:5� R�V���* C���� .*�* ���s� �� �:
�=2,�eV 

�����A  ��	5���V *�v�� +� R��45�: R��A��2�5� . *�O �3��� 2, �A ����3 �� 

 
) >��1-53(���* ����) l��* +� (*�@�.� �A l���� i�, ���� ( 

 

 

 

                                                   
1 - C���O2�5� (���O 



 



 

:�
* >Z3 

�5����� 25�.��5�O 

2-1- 25�.��5�O 

 (�4�V ���O �A Bc�	 �	, W��

�5�����  ���A Bc~�
  �eA oe.��� 2�e��: h
�e] ��

B�4– ���O 2, g�
� %*5� C������*5� .��)�V��O  [�V B�4 ���] �� g�
� �5�����

 2, �5�e���� 2*�eO k5��= (�� �9�� 
 *���	 2, 2�� k5��= �� 2�	�� g�
� �* �'Q	

 2���: +� ���O 2, q�Q��� B���V 2���: �O B.��)	(�	��* ) ®̄  ( . *5� 

 k5��= >��*��* ��e	 25�e.��5�O �5�e���� 2*�O 
 �eA��O�5<  ��e.* 
* �eA

 q��Q���*5� : 

1(         ���c< 25�.��5�O2R��c:� 25�.��5�O ( 

2-2-���c< 25�.��5�O 

��5��*��O R�5����� ���� R*
�
 r5� >��  r5e� >�e� �e� %AC  2��eQ��

 Bc~� ���O �A Bc�	 �	, W��

 % Bc~� >��. q�	 �* % ���A�����A  �V �* g���A��A .


�+���R  ge�
� �5����� *5� C���� B�4 �A 2���3 h
�] �O��*5e�  .��e)�V��eO 

 ��
�+ �� *5� g�
� �5�����°  ��
�+ �* 
 (*5�	 B���V° �	, W��

 �O– �@� �A ���O

 �@�� ��A 
���.�  k5��e= �5����� 
 (��.� �@� �A �5����� 2���: %��*5e�  .

 25�.��5�O �� �5����� 2*�O k5��= k
� g�� ���c<������	  ���� . W��

R*
�
 

����  �5����� 2�� k5��= ���A��*5�  �A 
V�[�	54  ����R�)�* 	 +��	�����A  . 
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�5����� 

 
) >��2-1R�5����� ���� ( 

 
) >��2-2 >�� (r5�R�V �5����� ���� �:
�= 
 R*
�
 

2-3-R��c:� 25�.��5�O 

 W�e�

 �e� R�5�e���� ���e� R*
�
 r5� >�� �4�DC  2�e�+ �* (�e4�V �e��A

�H'�B�4 �A 2���: h
�] %  g�
� �5����� q��O C������*5� �e��] 25e1 �e�� .

 B�4mu���R  �5�e���� g���A�e�A . *���e	 �5�e���� 2�e� k5��= �� 2�	�� g�
� �*

�A�5< 	 k5��= % ���c<��*5� ���A 
  ���O R�V�5����� >��� �3��� &����� +�

 �A (���V2��
�R�V �� 2*�O k5��= R��A 2+�= 
 ��. (*�@�e.� ���e� ��e�� �5���

 . *5�	 �A R��c:� 25�.��5�Ok
��VR  �@��H����	�5�  *5� ��v	�: 

1      R*5= 25�.��5�O ( 

2�A�� 25�.��5�O ( 

3���'� h
�] 25�.��5�O ( 

4>��� 25�.��5�O ( 
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2-3-1-R*5= 25�.��5�O 

 �A �5����� % 25�.��5�O j5	 g�� �* k5��= ���� ���c< &�ZH'� B����*5e�  .

���)�V�O  g�
� �5����� % �H'� 2��+ �*��*5�  �eO (*5A *��+ ��. h	��p�� ���A�

c��� 2��+ B�\4 �A|�  qO��*5�  >e�� 2, h���eA 2+�= h	��p�� 
���e�O  2�e��: .

 >�� TA�Y� ����2-4  q��/O�� ��] �A �� ��3�� i��/3����.� .  qeO 2���: g�� hp.

 �� (���	��+  *5e� >��O W��� 2+�= �O % �@e� �eA ���e� 2�e��:e���e.�  �5�e���� 


 k5��=��**�4  ����-] 2*�O �5� R��A . 2+�= >�� TA�Y� (�� W����e�+  R*
�
 %

 C�Z�� qV �A �� ������q�V*  g�
� �� �5����� 
��q��O  . *5e� �5e� W�e�

 B9: ��

 2���: �O �	��+ �5����� % �.�A �@� �A B
�� g�� �* 2+�=|�*�v�  k5��=��*5�  . 

 
) >��2-3R*5= 25�.��5�O ���� ( 

 
) >��2-4 >�� (r5�R�V 2+�= W��

 
 2���: 

 ���9�� �A R*5= 25�.��5�O|t5���  (*�@�.� ���O >�� �*��*5�  ��e�+�ez	+� 

 ��A ����LC  25�e.��5�O j5e	 ge�� +� . *��* *5e:
 ���O�eA2�5��  8�e.� 
 �e��]

 (*�@�.� �)�* R�V g�.��5�O��*5�  . 
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2-3-2- �A�� 25�.��5�O 

 
) >��2-5 (�A�� 25�.��5�O ���� 

 �* �A�� 25�.��5�O ����±²  Xec�� W�e�

DC  R*
�
���e��A  .�1  �5�e����

 ��A ��\s� 2, �@�6
 
 (*5A ���� ���������A .  *5�*³´  % B.� *�+, i=�1 *5�*

.  �e��A ��e��* �@�. B���= ��A �O ���5� �* *5�* g�� *5:
 �Amue���R  >e�� �*

 25�.��5�O*5:
 �A ��	*�
,  R�V�5����� g��^�V .�2  
�3  2+�=C  ��e. 
L 

5�.��5�O �/:� 2������A A ���� *����� (5�	 .g�� ;�� �����A : 

 ��3 ���A���q��O  2+�=C  (�� (*�* 2�'	 ����-] �A�*  >��2-5  (�e� W���

% �H'� 2��+ �* . ���ABe�4  �5�e�����1  �� ge�
� �5�e���� ge�� % (*�* 2�e��3

��*5� 
  2���:®́ Xec�� Te��< +� �5����� g�� U.5� ��A ±²  �ue��g ��*5e�  .

 �5����� q�V�5HA (�4�V�1  �5����� B�4 % q��O k5��= ���2  ge�� % (*�* 2���3 ��

 g�
� �5�������*5�  2+�= 
C  �5����� �. 
* �@�� ����-] �A�1  ���7��*��4  .

 �5����� �. 
* �@�� W��

 g�3�4 ���7�1  2, 2�e� k5��= ���A��*5e�  �e��	 .

q9�  2+�= B�3�6 �O B.� 2,C  �A ���A(+��	��R ��A ��/A k5��e= +� >ec7 �eO �

 �5����� >��O 2���1  2+�e= hpe. . *5e'	 >e��O W���* 2+�= g��C  Te��< +�

 �5������2 
 (�� W���* ��A  Bc~� W��

 ��±µ  W�����*5e�  .���)�V�eO  2+�e=

 �@� �A 2, 2���: % �� >��O W������.�  �5����� 
�2  k5��e=��*5e�  C�e� .

= ��

� ��3 �A ��	, R��A �5�e���� % q�.�A 2+�= ����-] *�5� �* *5�3  ge�
� ��

��q��O  �5����� >��� ���� .�3  2+�= 
 ��. %�����A  25�e.��5�O ���� X7�
 �*
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 (*5A R*5= *�ev�� �e�

� ��e3 Tc< �� 2+�= ����-] �O���e�O  �5�e���� 
�3  +�

 k5��= R*5= 25�.��5�O T��<��*5� : �A B.� �A��A 2+�= W��

 ���Q� . 

±¶ � ±µ � 1·Q ®́ ¸¹º»¼¼
0

�  ®́· Q ¸¹º»¼¼
0

= ®́ ¹½¾¾·     →     ¹½¾¾
= ·±µ®́  

C�~�)1(:  Xec�� W��

 �A�� 25�.��5�O ���� �* �O ���5� �*±² = 100  Be



 �A��A 
 �
�= ���
�Q� ��A 
 ���A25  B���eV Be
�� W�e�

 Be3� �^	��1 . ���A qV�

 �5������1 % 2/1  2+�= 
 *5� ��3�4 �z	 �* B

C  (+��	� �A70  (�e� W��e� B



 ���A
  2��+�1  ��10 ����	�m��  �� �+t 2+�e= Be�3�6 >7��e� q���)A �z	 �* �eA

B.*  . ���
, ¹½¾¾ = ·±µ®́  

®́ = ±²¿ =  100 − 1.2
25

= 3.9À · =  º»¼¼×ÁÂÃÄ =  10×10X3×3.9
70

= 0.55 ÅÆ   
2-3-3-25�.��5�O  ���'� h
�] 

 
) >��2-6 (���'� h
�] 25�.��5�O ���� 

���� �* ���'� h
�] 25�.��5�O±²   Xc�� W��

DC  R*
�
�����A  2���: �O

� �� ��Au g������O  �5����� .�1 e� 2, �e@�6
 
 Be.� ���e� ��e�� �5�e����u g��
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�5����� 

 2���:®́  ��A�����A  *5�* .³´  %�* *�4+�V *5�* �� *�+, i=�1 *5�����A  �eO

 +���mu�  R��45�: 25�.��5�O >�� �* ��A �@�. B���=����O  R�V �5����� .�2 

 
�3  g��^�V 
L  
C  25�.��5�O �/:�������A. 

  ���� *����� (5�	) >��2-6 ( 2+�e= �eO B.� &�5� g��AC  �e���-] Tec<

 (�� (*�* 2�'	 >�� �* ��3 %��*5�  �H'� 2��+ �* . ���A (�� W��� ���A� �*

 �5������1  g�
� ����q��O  �e�\s� 2, Te��< +� ��A 
��*5e�  q�V�5eHA (�e4�V .

 �5������1  �5����� ���A % q��O k5��= ���2 � �* . q��O g�
� �� % ��. B
�� g�

 �5����� 
 2+�=�2  �� R*5= 25�.��5�O ����*5:
 �A  
 (*�
,®Ç2
  *�e�+��*5e�  .

 ��+ �YA�� �A �:5� �A �\
 %®Ç1
   qO��*5�  . ®Ç1

4 ®Ç2
� ®́  

 �O �	��+®Ç2
  �A®́  2���: % ��.�®Ç1

  �e�5��= 2��+ (+��	� �A �4� 
 (�� �@�

 �5������1  %®Ç2
  +�®Ç1

 ��/A�� ���A %  �5�e�����1  k5��e=��*5e�  2+�e= 
C 

���)�V�O  B9: �*� >��O W��� h�� �5����� % ��2  25�e.��5�O Te��< +� /e�	

 k5��= R*5=��**�4 ��	, R��A C�� . B
�� �A �� 2+�= ����-]

����R  ��e3 �O

(*�O��q  �5����� % q��
, �*�3  g�
� ����q��O ��A . �5����� >��� ���� g���A�3  %

 �5� �� 2+�= ����-] ���Q� �O (*5A R*5= 25�.��5�O ���� 2+�= 
 ��.����O  .

 ��

� ��3 �A g���A��A��.��q . ±¶ � ±µ � 1¶ L ®́ ¸¹º»¼¼
0

�  ÁÂ¶ L ¸¹º»¼¼
0

= ÁÂº»¼¼¶ →  ¹½¾¾ =¶ÃÄÁÂ    

 2�'	 P53 �YA�����V*  W�e�

 
 2+�e= Be�3�6 �eA �5�e���� ��5��= 2��+ �O

�* . *��* he�� Bce�	 ��A 2���: �A 
 *��* q�Q��� �YA�� 2+�= ���e�  25�e.��5�O

���'� h
�] ������] X  ���A�g&�5�  �������q��O : 

X = 
���'� 2���: ��]

��A 2���: ��]
= ÁÈÁÂ =  Ã0ÉÊËÁÂ  
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�5c� T3�5� 2���: iV�O R��A >�� �* �5����� +� R�1  ���eQ� ���A % �@� ��X 

 �� +���/A��  �* . ���A���<��V |t5���  % ���� U���� o���AX  g�eA ��3/1  �e�

5/1  �z	 �*��4���q  . 

 2���: ���Q�>A�7>���  �5������2  �5����� +� ��'�A�1  ge�� ���eQ� �eO B.�

 ���Q� �A��A i��/3�X �����A  . 

C�~�)2( :��5��*��O  % ���'� h
�] ���� �*X  �A��A35/1  �A��A ��A 2���: 
10 

 �5����� 2���: ��] % *5� ��3 �p�,�2  ��B.* �A ���
,.  ���Q� �^	��1±0  �eA��A

50  �A��A 2+�= B�3�6 
 B

10 
����  �� �+t ��e. h	��O
�e	� % *5� ��3 *���3

 . �����	 �c.��� 

X  =  ÁÈ ÁÂ  →   ®Ì = Í®́ = 1.35 × 10 = 13.5 À 

X  = 
Ã0ÉÊËÁÂ   →   Í®́ =  ±0É¶Î    →  É¶Î = ÏÁÂÃ0

  →  ¶Î =  Ï2ÁÂ2Ã0
2  Ð =  ¶Ã0

2Ï2ÁÂ2 =  
10×10X6×950:291.35:2910:2  = 0.137 ÅÑ 

2-3-4- >��� 25�.��5�O 

 
) >��2-7 (>��� 25�.��5�O ���� 

�5z�� �A ��A 
* g�A 2���: C�Q�	� % +���� (*�@�.� >��� 25�.��5�O ���*5� . �*

���� �� 2�� g�
� >��� 25�.��5�O �����)�* �5����� 2�� k5��= ���A �5� 

��*5�  ���� *����� (5�	 .�A�g&�5�  �O B.���7
  �5������1 � g�
�� %  ��eA ¿1 Xc�� �A ±²   ��\s� 
 (�� >Z����*5�  2+�= 2��+ qV .C  Be�
�Q� T��< +�
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�5����� ¿2  W��

 ��±²  W�����*5�  .���)�V�O  �5������2 � g�
��5����� % ��1  U.5�

 k5��e= �A�� 25�.��5�O k
� �A 
 ��3�4 ���7 85��� 8���A �* (�� W��� 2+�=

��*5�  �5����� 2�� XY7 �A .�1 %  B�
�Q� T��< +� 2+�= W��

¿1  �5����� 
�2 

 �A±²- ���.�  ���	��+  �O �5������1 |�*�v�  
 *5� g�
� �5�e�����2  k5��e=

��*5� 
  �A ����� >��. g�� &�5� g��A��*5�. 



 

: �5. >Z3 

5���  �V+�. 
3-1-  �V+�.5��� 

5���.r5� >�� �O ����V ������� �V+� AC r5� >�� �A ��  >��c� ��9: ��

�����O  .�A��O�5<  q�e�Q� ��e.* 
* �A +�.5��� &�����e���	5e�  C
� ��e.* :

�V+�.5��� +� ��.* g�� �* . ����V (�'	 C���O R�V+�.5���%  R��eA *5�* 2��
� +�

��R+�.5.  (*�@�.���*5� ���A��A . �:
�= W��

 R
� �
���O g2,�V  q����	 �e�� .

 R�V+�.5��� �
* ��.*C���O(�e�     ����e��A  ge�� �* .���V+�e.5.  2�e�
� +�

 >�� R��A *5�* R�: �A �5�������R+�.5.  (*�@�.���*5� .  ie�, ��
�+ ���s� �A

 �V�5�������2�5� &��2��+  B���V2,�V  
 *5�	 C���O ���A�g&�5�  W�e�

 ���Q�

 . *�* ���s� �� �:
�= 2�5� �v��	�* 
 �:
�=���eO�V  ge�� +����V+�e.5.  
* �eA

 q��Q� +�3 �. 
 +�3 �� ��.*���	5� .  ��.* 
* g�� /�	 
 r5e� q�e	 >�e� 
* �A

 r5� �������	�5� q��Q� . *5� 

 ������] R���* +�.5��� &�����R�V  ����:� �O ����V&��c��	� : +� 

3-1-1- W��

DC  �:
�=)�

  : ( 

 W��

 ���Q�DC  �:
�=�����A . 

3-1-2- 2���:DC  �:
�=)�

  : ( 

 2���: ���Q�DC  �:
�=�����A . 

3-1-3- 2�5�DC  �:
�=);��  : ( 

 2�5� ���Q�DC �:
�= r5� >�� �����A  �c.��� ��+ �YA�� +� �O��*5� : ;�� � ±�� � ®�� 
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�V+�.5��� 

3-1-4- W��

:
�= �mn��  )���� : ( 

 � ���Q�n �:
�= W��

 r5� >�� �m�����A  . 

3-1-5-� 2���:n �m �:
�=)����  : ( 

� ���Q�n �:
�= 2���: r5� >�� �m�����A . 

3-1-6- 2�5�ac  �:
�= )��
  : ( 

 2�5� ���Q�AC  �:
�=�����A  �c.��� ��+ �YA�� +� �O��*5� : ;Ò� �  ±Ó´Ô × ®Ó´Ô 

3-1-7- ) 2���	��ƞ  : ( 

 2�5� Bc�	DC  2�5� �A �:
�=AC  2���	�� �� �:
�=�5�� (�e��O     e��

����	  �O B.� R����� g��^�V . �� 2���� g�����V*  �eO�5e�� (�e��O �� �ez	+� 

 ���. �A �����O���V+�.5.  q��O ����Q��O |t5��� o���A  2��A ���*��*5� . 

ƞ % = ;��;Ò�  × 100  
3-1-8- W��

ac  �:
�=)��
   : ( 

� ���Q�n �@
AC  �c.��� ��+ �YA�� +� �O B.� �:
�= W��

��*5�  : ±Ò� = É±Ó´Ô2 − ±��2 

3-1-9-) >�� o���FF
1 : ( 

 * 2�'	 R��A R����� �:
�= W��

 B���
 2*������A  ��+ �YA�� +� 
Be.* �A 

����, : ÖÖ = ±Ó´Ô±��  

                                                   
١  - Form Factor   
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3-1-10-) >p�� o���RF
1 : ( 

 �:
�= r5� >�� r�:5�� �� >p�� 2�/�� 2*�* 2�'	 R��A R��������e��A  +� 


 ��+ �YA��B.* �A ����,  : ¿Ö =  √ÖÖ2 − 1 

3-1-11- ) �5����5@�	��� +� (*�@�.� o���TUF
2 (: �ØÖ =  ;��±²®² 

 P53 �YA�� �*±² 
 ®²  % �5����5@�	��� +� >c7 2���: 
 W��

������A  . 


�� �* B(���C, : q���* 

ƞ % = 100 %       %    TUF = 1      ±Ò� = 0    %     FF = 1     %     RF = 0 

 R��A �� ����:� R�V������] C���5�� (���O�VR  �e��H�Be.* �eA e���
,e�q. 

��Q1�V  B
�� �A ����:� R�V������] g��(�e��C, */	e���� e��A��*�e���� % �5e�� 

(���O o.����� �����A . 

3-2- +�3 �� r5� q�	 (���O5��� 

 
) >��3-1 ���� (�5�� (���O +�3 �� r5� q�	 

                                                   
١ - Ripple Factor 

٢  - Transformer Utilization Factor 
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�V+�.5��� 

 
) >��3-2��A 2���: 
 *5�* �:
�= % R*
�
 R�VW��

 r5� >�� ( 

 >�� ���� �*3-1  Bec~� *5e�* �e��O �A Bc�	 �	, W��

 Bc~� >��. q�	 �* %

B.�  g���A��A  >Q��� �:
�= �A Bc~� >��. q�	 g�� 
 (�� g�
� *5�*��*5e�  .

 �@e� �A��A �:
�= W��

 
 (*5A k5��= *5�* % �@�� >��. q�	 �*��*5e�  25e1 .

 2�e�
� �e� *5e�* 2��
�C���O(�e� 	���e��A  % Bec~� >��e. q�e	 �* g���A�e�A %

�A*5=*5=  ��
�+ �* 
 (�� g�
�° k5��= ��*5�  .�eV������]R ��:�e� /e�	 2, �

�A&�5�  ��+B.* �A ����, : ±² �  ±́ ÙÚÛ Ü¹ 

±�� =  1� Q ±́ ÙÚÛ Ü¹. ¸¹Ç
2

0
= ±́° = 0.318 ±́  

®�� = ±��¿ =  0.318 ±́¿  

;�� = ±�� × ®�� =  90.318 ±́ :2¿  
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±Ó´Ô � Ý 1� Q 9±́ ÙÚÛ Ü¹:2 . ¸¹Ç
2

0
 Þ

1
2 =  ±́

2
= 0.5±́  

®Ó´Ô =  ±Ó´Ô¿ =  0.5±́¿   
;Ò� =  ±Ó´Ô × ®Ó´Ô =  90.5±́  :2¿   
ƞ  % = ;��;Ò�  × 100 =  90.318 ±́¿ :2

90.5±́  ¿ :2
 × 100 = 40.5 % 

ÖÖ = ±Ó´Ô±�� =  0.5±́
0.318 ±́ = 1.57 ¿Ö = √ÖÖ2 − 1 =  k91.57:2 − 1 =  1.21  ±Ò� = É±Ó´Ô2 − ±��2 =  k90.5±́ :2 − 90.318 ±́ :2 = 0.38±́  

±² = Ý 1� Q 9±́ ÙÚÛ Ü¹:2 . ¸¹Ç
2

0
 Þ

1
2 = 0.707±́  

®² =  0.707±́¿  

�ØÖ =  ;��±²®² = 0.286 

 R��A�5�� (���O�VR  % 2���e	�� ��*�Q� (�'	 C���OFF  %RF   
TUF  R��eA

 �V�5�� (���O  BA�m ���Q� �������A  . 

C�~�)1:( 	 (���O 5��� ���� �* �^	��1 R*5�* +�3 �� r5� q�±́ = 100 ±  

 
R=10  ���A qV�B.� S5�Y� : 

 >�� q.� (�
�r5��VR ±²  %±Î  
®Î �A�5< . T�7* 

 �c.��� (S±��   %®��  %% ;�� ±Ó´Ô  %®Ó´Ô  %;Ò�  %ƞ   %FF  %RF  %±Ò�  


TUF  
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�V+�.5��� 

 ±�� � 0.318	±́ � 31.8	± ®�� � ±��¿ �	 31.8
10

� 3.18	À ;�� � ±�� � ®�� � 31.8	 � 3.18 � 101.124	< ±Ó´Ô � 0.5±́ � 50	± ®Ó´Ô �	±Ó´Ô¿ �	 50

10
� 5	À ;Ò� �	±Ó´Ô � ®Ó´Ô � 	50	 � 5 � 250	< 

ƞ		% � ;��;Ò� 	� 100	 � 40.5	% 

ÖÖ	 � ±Ó´Ô±�� � 	1.57 

¿Ö	 � √ÖÖ2 . 1 �	k91.57:2 . 1 � 	1.21  

±Ò� � É±Ó´Ô2 . ±��2 �	k950:2 . 931.8:2 � 38.58	± 

�ØÖ	 � ;��±²®² � 0.286 
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3-3-�5�� (���O  ��A �A R*5�* r5� q�	RL  

 
) >��3-3 (�5�� (���O  ��A �A R*5�* r5� q�	RL 

 

 �*�5�� (���O �e�V� ��eA �eA r5� q�	- ��eA W�e�

 
 2�e��: 25e1 % �@�e. 

qV+�ee3 	����ee��A 
 +� 2�ee��: 
 W�ee�
oeeQ��� % Bee.�  >��ee. q�ee	 �* g���A�ee�A

 B���V *5�* �O Bc~����e�O  �e�
�+ �eA �e�7
 %° e��e.��q  +5e�V 2�e��: %

 (�'	 �@�%  
 (*5e�	 B���eV /e�	 �e@�� >��e. q�e	 �* *5e�* �\
���)�V�eO 

 �@� �A 2���:e���e.�  k5��e= /e�	 *5e�* %��*5e� 

 
 �@e� �e:
�= W�e�

��*5ee� >�ee� g���A�ee�A .r5��eeVR �5ee�� (�ee��O  �ee�V� ��eeA �eeA r5ee� q�ee	– 

 �@�.�A&�5�  ��+�����A : 
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�V+�.5��� 

) >��3-4 ( >��r5��VR �5�� (���O  ��V� ��A �A r5� q�	- �@�. 

 ��
�+ �� *5�*° 4 ß  B���V����O .  2�/e�� % ��eA �@�e. B�e��= i��/e3� �eA

 ��
�+ ���� �@�� >��. q�	 �* *5�* B���Vß  i��/3�����eA�  W�e�

 ���eQ� .DC 

 : �A B.� �A��A �:
�= 

±�� �	 1

2°Q ±́ ÙÚÛÜ¹. ¸¹àtá
0

� ±́
2° l1. 1âÙ9° 4 ß:o ß � 	 ¹ãÛ�19ÜÐ¿ :					
						Ü � 2°Ö 

 W��

 �
*��� +�DC �AB.*(��,  �v��	��4���q  �e�
�+ i��/3� �A �Oß  ���eQ� %

 W��

DC  
 �:
�=�	�*��v ;��  
ƞ ��+�.5.  iV�O����A�  �e�	, �A �:5� �A .

 
 >�e'� ge�� >e� R��eA % *��* �@�e. B�e��= ��A % *��5� +� R����A �* >�� �*

 2�5� iV�O +� R��45�:DC  �e�+ >�e� TA�eY� %+�  �e� *�+, i=�e1 *5e�* *5e�*

 (*�@�.� *�4+�V��q��O  &�5e� ge�� �* . �e�7
 �e�
�+ �*°  ���e� ��e�� *5e�* %

 k5��=��*5�  2�5� ���Q� %DC  ���eQ� 2�e�V 2�5e� ���* �� �e�V� ��eA���e��A . 

 *�+, i=�e1 *5e�* ��e�� +� ��eA �@�. B���= +� ���	 2���: qeO 
 (*�eO �5ec�

��*5�  �@� �A �����.�  . 

 
) >��3-5 (�5�� (���O  ��A �A R*5�* r5� q�	RL *�+, i=�1 *5�* 
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) >��3-6 ( >��r5��VR �5�� (���O  ��A �A r5� q�	RL *�+, i=�1 *5�* 
 

C�~�)2:(  ���� �*��+�.5.  R*5�* +�3 �� r5� q�	��5��*��eO 311 ±́ � 

B

  h	�O�3 �A50  /��V 
 ���Ay�Z�(���O  �5�5� ���A  B���= �@�.10  �e���

 B�
�Q� 
 R�	�V100  qV����A . B.� S5�Y� : 

 �c.��� (�
�ß  W��

 ���Q� 
DC . �:
�= 

 >�� q.� (Sr5��VR ±²  %±Î  
±ä . Ü � 2°Ö � 2� 3.14 × 50 = 314 Ñå ß =  ¹ãÛ�19ÜÐ¿ : =  ¹ãÛ�1 æ314 × 10 × 10�3

100
ç = 1.798½ ±�� =  1

2à L ±́ ÙÚÛ Ü¹. ¸¹ = ÃÂ
2à [− 1âÙ9° + ß:] =àtá

0
311

2×3.14
[1 − 1âÙ9180 + 1.798:] = 99 ±  
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 �* *5�* +� ��A �4���+�.5.  &�5� g�� �* *��4 ���7 W��

 Xc�� �� % r5� q�	

 ���� >���A&�5� ��+ ��*5�  *5�* B���V d�� 
% ±² � è �����A . 

 
) >��3-7 ���� (��+�.5. r5� q�	  �A (���VW��

 Xc�� �� 

±́ ÙÚÛ ß � è  →   ß = ÙÚÛ�1
è±́  

 ���)�V�O  ��
�+ �*é  �eA Be.� �eA��A 2, ���eQ� �eO° − ß  ���eQ� %±²  +�E 

�15O�� ��*5� %  k5��= *5�*��**�4  �	��+ ����3 �* g���A��A .ß < ê < é 

 ��+ �YA�� +� R���A (���O W��� 2���:B.* �A ����, : é = ° − ß   
    ±² < è   
     ß < ê < é    ÚÎ = ±² − è¿ = ±́ ÙÚÛ ê − è¿  

��Q1�V  ���Q� % *5� W��� ��'�A R���AE  ��
�+ g���A��A 
 (�� ��*��+ê  iV�O

����A� . 
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) >��3-8 >�� (r5��VR  ������+�.5. r5� q�	  

C�~�)3 :( ���� �*�5�� (���O  r5� q�	��+ >�� ��5��*��eO  R���eA W�e�

12 

 B

%  ��A B�
�Q�10 qV�  
50 ±́ �	  B

 ���A .B.� S5�Y� : 

 ��
�+ �c.��� (�
�ß  
é . 
 2���: ���Q� �c.��� (S®́   . 

 ß � ÙÚÛ�1
è±́ � 	 ÙÚÛ�1

12

50
� 13.88½ é � ° . ß � 180. 13.88 � 166.12½ ê � 	é . ß � 166.12. 13.88 � 152.24½ 

ÚÎ � ±́ ÙÚÛ ê . è¿ � 	 50 ÙÚÛ9152.24: . 12

10
� 1.129À 

3-4-�5�� (���O �� r5� ���� +�3 

�5�� (���O  >�� 
* �A +�3 �� r5� �������	�5� (*�@�.�*�5� : *��4 ���7 

1 –              U.
 �. h	��� +� (*�@�.�         2 –  R*5�* >] +� (*�@�.� 
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3-4-1-�5�� (���O �� r5� ����  U.
 �. h	��� +� (*�@�.� �A +�3 

 
) >��3-9 (�5�� (���O �� r5� ���� �. h	��� +� (*�@�.� �A +�3 U.
 

 
) >��3-10 >�� (r5��VR �5�� (���O �� r5� ���� +�3 

 U.
 �. h	��� +� (*�@�.� �A 

 

 

 



                                                                          ����� ��	
���
�91 

 

 

3-4-2-�5�� (���O 5� ���� r+�3 ��  R*5�* >] +� (*�@�.� �A 

 
) >��3-11 (�5�� (���O  r5� ����+�3 �� R*5�* >] +� (*�@�.� �A 

 
) >��3-12 >�� (r5��VR �5�� (���O  r5� ���� ��+�3 R*5�* >] +� (*�@�.� �A 

 ����:� R�V������] ���� �����5�� (���O  R*5e�* >e] r5e� �����e. h	��e� 
 

 5e��� 
* �eV �e:
�= 2�e��: 
 �:
�= W��

 ���Q� g��^�V % (*5A 2���� U.


 (���O /�	 2���������A  . 

&
�@��V�� �z	+�  g�A R*�A��O�5�� (���O  R*5e�* >e] 
 U.
 �. h	���e��

2�5�  ��+ ;�� �A �O B3�4 �z	 �*�����A : 

1 (*�@�.� �. 
* �
5��� h	��� +� R*5�* >] (���O 5��� �* (��*5�  .
���*�

�O  ���� �*�5�� (���O � U.
 �. h	��|���/
� h	��� +� ���A �.  �O *5� (*�@�.� �.

 qV�z	+�  R*�Z�7�/V�]�����  
/�	  8��.* �* ���O�����A . 
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2 �* ( +� R*5�* >] (���O 5��� ����4  q�e	 �eV �* 
 Be.� (�� (*�@�.� *5�*

�V *5�* 
* >��.�� B����O  qe���* W��

 B3� 
* g���A��A . .
�e��*��eO  ���e� �*

 +� U.
 �. h	��� (���O5���2  (*�@�.� *5�*��*5�  �� UQ3 >��. q�	 �V �* 


 B���V *5�*����O  . 

3� �O �.5��� W��

 B3� ( R
*��V*5  ���e7 R*5e�* >] ���� �*��*�e�4 ±́- 
�����A 
���*��O  R
� W��

 B3�*��V*5  �*�5�� (�e��O  �eA��A Ue.
 �e. h	��e� .2±́   �����A  . 

 ����:� R�V������]�5�� (���O : +�3 �� r5� ���� 

±�� �  2� Q ±́ ÙÚÛ Ü¹. ¸¹Ç
2

0
= 2±́° = 0.6366 ±́  

®�� = ±��¿ =  0.6366 ±́¿  

;�� = ±�� × ®�� =  90.6366 ±́ :2¿  

±Ó´Ô = Ý 2� Q 9±́ ÙÚÛ Ü¹:2 . ¸¹Ç
2

0
 Þ

1
2 = 0.707±́  

®Ó´Ô =  ±Ó´Ô¿ =  0.707±́¿   
;Ò� =  ±Ó´Ô × ®Ó´Ô =  90.707±́  :2¿   
ƞ  % = ;��;Ò�  × 100 =  90.6366 ±́¿ :2

90.707±́  ¿ :2
 × 100 = 81 % 

ÖÖ =  ±Ó´Ô±�� =  0.707±́
0.6366 ±́ = 1.11 ¿Ö =  √ÖÖ2 − 1 =  k91.11:2 − 1 = 0.482 
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 ��*�Q��AB.*(��,  �A ����Q� �* ��*�Q��5�� (���O  2�'	 r5� q�	���V*  �eO

 �V������] g�� �A B
��(���C, */	���� ������A >�� �* g���A��A .|t5e���  +��5e�� 

(���O *�@�.� r5� ���� (��*5� . 

C�~�)4:(  +�3 �� r5� ���� (���O 5��� ���� �*��5��*��O ±́ � 100  
 B

R 

= 10  ��A qV� . �B.� S5�Y�  >�� q.�r5��VR ±² %±Î   
±ä  : �O ���5� �* 

 +� (�
��5�� (���O . *5� (*�@�.� R*5�* >] 

 +� (S�5�� (���O  . *5� (*�@�.� U.
 �. h	��� 

 ����:� R�V������] ���O g��^�V (0�5�� (���O  ��B.* �A  . ���
, 

          
   �5�� (���O R*5�* >]                �5�� (���O U.
 �. h	��� 

±�� �  2� Q ±́ ÙÚÛ Ü¹. ¸¹Ç
2

0
= 2±́° = 0.6366 ±́ = 63.66 ± 

®�� = ±��¿ =  0.6366 ±́¿ = 6.366 À 

;�� = ±�� × ®�� =  90.6366 ±́ :2¿ = 405.25 < 
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±Ó´Ô � Ý 2� Q 9±́ ÙÚÛ Ü¹:2 . ¸¹Ç
2

0
 Þ

1
2 = 0.707±́ = 70.7 ± 

®Ó´Ô =  ±Ó´Ô¿ =  0.707±́¿ = 7.07 À  
;Ò� =  ±Ó´Ô × ®Ó´Ô =  90.707±́  :2¿ = 499.85 <  
ƞ % = ;��;Ò�  × 100 = 81 % 

ÖÖ =  ±Ó´Ô±�� =  0.707±́
0.6366 ±́ = 1.11 ¿Ö = √ÖÖ2 − 1 =  k91.11:2 − 1 = 0.482 

3-5-�5�� (���O�VR  +�3 �. 

3-5-1-�5�� (���O  r5� q�	 +�3 �. 

 
) >��3-13 ���� (�5�� (���O r5� q�	 +�3 �. 



                                                                          ����� ��	
���
�95 

 

 

 
) >��3-14 >�� (r5��VR R*
�
 W��

 

*5�* W��

 
 ��A W��

 �5�� (���O r5� q�	 +�3 �. 

 +� (*�@�.� >�
*�5�� (���O�VR : +�3 �. 

� R��Au g��&��7�VR  t�A R��A )y�Z�(���O�VR  *
��10  ( t�eA �A &�
 5��O

 �+tB.�  +��5�� (���O �	�5�A �� *5� (*�@�.� +�3 �.  &��7	*�5��+� y�Z�(���O 

� ��u. ��O g�� 

 ����:� R�V������]�5�� (���O  �A Bc�	 +�3 �.�V������]R  �eA +�e3 �� ����:�

 B
��(���C,  ����A*/	���� �����A  . 

 *����� (5�	�5�� (���O�VR r5� q�	 +�3 �. �A�g&�5� B.�  �OV *5�* � �*

 �	��+ ����3120  B���V �:�*����O  Bce�	 �eO R*5�* �	, W��

 % 2��+ �V �* 


 ��QA +� 2, ���O �A�V+�3  B���V *5�* ���A ��'�A����O  ge�� �e���:� R�eV������] .

 ��+ &�5� �A (���O5��������A : ±�� �  0.827 ±́  ®�� = ±��¿ =  0.827 ±́¿  

;�� = ±�� × ®�� =  90.827 ±́ :2¿  ±Ó´Ô = 0.8407±́  
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®Ó´Ô �	±Ó´Ô¿ �	 0.8407±́¿ 	 
;Ò� �	±Ó´Ô � ®Ó´Ô �	90.8407±́ 	:2¿ 	 
ƞ	% � ;��;Ò� 	� 100	 � 96.6	% 

ÖÖ	 � ±Ó´Ô±�� �	0.8407±́
0.827	±́ � 1.016 

¿Ö	 � 	√ÖÖ2 . 1 �	k91.016:2 . 1 � 0.179 
 �eeA g���A�ee�ABee.* �eeA  2*�
,�eeV������]R  �Hee'� �ee���:���*5ee�  gee�� �eeO

 B
�� �A (���O5���(���C,  ����A*/	���� �����A  . 

C�~�)5:( e� q�e	 +�e3 �. (���O 5��� ���� �* �e^	��1 r5±́ � 300  
 Be

 ¿Î � 100  : B�A5�Y� . ���A qV� 

 >�� q.� (�
�r5��VR ±²  %±Î  
±ä . 

 ��*�Q� �c.��� (S±��  %®��  %;��  %±Ó´Ô  %®Ó´Ô  %;Ò�  %ƞ  %FF  
RF . 

 ±�� � 	0.827	±́ � 248.1	± ®�� � ±��¿ 	� 2.481	À ;�� � ±�� � ®�� � 248.1� 2.481 � 615.536	<	 ±Ó´Ô � 0.8407±́ � 252.21	± ®Ó´Ô �	±Ó´Ô¿ � 	2.5221	À 
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;Ò� �  ±Ó´Ô × ®Ó´Ô =  252.21 × 2.5221 = 636.098 < 

ƞ % = ;��;Ò�  × 100 = 96.6 % 

ÖÖ = ±Ó´Ô±�� =  252.21

248.1 = 1.016 ¿Ö =  √ÖÖ2 − 1 =  k91.016:2 − 1 = 0.179 

3-5-2- r5� ���� +�3 �. >] +�. 5��� 

 5���(���O�VR  R��eA r5e� ���� >] +�3 �.y�eZ�(���O�VR t�eA &��e7 �eA% 

(*�@�.�*�5�  ���7��*��4  R�eV������] r5e� q�e	 +�e3 �e. (�e��O 5��� �A Bc�	 


:�� ���o.�����R . *��* 

 
) >��3-15 ���� (r5� ���� +�3 �. >] +�. 5��� 

 
) >��3-16 >�� (r5��VR  ��A W��

 %R*
�
 W��

 

 *5�* W��

 
 ����r5� ���� +�3 �. >] +�. 5��� 
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 5��� �*(���O�VR  *5�* �V +�3 �. >]120  B���V �:�*����O  2��+ �V �* 


 *��* ���7 B���V B
�� �* *5�* 
*.  B���V o����*��V*5  ��+ &�5� �A�����A : ³6³1 . ³5³6 . ³4³5 . ³3³4 . ³2³3 . ³1³2 

 W��

 ��*�Q�DC � W��

 
n �m�5�� (���O�VR  ��+ UA�
� +� +�3 �. >]B.* �A ����,: 

±�� �	 2
2°
6

Q √3±́ 1âÙ Ü¹. ¸¹à
6

0
� 3√3° ±́ � 1.6542±́ 	 

®�� � 1.6542±́¿  ±Ó´Ô � 1.6554±́  ®Ó´Ô � 1.6554±́¿ 	 
;�� � ±�� � ®�� �	 91.6542	±́ :2¿  

;Ò� �	±Ó´Ô � ®Ó´Ô �	91.554±́ 	:2¿ 	 
ƞ	% � ;��;Ò� 	� 100		 � 91.6542±́ :291.6554±́ :2 	� 100	 � 99.86	% 

ÖÖ	 � ±Ó´Ô±�� �	1.6554±́
1.6542±́ � 1.0007 

¿Ö	 � 	√ÖÖ2 . 1 �	k91.0007:2 . 1 � 0.0374 

C�~�)6:(  ���� �*��+�.5.  +�e3 �e. >]��5e��*��eO 300 ±́ �
 Be

 50 ¿Î � . ���A qV�B.� S5�Y�  ��*�Q� �c.���±��  %®��  %;��  %±Ó´Ô  %®Ó´Ô  % ;Ò�  %ƞ  %FF  
RF   ����	�AB.*(��, . ���O ����Q� >c7 C�~� �A �� ±�� � 1.6542±́ � 	1.6542� 300 � 496.26	± ®�� � 1.6542±́¿ � 	496.26	
50

� 9.925	À ;�� � ±�� � ®�� � 496.26� 9.925 � 4925.38	< ±Ó´Ô � 1.6554� 300 � 496.62	± ®Ó´Ô �	±Ó´Ô¿ �	 496.62

50
� 9.9324	À ;Ò� �	±Ó´Ô � ®Ó´Ô � 	4932.62	< 
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ƞ% = ;��;Ò�  × 100 = 99.85 % 

ÖÖ =  ±Ó´Ô±�� =  496.62

496.26
= 1.0007 ¿Ö = √ÖÖ2 − 1 =  k91.0007:2 − 1 = 0.037 

3-6-�5�� (���O�VR C���O(��  

2��V�5<  >c7 iHA �* �O�� ��A �5e�� (�e��O�VR w�>eA�7�C���O )�5e�� 

(���O�VR R*5�* �e�
5� �� ��A�em �:
�= W��

 (e���e��O  R��eA .��g�eO  q�	�5e�A

 �:
�=>A�7
���O� q�e��A ����* (*�@�e.� �5�e���� +� *5e�* R�evA %��*5e�  . �*

�5�����  i�, ��
�+ ���s� �A �:
�= W��

2,  C���O��*5e�  
�eA��g����o �5e�� 

(���O�VR >A�7C���O  +� �'HA �OC�c��VRac   �Adc ������A %B.* �A ����, .

 j5	 g��C�c��V �eA�5<  �* �5eZHA % ����e� R�eV*�A��O �* X�e.
l����eVR 

 ��s�� B��.(*�@�.�*�5�  ���7��4��	�  . j5	 g��C�c��V  �eA �e�\s� j5	 o�� �A

C�c��VR +�3 ��  q��Q� +�3 �. 
���	5� 
 /�	  B.� g��� j5	 �V�A&�5�  ���	

C���O(��  ���� �� 
C���O(�� . ���A 

 
) >��3-17 ���� (�5�� (���O �5����� +� (*�@�.� �A 
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) >��3-18 >�� (r5��VR  �����5�� (���O �5����� +� (*�@�.� �A 

 �*�5�� (���O�VR *5�*�	��+ *5�* �V R , W�e�

 �O �e	 2, 2, �e��O �eA Bce�	

 B���V % *5� ��'�A����O  �* ��� .�5�� (���O�VR C���O(�e�  +� *5e�* R�evA �eO

 (*�@�.� �5�������*5�  ���O �A Bc�	 �	, W��

 2*5A Bc~� �A (
-� B���V U���� %

%  r5� q�	 (���O 5��� �* . *5� C���� 2, B�4 �A 2���3 h
�] �H'� ��
�+ �* ���A

 ���O �A Bc�	 �	, W��

 Bc~� >��. q�	 �*�5�����  Bc~����e��A . �eV �* g���A�e�A


�+���R  �e�
�+ �� 
 (�� g�
� �5����� *5� C���� B�4 �A 2���3 h
�] �O°  ge�
�

���	�� + ���s� �A g���A��A . �5����� i�, ��
���2�5�  �* 
 �5����� 2�� g�
� 2��+

 W��

 �v��	DC  2�5� 
 �:
�=DC  . *5�	 C���O �� �:
�=
���*��O  5e��� R��A

(���O�VR  . B.� BA�m �:
�= &��7 ���Q� R*5�*�A2�5��C�~� +�  �����5�� (�e��O 

C���O(�� O R��A �5�5� �
* C�����2�5�  . *�O (*�@�.� ±² �	 ±́ ÙÚÛÜ¹ 
±�� �	 1

2°Q ±́ ÙÚÛÜ¹. ¸¹à
á � ±́

2° 914 1âÙ ß: 



                                                                          ����� ��	
���
�101 

 

 

 �Ai��/3�  i�, ��
�+ß  �� �@� +�°  W�e�

 ���Q�DC  +� �e:
�=
ÃÂà  R�+� �eA) ß � 0 R�+� �A) �@� �� (ß � ° (���] iV�O ����O . ±��  �eA �� q��/O��±�´  

 2�'	����V* �A B.� �A��A �O: 

 ±�´ � ÃÂà  

3-6-1-C���	 W��

 

  W��

 Bc�	DC  W��

 �A �:
�=DC  
 ���54 C���	 W��

 �� �:
�= q��/O��

 �A±ë  i���	 (*�*��*5�  . 

±ë �	 ±��±�´ �	 ±́2° 914 1âÙ ß:±́° � 0.5914 1âÙ ß: 
 5��� �*(���O�VR C���O(��  5e��� �eA Bc�	 ������] 
*(�e��O�VR  C�e��O

 �3��� (�'	��*5�  . ���	±�´	 R�)�* 
±ë �����A  . 

®�� � ±��¿ �	 ±́2° 914 1âÙ ß:¿  

±Ó´Ô � �	 1

2°Q 9±́ ÙÚÛÜ¹:2 . ¸¹à
á 	�1

2

�	 ±́
2
�	1° 9° . ß 4 ÙÚÛ 2ß

2
	:�12 

®Ó´Ô �	±Ó´Ô¿ �	 ±́2 ì	1° 9° . ß 4 ÙÚÛ 2ß
2 	:í12¿  

 C�~�)7:(  r5� q�	 (���O 5��� ���� �*C���O(��  ��+ >����5e��*��eO ±́ �
100  
 B

R = 10  + R�+� �A . ���A qV�
��� ß � 90 �:�* % B.� S5�Y� : 

 >�� q.� (�
�r5��VR ±²  %±Î  %®Î  
±Ç . 

 ��*�eQ� �c.��� (S±��  %®��  %;��  %±Ó´Ô  %®Ó´Ô  %;Ò�  %ƞ  %FF  %RF  % ±�´  
±ë . 
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 ±�� � ±́
2° 914 1âÙ ß: � 	 100

2� 3.14
914 1âÙ 90: � 15.92	± 

®�� � ±��¿ �	 15.92

10
� 1.592	À ;�� � ±�� � ®�� � 15.92� 1.592 � 25.35	< 

±Ó´Ô � ±́
2
�	1° 9° . ß 4 ÙÚÛ 2ß

2
	:�12 � 0.3536±́ � 35.36	± 
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®Ó´Ô �  ±Ó´Ô¿ =  35.36

10
= 3.536 À ;Ò� =  ±Ó´Ô × ®Ó´Ô =  35.36 × 3.536 = 125.03 < 

ƞ% = ;��;Ò�  × 100 = 20.27 % 

ÖÖ = ±Ó´Ô±�� =  2.22 ¿Ö = √ÖÖ2 − 1 =  k91.538:2 − 1 = 1.98 ±�´ = ±́° =  100

3.14
= 31.847 ±  ±ë =  0.591 + 1âÙ ß: = 0.591 + 1âÙ 90: = 0.5 

3-7-�5�� (���O  ���	C���O(��  +�3 �� >] 

 
) >��3-19 ���� (�5�� (���O  ���	C���O(�� +�3 �� >] 

 �5�e���� Bec~� >��. q�	 �*�1  *5e�* 
³1 ��* ���e7 q�Q�e�� 8�e��A �*e	� 

.  �ee�
�+ �* (�ee4�V g���A�ee�Aß  *5ee� C�ee��� �5�ee���� Bee�4 �eeA 2�ee��3 h
�ee]

 
 �5������	�*��ev  *5e�*g�
�(�e�  �e�
�+ �e� 
°  B���eVe���e��O  �e�
�+ �* . °  �ee@�� �ee��O �eeA Bcee�	 �ee	, W�ee�

 �eeO��*5ee� �5�ee�����1   *5ee�* 
³1 

 �ee�
�+ �* 
 (�ee� k5��ee=°  �ee�°2  �5�ee�����2  *5ee�* 
³2  8�ee��A Bee
�� �*

 ���ee7 q�Q�ee��ee��4��ee	�  �ee�
�+ �* (�ee4�V 
° + ß  Bee�4 �eeA 2�ee��3 h
�ee]

 �5�ee�����2  �5�ee���� *5ee� C�ee����2  *5ee�* 
³2  �ee�
�+ �ee� 
 (�ee� gee�
�°2 

 B���V����O  . 
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) >��3-19 >�� (r5��VR �5�� (���O  ���	C���O(�� +�3 �� >] 

±�� � ±́° 914 1âÙ ß: 
®�� � ±��¿ �	 ±́ 914 1âÙ ß:¿°  

±Ó´Ô � ±́√2
�	1° 9° . ß 4 ÙÚÛ 2ß

2
	:�1

2
 

®Ó´Ô �	±Ó´Ô¿ � ±́√2¿ �	1° 9° . ß 4 ÙÚÛ 2ß
2

	:�1
2	 

±�´ � ±́°  
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±ë �	 ±��±�´ 

C�~�)8 :( ���	 (���O 5��� ���� �*C���O(��  >]+�3 �� ��5��*��eO ±́ �
200 
 B

  R = 50  ��
�+ R�+� �A ���A qV�ß � 30 Be.� S5�Y�  �ce.���ƞ  %

FF  %RF  %±ë    
±�´  >�e� qe.� g�e�^�V .r5��eVR ±²  %±Î  %®Î  %±ä1  % ±ä2  %±Ç1  %±Ç2  %®ä1  %®ä2  %®Ç1  
®Ç2  . (�� (*�* ��
�+ R�+� �A 

±�� � ±́° 914 1âÙ ß: � 200

3.14
914 1âÙ 30: � 118.855	± 

®�� � ±��¿ �	 118.855

50
� 2.377	À ;�� � ±�� � ®�� � 118.855� 2.377 � 282.52	< 

±Ó´Ô � ±́√2
�	1° 9° . ß 4 ÙÚÛ 2ß

2
	:�1

2

� 200√2
�	1° 9° . °6 4 ÙÚÛ 2 � 30

2
	:�1

2 � 209.427	± 

®Ó´Ô �	±Ó´Ô¿ � 4.188	À ;Ò� �	±Ó´Ô � ®Ó´Ô � 209.427� 4.188 � 877.08	< 

ƞ	% � ;��;Ò� 	� 100	 � 282.52

877.08
� 100 � 32.21	% 

ÖÖ	 � 	±Ó´Ô±�� � 209.427

118.855
� 	1.762 

¿Ö	 � √ÖÖ2 . 1 �	k91.762:2 . 1 � 1.45 ±�´ � ±́° � 	 200

3.14
� 63.69	±	 

±ë �	 ±��±�´ �	118.855

63.69
� 1.866 
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: ���91 >Z3 

 C�c�) �]�1 DC�A DC( 
 

4-1- �]�11  C�c� )DC  �ADC ( 

 W��

 Xc�� �O B.� �+t ����� R�V*�A��O +� R����A �*DC  BA�m % Xec�� �eA

DC s�� . *5� >��c� ��C�c��VR DC - DC q�Q��� >��c� >�� W��

 DC  �eA

DC  ��v	� ������V* .  C�c�DC  ����2�5�  C*���DC  ���5@�	���AC  Bc�	 �A

�s�� �
* �e� i��/e3� R��eA ���5@e�	��� �A�e'� C�ec� g�� . B3�4 �z	 �* ��.5�] �

 Xc�� W��

 iV�O % ���7 (*�@�.� *�5���*��4 . 

 *�A��O ����*C�c��VR DC B.� (*���4 ����A. �A2�5��C�~�  �5e�5� C���O �*

 l���c�5���>�VR  % ������
�Qm�:�>�V 
 �V�At�A  %��O�25�V Y= 
 d5>��>Q	
 

 ���A 2*��� >=�*��*
�  g�� .C�c�  �e.�] 
 t�eA 2���	�� % S��� ��	 C���O R���*

 . B.� X��. �������*C�c��VR DC  g��^�V R�V�5�5� R*�*��.� /��� �*DC 

 ���A /�	 Xc�� �A RW�	� 2�	�*�4 +�A R��A���	
�  �4��
 g�� 
 ���A�3�e�5:��  �*

 RW�ee	�.�q�ee��VR �eeA �eeO��� �75��eeVR  ��ee����*5ee�  .C�eec��VR DC  �*

z���q(���O�VR  W��

DC  ���7 (*�@�.� *�5� /�	��4��	� . 

�O��V�R  �� R�]�1��2�5�  U.5�2��
�R�V : B=�. ��+ 

 ) �cY7 
* R�	5�] �5���/	���BJT . &��7 ( 

 �5���/	������	R*�V  ) 2���� �m� /�3 ���O�MOSFET . &��7 ( 

                                                   
١  - Chopper 
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 ) B�4 �A (�	5� k5��= �5�����GTO. ( 

 ) (�� T��� B�4 �A �cY7 
* �5���/	���IGBT . ( 

��Y7qO W��

 B3� R���* >�� �* P53 & �e� q�	 *
�� %2  R��eA . ���e�V Be



 &��Y7 W��

 B3� +� >���� �* �4*�.���	R*�V  �z	 y�� &��7��q��O  . 

4-2- �'V�O *����� C5��  

 *������]�e1  ��e��2�5e�  >�e� �*�e�+ *5e�	 (�V�e'� �e��O �e�7
 .SW 

e1 �A �O&�e� �eA Be.� y
�e�� �]� 2�e�+ ¹1  R*
�
 W�e�

 % �e��A ��e�A±² 

 �V�e6 ��A �. 
* �*��*5e�  &�e� �eA �e��O �e4� .¹2  
* W�e�

 % �e��A ��e�A

 �@� ��A �.��*5e�  >�e� �* ��eA 2�e��: 
 �e:
�= W�e�

 r5e� >�e� .�e�+ 

 (�V�'���*5� . 

 
) >��4-1 >�� 
 �]�1 (r5��VR �:
�= 2���: 
 W��

 

: �A B.� �A��A �:
�= U.5�� W��

 ±Ò � 1Ç L ±µ. ¸¹º1

0
= º1Ç ±² = Ö¹1±² = î±²     ;   î =  ¹1 �2  

 ��A U.5�� 2���:  : ®Ò = Ãï\ =  ðÃñ\  

 W��

n� �c.��� ��+ �YA�� �A �:
�= �m��*5� : 

±µ = �1� Q ±µ2. ¸¹ðÇ
0

�1
2 = √î±² 
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 ����� ��3 �A �]�1 R*
�
 2�5� % ���A �����	 &�@���]�e1  �e:
�= 2�5e� �eA��A

 (*5A : �A B.� �A��A 
 

;ò � 1�Q ±µ. Ú. ¸¹ðÇ
0

= 1� Q ±µ2¿ . ¸¹ðÇ
0

= î ±²2¿  

 B�
�Q�n� �m Xc�� +� (�� (��*B.� &��c� : +� ¿ò = ±²®Ò = ±²î±²¿ = ¿î 

c� 2�'	 P53 &�����V* �O  �]�1 R*
�
 Be�
�Q� %¿ò  ��e���e	�5� �A&�5e� 

 ��s�� B�
�Q�
\ð  . ��O >��c� 

��O >��. )K ( ���s� �A¹1  
T  ��F ���	�5� ��O ���s� �� �� �@� +� �v��	 �* .

 �:
�= W��

 %±µ  C���O �A ��K ��2�5�  �e� �@e� +�±²  
 *�* �e��s��A�g&�5e� 

 . *5�	 C���O �� 2�5� 

4-2-1- BA�m h	�O�3 �* ��O 

 B
�� g�� �* ��O h	�O�3 �]�1) 2, >�
 2��+ 
 B.� BA�m¹1 �e��s� (���e�O .

 ���s� h
�] ��� B
�� g�� �*����O  C�e��O �eA C�e��O j5e	 ge�� oc. g��A 


h
�] ��� 25�.t
��1 . B.� y
��� 

4-2-2-  ��s�� h	�O�3 �* ��O 

 B
�� g�� �*�]�1 ��O h	�O�3 B.� ��s�� g�� �* .&�5�  >�
 2��+¹1  2��+ ��

 XY7¹2  ����* �)	 BA�m��*5�  g��A .%>�
*  25�e.t
�� C���O �� C���O j5	 g��

 h	�O�3������	  W�e�

 >e��O (+�eA �e� ��O ���s� ���.
 (*
��� �* ���A h	�O�3 .

 �ee:
�=Bee.* �eeA �* . �ee�,  % C�ee��O j5ee	 gee��	5���V���eeV��  �eeAh	�O�3�eeVR 

w�(�z����  ��
5����	5� . *5A �V�5= ��5�* 2, R��A ����3 ����< �v��	 �* 
 

C�~�)1(:  C�c�DC  (�]�1) ��e3 �A �� ��+ >��R = 10   
 qeV�±² = 220 

 % ����)A �z	 �* B

���)�V�O  �A��A 2, W��

 B3� ���A >�
 C�c� ���O±�ó = 2 

                                                   
١  - PWM 
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  �A��A �]�1 ��O h	�O�3 
1  �]�e1 ��O >��. �4� . B.� /��V 5��O50  �e��A �e��*

B.� S5�Y� : 

�:
�= U.5�� W��

 (�
�  ) ±Ò  (. 

 W��

 (Sn� �m�:
�= ) ±µ  (. 

 2���	�� (0�]�1 . 

 B�
�Q� (&n� �m�]�1 R*
�
 ) ¿ò  (. 

 
K = 50 % = 0,5 ±Ò � î9±² .  ±�ó: � 0.59220 − 2: = 109 ± 

 ±µ = √î±² = √0.59220 − 2: = 154.15 ± ;µ = 1� Q ±µ2¿ . ¸¹ðÇ
0

= 1� Q 9±² −   ±�ó:2¿ . ¸¹ðÇ
0= î 9±² −   ±�ó:2¿  

=  0.5 × 9220 −   2:2

10
= 2376.2 < 

;ò = 1� Q ±² . Ú. ¸¹ðÇ
0

= 1� Q ±²9±² − ±�ó:¿ . ¸¹ðÇ
0= î ±²9±² − ±�ó:¿  =  0.5 × 220 × 220 − 2

10
= 2398 < 

Ƞ % =  ;µ;ò × 100 = 99.09 % 
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¿ò � ¿î �  10

0.5 = 20 Ω 

4-3-  �'��/3� *����� C5�� 

 �]�1 g�� +� (*�@�.� �A��2�5�  W��

DC  C�c� g�� ��+ >�� �* . *�* i��/3� ��

 &�� �A ���O ��7
 . B.� (�� (*�* i���	¹1  ��e. 2�e��: % *5� ���A�/e3��i 

���3�  ��. �* RW�	� 
L  (��=b��*5�  &�e� �A ���O �4� .¹2  RW�e	� % �e��A +�eA

=b�(�(��  *5�* T��< +� ��. �*³1  iV�eO ��e. 2�e��: 
 (�e� >eQ��� ��A �A

����A�  . r5� >�� % 2���: 2*5A ��.5�] ��3 �A2, �A&�5�  ��+�����A : 

 
) >��4-2 ( �]�1�/3��i(��V*  W��

DC 
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) >��4-3 >�� (r5��VR �]�1 (�9A 
 ��. 2���: 

 ��7
�]�1 : �A B.� �A��A ��. �. 
* W��

 % *5� >�
 

±Î � Ð ¸Ú¸¹ 
 : �A B.� �A��A ��. 2���: ��] �� ��] 2�.5	 

∆® � ±²Ð ¹1 

: �A B.� �A��A �:
�= U.5�� W��

 

±µ � ±² 4 Ð∆®¹2
� ±² m14 ¹1¹2

n �  ±² 1

1 − î 

 2+�= �4�C >�� �* �O 4-2  �AU=1�g  >eZ�� ��eA �e. 
* �eA (�� �H'�

*5� 
 *5A �V�5= ��.5�] �:
�= W��

 %V^  Ue.5�� ���eQ� R���*V8 ��*5e�  +� .

 (��* P53 �
*�����*5�  �� ��A �. 
* W��

 �O��2�5e�  ��eO >��e. �e��s� �eA)K( 

 *�* i��/3�. �+� �A �:
�= W��

 >7��� RK = 0  �A��A±² �����A  % ge�� *5:
 �A .
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�]�1 �A�5<  ��.5�]�	��	�5� ���� �V* ��v	� �� �	+ ���O K = 1 �	��	�5�  . �e��A

 ��*�Q� R�+� �AK  ��*/	1  . �� �V�5= *��+ ����A �:
�= W��

 % 

4-4- �Qc<��AR  �V�]�1  

 % W��

 
 2���: B9: o���AC�c��VR DC  �A5  q��Q� 8-O �� ��.*���	5�.  

4-4-1-  8-O �]�1 A 

�*  *��
 ��A �A 2���: 8-O g����*5�  % ���e�V Bec~� 
* �eV W��

 
 2���: .

 >�� (���O 5��� �� �A�'� 
 B.� ��A� �� �]�1 �� �]�1 g������O. 

 
) >��4-4(  8-O �]�1 ����A 

4-4-2- 8-O �]�1 B  

 8-O g�� �* % r��= ��A +� 2���:��*5�  �e@�� ��eA 2�e��: 
 Bc~� ��A W��

 .

 ��eO �
* XA� �* ��� B.� ��A� �� �]�1 �� /�	 �]�1 g��  . B.����e�O  �A�e'� 


 >�� ���5��� ������O  . 

 
) >��4-5(  8-O �]�1 ����B 
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4-4-3- 8-O �]�1 C  

 2���: 
 B.� Bc~� �'��V ��A W��

 2, �* �O B.� ��A� 
* �]�1 �� 8-O g�� ��eA

~�c �@�� �� B�����A8-O R�V�]�1 . A 
 B ����	�5� 8-O �]�1 �� 
 �	5� o�O�� 

C �� *5:
 �A  �]�1 g�� . �	�
,���	�5�  
 (���O5��� ��	��/�	  ��O >�� ���5��� �� ��	��. 

C�c��VR  �� �
* 
 C
� XA���2�5�  >�� �* �O *�O o�O�� C�c� j5	 g�� B=�. R��A��+ 

 . B.� (�� (*�* 2�'	ö1  
³4  
 C
� XA� C�c� ��	��ö2  
³4³1  �
* XA� C�c� �A�'�

 ��O����O  ���O 
* �O *�O B7* ���A .qV2��+  Xec�� &�5e� g�� ��w �* �	5'	 >�
±² 

 C�c� j5	 g�� . �� �V�5= (��5O C�Z�����	�5�  . ���A (���O 85��� qV 
 (���O5��� qV 

 
) >��4-6(  8-O �]�1 ����C 

4-4-4-  8-O �]�1 D 

 W��

 
 Bc~� �'��V �]�1 g�� �* 2���: . B.� ��A� 
* �]�1 �� �]�1 g��e��

�	�5�  /�	 �]�1 g�� . ���A �@�� �� Bc~����	�5�  ���A ���5��� qV 
 (���O 5��� qV

 >�� .4-7  2�'	 �� �]�1 g�� +� �	5�	 �����V* . 

 
) >��4-7(  8-O �]�1 ����D 
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4-4-5- 8-O �]�1 E  

 �]�e1 ge�� �* 2�e��: 
 W��

 . B.� ��A� ��91 �]�1 �� 8-O g��e���e�	�5� 

 . ���A �@�� �� Bc~� 

 
) >��4-8(  8-O �]�1 ����E 

4-5- �5�t54�  

 W��

 B�c~� ���� �A �5�t54����e��A . 2*�eO Be�c~�|t5e���  k
� Te��< +�

 ��ev	� BA�m h	�O�3 �� �* h
�] R��9] 25�.t
����*�e�4  �eZ�� 
�Oe�� e	+� 

|t5��� BJT  %Mosfet  
IGBT  ������A  . 

*��* *5:
 �V�5�t54� R��A % ���] RW5
5]5� ��91: 

l�A ) Buck Converter ( 

B.5A ) Boost Converter ( 

 l�A– B.5A ) Buck–Boost Converter  ( 

l5�O ) Ćuk Converter ( 
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4-5-1- l�A �5�t54�1 

 . Be.� R*
�
 W�e�

 +� �e��O �:
�= W��

 U.5�� ���Q� l�A �5�t54� �� �*

 �� +� �O l�A �5�t54� �� ���� ��*5�	MOSFET   (*�@�e.� &��e7���e�O  �*

 >��4-9  iV�O �]�1 �� �A�'� �O B.� (�� (*�* 2�'	��]�R B.�. 

 
) >��4-9(  ����l�A �5�t54� 

(*�.���g Xc�� �� +� W��

 iV�O R��A k
� DC  �5e�t54� �e� +� (*�@�.� �A

 ��� . B.� �Y=z���q(���O�VR  y-�� �� R*��+ RW�	� �Y=�����O �O �A&�5e� 

 ��� ���4�����O +� R��A .  (*�@�.� l�A C�c� +� �Q	 g�� 2*�A g�A��*5�  . 

4-5-2- B.5A �5�t54�2  

 ��e'�A R*
�
 W��

 +� �:
�= W��

 B.5A �5�t54� �*���e��A  >�e� .4-10 

 +� (*�@�.� �A �5�t54� g�� +� �	5�	 ��MOSFET 	 &��7�����A . 

 
) >��4-10(  ���� �5�t54�B.5A 

                                                   
١  - Buck Converter 

٢  - Boost Converter 
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) >��4-11(  >��r5��VR  ���� �5�t54�B.5A 

4-5-3-  �5�t54� l�A– B.5A1 

 �5�t54� g�� �* �:
�= W��

���	�5�  2, R*
�
 W�e�

 +� ��'�A ��� �� 
 ���O

 �5�t54� ��	 �A �5�t54� g�� B.� R*
�
 W��

 �A �
�H� �:
�= W��

 B�cY7 . ���A

 ��=��� /�	 (���O 85�����*5e�  >�e� �*4-12 �e	5�	�R �eA �5e�t54� ge�� +� 

+� (*�@�.� BJT . B.� (�� (*�* 2�'	 

 
) >��4-12(  �����5�t54�  l�A– B.5A 

                                                   
١  - Buck–Boost Converter 
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) >��4-13(  >��r5��VR  ���� �5�t54�  l�A– B.5A 

 

 



 

 
: qv�] >Z3 

 C�c�) ���5���DC  �AAC ( 
5-1-  C�c�) ���5���DC  �AAC ( 

C�c��VR DC  �AAC y
��� �V���5��� �A ������A W��

 >��c� ���5��� �@�6
 .

 R*
�
DC  �:
�= W��

 �AAC  S5�Y� h	�O�3 
 ����* �A�����A �:
�= W��

 .

���	�5� ���A ��s�� �� 
 BA�m h	�O�3 �� .��5e��*��eO  W�e�

DC s� R*
�
� �e�

 �	��A BA�m (�9A o��� 
 ����	 >��� ��s�� �:
�= W��

 %��*5� % �)�* y�< +� .

 W��

 �4�DC A BA�m R*
�
 
 �	��>A�7C���O s� �A % ���c	� % ���5e��� (�9A o��� ��

 �O|t5��� ] 25�.t
�� C���O k
� �Ah
�] R��91  ��v	���*��4  �e:
�= W�e�

 %

 ��s��B.* �A ����, �� ���5��� (�9A o��� .��2�5� �A&�5�  �e:
�= W��

 Bc�	

 R*
�
 W��

 �ADC . *�O ����� 

 ���5��� �:
�= W��

(���C,% ���A�B� ���A �.5��. r5� >�� R���* �* ��c
� .

 (*5c	 �.5��. >�� ��	5���V �A (���V 
�����A &��7 
 qO &��7 R�V*�A��O �* .

�

 U.5��c� �� ��A�� r5� >�� �A �:
�= W� Be��@O ��A�� ����e�O �* g��e
 .

                                                   
١  - PWM 
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� >�� % t�A &��7 R�V*�A��O ���O r�:5�� �A r5	*�5��+� B.� g���* ����=� �* �A .

 >��.
���	R*�V  % t�A B��. &��7��2�5�  g�3�4 ��O �A �Ak
��VR �^�J5. _�

 %	5���V���VR *�* iV�O R*��+ �� �� �� *5:5� . 

 (*�@�.� ����� R�V*�A��O �* X�.
 �5< �A �V���5��� +���*5� .�A2�5��C�~�  �*

l����VR  R�V�5�5� ��s�� B��.ac 
 �@7
 �A ��\s� XA��� % V���5��� . ... 
* �A �

�� R�V���5��� ��O ��.* +�3  
 q��Q� +�3 �. R�V���5������	5�. 

5-2- �� R�V���5��� +�3  

R�V���5��� 3 �� ���5��� ��.* 
* �A  +�3 ��5e��� 
 >e] q�	 +� >e] +�e3 �e� ���

�Q��q��AR ��*5� . 

5-2-1-  +�3 �� >] q�	 ���5��� 

 
) >��5-1 ���� (+�3 �� >] q�	 ���5��� 

���e� *�e���� (5e�	 >�e� 5-1 �A�g&�5e�  �e� �@e� 2�e�+ �* �eO Be.�
Ç
2
  

�5���/	���÷1   W�e�

 �ev��	 �* 
 (*5eA ge�
�
Ãñ
2

  ���e7 ��eA �e. 
*��*�e�4  �* 


&��2��+ 
Ç
2

  ��T  �5���/	���÷2  g�
���*5�  W��

 �v��	 �* 

�Ãñ

2
  ���7 ��A �. 
*

��*��4 R�V*5�* ��V� ��A �* .³1  
³2  *���	 �� �'Q	 [�V ���� �*. 
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) >��5-2 >�� (r5��VR �:
�= W��

 

  
2���:R�V 1i  
2i  ����+�3 �� >] q�	 ���5��� 

 ���A ����* �@�. B���= ��A �4� ��� R�V*5�*³1  
³2  *�+, i=�1 *5�* iQ	

 ���@�� �����O�* .  
 ��eA 2�e��: >�e� &�5e� ge��&�e�2��+  
 �eV*5�* B���eV

/	�����V�5�� �A&�5�  ��+�����A : 

 
) >��5-3 ���� �:
�= 2���: r5� >�� (���5��� 

 +�3 �� >] q�	 ��V� ��A �A-�@�. 

 R���� h�eA 2�e� ge�
� 2���3 �O/	�����V�5�e�  C�e��� �����e�O  �eA �e��A

 2�ee�+ �* �eeO �ee��A R5ee�	
Ç
2

  �5�ee��/	��� ��ee�A�÷1  �� k5��ee=�ee�O  �ee�A 
÷2  ��

 g�
���O . W��

 Xc�� 2�� (��5O C�Z�� ���A &�5� g�� ��w �*��*5�  . 

 �e�	, �eA �e:5� �A Xec�� W�e�

DC |t5e���  qeO���e��A )|-~e�  R���eA W�e�



12  W�ee�

 
 (Bee

AC  �ee:
�= �* (�ee� ��ee.�5=|t5ee���  *�ee�+���ee��A )|-~ee� 
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220  �* g���A�ee�A (Bee

 ���5ee��� ���ee� >�ee�5-1  (�ee���/3� h	��ee� �ee� ��eeA R�eevA

)|-~�220- 6 ( C�eZ�� h	��e� �e:
�= �eA �� ��eA 
 (*�* ���e7�e�q�V*  W�e�

 ���eQ� .

n� ��+ �YA�� +� �:
�= �mB.* �A ����, : 

±µ � Ý2�Q m±²
2
n2Ç

2

0
. ¸¹Þ

1
2 = ±²

2
 

 W��

 g��^�Vn� �m��e�� h	�O�3 �* �:
�=%  �e���±1  �e�+ �eYA�� +�Be.* �eA 

����, : ±1 = 2±²√2° = 0.45±² 

 >�� �*��2�5�  R��eA �eO *5e�	 (*�@�e.� /e�	 �5�e���� +� �5�e��/	��� R�: �A

 +��	 25�.��5�O ���� �A 2, 2*�O k5��=�����A . 

C�~�)1(: �� >] q�	 ���5��� ���� �* +�3 %  ���
�eQ� ��A4/2 qeV� 
  R*
�
 W�e�



48  B

�����A .B.� S5�Y�  W��

 ���Q� �c.��� W��

 % �:
�=n� �m �* �:
�=

 ���� h	�O�3±1  
 �:
�= 2�5� %�:�2��VR  . �5���/	��� �V ��] 
 U.5�� ±µ = ±²
2

= 48

2
= 24 ± 

±1 = 2±²√2° = 2 × 48

3.14 × √2
= 21.6 ± 

;µ = ±µ2¿ = 242

2.4 = 240 < ®Ì =  24

2.4 = 10 À ®ä = 0.5 × 10 = 5 À 

 

 

 

5-2-2-  +�3 �� >] ���5��� 
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) >��5-4 (+�3 �� >] ���5��� ���� 

 
) >��5-5 >�� (r5��VR  �:
�= W��

 

 
 R�VW��

aV  
bV  ����+�3 �� >] ���5��� 

 ���e� *����� (5�	 >�e�5-4 �A�g&�5e� ���e��A  �e� �@e� 2�e�+ �* �eO
Ç
2

 

 R�V�5���/	���÷1  
÷2 qV2��+  
 (�� g�
��	�*��v  W��

±²  ���e7 ��eA �e. 
*

��*��4  2�e�+ �* 

Ç
2

  �e�T  ��e�A�/	�����V�5�e�R ÷1  
÷2  �e�A 
 (�e� k5��e=

/	�����V�5��R ÷3  
÷4  g�
���*5� W�e�

 �ev��	 �* 
.±²    ���e7 ��eA �e. 
*

��*��4 �
�= ��V� ��A �* .*��V*5R ³1  ��³4  (*5A XY7 (��5�V �e'Q	 [�V 
 �*

���� *���	% ����* �@�. B���= ��A �4� ���  g�� %���A*��V*5 �A2�5��  i=�1 *5�*
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	 >�� *�+,� B���eV (5e�	 
 ��A 2���: &�5� g�� �* 
 (*5/	�����V�5�e�  
*��eV*5 

�A&�5�  ��+ >�������A  . 

 
) >��5-6�:
�= 2���: r5� >�� ( 

  ����+�3 �� >] ���5��� ��V� ��A �A-�@�. 

 %*5e� *��+ �:
�= W��

 ���A �+t �4� /�	 +�3 �� >] ���5��� ���� �*e��2�5e� 

 ��A R�vARL 2, �:
�= 
 (*�* ���7 (����/3� h	��� ��  >�
 ��A �A ��*�O  . 

 W��

 ���Q�n� ��+ �YA�� +� �:
�= �mB.* �A ����, : 

±µ � Ý2�Q 9±²:2

Ç
2

0
. ¸¹Þ

1
2 = ±² 

 ���Q�n� �mn� �c.��� ��+ �YA�� +� �:
�= W��

 ���� �@
��*5� : ±1 = 4±²√2° = 0.9±² 

3 �� >] ���5��� ���� /�	 �� +���2�5�  +� (*�@�.� R�vA/	�����5�e�  % �5�e���� +�

. *�O (*�@�.� /�	 

C�~�)2(:  ���
�eQ� ��A % +�3 �� >] ���5��� ���� �*4/2 qeV� 
  R*
�
 W�e�

48 

 B

�����A .B.� S5�Y�  W�e�

 % �e:
�= W��

 ���Q� �c.���ne��m  �* �e:
�=

 ���� h	�O�3±1  
 �:
�= 2�5� %2���:R�V . �5���/	��� �V ��] 
 U.5�� ±µ = ±² = 48 ± ±1 = 4±²√2° = 0.9±² = 43.2 ± 
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;µ � ±µ2

¿ � 960 < ®Ì =  48

2.4 = 20 À ®ä = 0.5 × 20 = 10 À 

C�~�)3(: ���� 3 �� >] ���5����A �� +�  
 (*5e�	 q.� �5����� +� (*�@�.�
�e4��

�VR �� 2, >] ���5��� �A Bc�	 +�3 �� A R�5���/	�������5� . 

 
) >��5-7 (���� +�3 �� >] ���5��� �5����� +� (*�@�.� �A 

 ���5��� �* &��7 �5���/	��� +� (*�@�.� R�vA��2�5e�  +�J5e.�[�VR  /e�	 �e)�*

*5�	 (*�@�.�.  �* �eO �5����� ��	�� >�e�5-7 e��� �eA� Be�4 �eA 2�e��3 h
�e] C

 �* �V�5�����2��+�VR ��.�5=(�� ��2�5� 2,�V *5�	 g�
� ��.  k5��e= R��eA ���

 2*�O2,�V  �e	, W�e�

 25e1–  �e��O2,�eV  W�e�

dc ���e��A  ���e� �eA g���A�e�A

 .q���* r����� R��c:� 25�.��5�O 

5-3- B=�. ���5��� U.5� ��A�� �c� r5� >�� 

5-3-1- C
� k
� ���5��� 
* �:
�= o�O�� 

 >��� k
� g�� +�3 y-�=� �A ���5��� 
* �:
�= o�O�������A .2��V�	54  �eO

 >�� �*5-8 B.� (�� (*�* 2�'	% 5e� >�� ��
5� R��A R�e�9] �eA �e�A�� �ce� r

>A�7C���O % +�:
�=��VR  >�� ��A��r5��VR  B@�� qV �A Bc�	 �O ���5��� 
*

 (*�*(���	�  (*�@�.���*5�.  ���5��� r5� >��2 (+��	� �A ��
�+ ê  �:�* �eA Bc�	

 ���5���1  B@�� .B.� (�� (*�* 
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) >��5-8 �A ��A�� �c� r5� >�� ��
5� (+�3 y-�=� �A ���5��� 
* �:
�= o�O�� 

5-3-2- �
* k
� W��

 C���O 

 k
� �
* W��

 C���O�� 
  ��A�� r5� >�� 2*�O ��* y������e��A ge�� �* .

 &�5�J5.�[�VR  ���5��� ���� ��	�� �5����� �� �5���/	����A�5<  
 ge�
� S
�e���

 k5��=���	5�  >�� ��	�� �:5� >�� 
5-9 B.* �A ����, : 

 
) >��5-9��A�� �c� r5� >�� ��
5� (  k
� �AW��

 C���O 

 *5c9A (���A 2��'HA  >�e�r5��eVR  �e��s� % ��* y��e��]��eV*5R  
 ge�
�

 2*5A k5��=J5.�[�V �����A. 
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) >��5-10(�� (��'HA *5c9A ��A�� �c� r5� >�� ( 

5-4-  +�3 �. ���5��� 

�=�. R��Ag  +�3 �. ���5�����2�5�  �e:
�= �eO +�e3 �e� ���5��� �. +�2,�eV 

c�	 qV �A B120  �:�*y-�=�+�3 ��*	*5e�	 (*�@�.� %� . �e:
�= &�5e� ge�� �*

 �@�� 
 (*5�	 >Z�� qV �A �� ���5��� �.�A2�5��  �z	 �* C5	��4e���q  �e:
�= 


 �5.2,�V �V+�3R R  % S  
T �����A  >�� ���� �* .5-11  Be9: /e�	 h	��e� +�

: B.� (�� (*�@�.� W��

 ����* i��/3� 

 
) >��5-11 ���� (+�3 �. ���5��� (����/3� h	��� �A (���V 
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) >��5-12 ���� r5� >�� (+�3 �. ���5���  

5-5-  ��	5���V1 

 �ee~O�r�:5���eeVR ��(�ee�*�v  >�ee� �*r5��eeVR   ��cee� 2�ee��: 
 W�ee�



%&��ee7  �eeZH'� R���* �eeO ���ee�V ���eeV��A +� �ee��	w�eeY=��  �* �ee� 
 (*5eeA

2,�eeV  (*�@�ee.� &��ee7 �ee�	
���
� �ee���� +�Bee.� (�ee� X��ee. B3�ee'�] .

	��ee�*�VR�eeVR  %&��ee7 >��eec� 
 ����ee� R�V�ee��,�3  C�ee��O �* �� �eeA-Q	�

 RW�ee	�*5ee:
 �eeA  .Bee.� (*�
,	��ee�*�VR�eeV �*  R�V���ee�(��+��ee	�  C�ee��O 


% S
�ee��� 
 q�Q�ee�� 2�ee��: R�eeV�5�5�  % R���ee�5:(�5O�eeVR  % �ee�����
�

�ee
5��VR  % �ee@7
 2
�eeA P�eeA�+�5
)	�ee=�  
.�q�ee��VR  C�ee��O >��ee�) C�ee��O

                                                   
١  - Harmonic 
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 C�ee��O �ee� ��eeY7 5ee��5�5O5
B�ee�7�VR  (&�eeA
� �ee��H�(*�@�ee.�*�5�  ���ee7ee��

4��	� .2,+�B9:  �O	��e�*�VR  2�e94�	 W�e�

 r5e� >�e� +� �eYQ	 �eV �* &��e7

 k5��= 
 g�
�e���	5e� %B
���eVR ��\e4 t�eA 2�e.5	 h	�eO�3 �eA ���e���* 
 

 ���] (�	5� �������	�
, �9A�e'� �eYQ	 �* �e	+ �e��O >e�� *5e��] �eV �* �e4� .

5= �A S
���� ���� ��\4 B
�� %*5�  ��v	�* ��4�*� . 

  g��1.�C��)�VR  �� �.5��.��w��2�5�  % ���53 R�. U�A +� (*�@�.� �A�A&�5� 

��5�v��R  �A �O *5�	 2��A �.5��. r�5�� +�	5���V���V �5e.5��	�  h	�eO�3 
2,�eV 

 &��7 h	�O�3  +� ����� S�?������A .��)�V��O  �m���e.�V  
2+�=�eVR  ��ce�

*��4 ���7 �z	 �� /�	 % B��V�r�:5���VR  2���1 
* ���	5���Ve��*5e�%BeQ�Q� �* . 

 R���* ��3�� r�:5�� C��)�. 251�@
n��V��  �Ah	�O�3�VR  &
�@������e��A %�*  �e��

 g�� +�h	�O�3�V  +� ��� g�A ���'� *�v�� 2����2+�=�V 
  *5e:
 ��ce� C*�e�� ��e.

A d5A�� ��	5���V ����* 2, Xc� �A �O *��* i��/3� ���'� h	�O�3 �����A� . 

5-6-��	5���V ��m,�V 

 &��m�	5���V���V  �Y. 
* �*>A�7.��A�  B�H	 %B.�(�)�.*�V  
 &���.u� 


 
 B6�@� %C���O �* hp.(+��	�4��R . 

5-6-1- (�)�.*�V  &���.u� 
 

1 (�	�A�VR 	+�=� 

 &��eeem�	5���V���eeeV  R
�2+�=�eeeV oeee:5� �� &���eee� 
 �3�eee�� &�eee@�� %

��**�ee4 g�eeA S5�Y��ee	 R+�ee3 Bcee�	 g�ee�^�V .	5���V���eeV  C�ee��� W�ee�

 


�A i��/e3� �eA �ev�� Be.� ge��� 2+�e= �eA (�� XA�e�� W�e�

 �e��* (* +� ��e'

 
 qe9� g�� .**�4 2+�=>A�7�e:5�  j
�e� W�e�

 �Ye. ge�� �* �e	
�O ��e�+ %Be.�

 2+�= 2�� S5��� �� 
 2+�= ��� >��Q� ���A 
��**�4 . 

2 (����g�VR (�	*�4 

 R���eee. 
* &���eee� 
 (*+�eeeA �J�eeeQ
� R�eeeV�5�5� �*>A�7eee.��A�  .���eee�V

	5���V���eeV eez�	� |�ee�5�� �ee�� ��ee��* �eem� �5ee�5� �
��ee'4 �* ��ee�	�*
�  qee9� 


>A�7�ee:5� .��ee��A  R�V�
��ee'4 �eem� �* (�ee� �ee�
5� ���	�ee�� &�	�ee.5	 g�ee�^�V
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 �	�eee.5	�A�Yeee.�
  g�eeeA >eeeA�Q�� �eeem� �eee��:�2��eeeVR  �eee��3 
 �eee�	5���V

<��s� �e�c� ������e��A R��eA .e����g�VR  >e�� %Be.� �A�e'� &��em� 2
���e.

 q9� &������(��*�v  |��5Z=�A�Y.�
  �5�
� �* (�� ��Q
� 2���:�����A . 

3�V�5����5@�	��� ( 

	5���V���eeVR  
 �ee�V, &�ee@�� i��/ee3� oee:5� W�ee�

	5���V���eeVR  2�ee��:

 ��e� &�e@�� 
 he� &�@�� i��/3� oc.e���e	*�4 &���e� i��/e3� �ev��	 . ge��

.���A /�1�	 B.� g��� �O B.� 

4�)^�J5. ( 

 �9��eeA �eem� �ee�2���:R�eeV  .Bee.� &�ee@�� 
 &���ee� 2�ee� *�ee�+ %�ee�	5���V

 XY7 R
� g���\4 �m� 2����(���O�VR  .*��* *5:
 ���� 

5� (q���. 2���: �3��� �� W��

 �3�� 

 ;5Yee. �ee��s� �eeA (��ee�V Xee�+5� q�ee��. �* ��eeA X�ee.
 &�	�ee.5	Var  �	+�ee=

 &�	�e.5	 �eA �v��>A�7�ez�-�  h	�eO�3 
 ���e� �* h	�e	
+���**�e4 |�e�5Z= .

 �ee�	5���V XA�ee�� W�ee�

 
 2�ee��: >ee���� �eeO ������ee�P53�O\ee
� (�ee��	� ee��

�ee�	�5�  2�ee��: 
 W�ee�

 Rt�eeA ;5Yee. �eeAw�>eeA�7�  B���eeV q�ee��. �* ��eez�	�

� ��}ee�� gee�� .�ee	*�4 (�)�ee.* T��ee� ��ee)�9A�	 2�ee� S5ee��� �eeA �ee9����*5ee�. 

 2�ee� S5ee��� �eeA �eev�� �*�ee	 *��5ee� �ee?�A �* g�ee�^�VP�A4ee��  .Bee.� (�ee�

 �3����:�2��eVR  R��eA ��-�e'� g�e�^�V 
 g�=5e. �e��A ge��� �e�	5���V

.,�S��VR  
 (+��e	� +� i�eA &�e@�� 
 B���eV *�e�*+� %�J�eQ
� >=��e� g�e� ���e�

 .**�4 &���� 

6�V+5�3 ( 

�:�2��VR 
 �e���* �eA ���	5���eV X�e.e���e	�5� .*5e� +5e�3 g�=5e. �e��A 

2�ee��: &�eeZH'� R
� g�ee�^�V–3 2�ee�+ +5ee���muee� ee��*��\ee4.  &���ee� ��ee�+

 &���� +� ��'�A]�iA���(��  �*2��
�R�V  .�	5� S
b 

 



                                                                          ����� ��	
���
�131 

 

 

5-6-2-  
 B6�@� %C���O(+��	�4��R 

1 (Ripple q���. ���O 2���: 
 

(�)�ee.*�VR  C�ee��O (�ee	��4Ripple .�q�ee��V  �ee	� �* �eeO290  �ee�1650 

 q�z�� /��V5��O(���	� ���* �� &��e7 h	�eO�3 >=��e� k��\] B��A�7 %����e��A .

	5���V���VR  �� 
 �V���5	�O +� ����	��] ��=���(�5O�VR  �e��= �e���* �eA �e.57

 �* g�J�].�q���VR  �* �O ���O 2���:�	��VR 5  �e�10  �e� 
 /��V5e��O300  �eA

400  >�� /��V5��O�����O  C���� ��1* �����	+�. . 

2 (�
��VR ��6�@� 

 R
� ��	5���V &��m� &��
�Y� +��
��V ����	 % r����.� >�b��*5� . 

1- �
��V  �*��+,�i�V ��*�Q� �* �� 
 ����O *����� �A >����� %(��+��	�  +� ��t�eA

 i���	 �� ��7�
 ��*�Q�����V* . 

2- �ZH'��VR  *������
��VR  �e.�.� &����s� ��1* g�J�] h	�O�3 ������.�

���	*�4 . 

3-  >�� ���s� (*
��� �A Bc�	 *����� &�ZH'� �* &����s�]�iA���(�e� 

 �15O |��c�	������A . 

3 ((�)�.*�VR (+��	�4��R 

 &��
�Y� �v��	��v	�(��  2�'	���eV* %�e.
�> (+��e	�4��R  |�e�5Z= %&��e7

 B�� ���	
���
� R�V�.5���	��� �?�A��mu�  ���7 ��	5���V��4��	� *5e:
 .20% 

 o:5� qv�] ��	5���V10  ��15%  R�V�e.5���	��� �* �Y=+�e3 �e. �e��	
���
� 

��*5� . 

5-7- ��	5���V *�v�� B�� 

 �*S
���� 2���:  R*�� 
��c�&��e7 R�V h	�eO�3 �e� �* �e.5��. W�e�

 %

 %��=|t5��� 50  ��60  q�e��. �eA �eY= �e�����
� ��A �� �O �	��+ B.� /��V

�� >Z����

 h	�O�3 2��V �A �.5��. 2���: B
�� g�� �* %*5��� >�� W*��4. 

 ��A �� �O ��7
w�Y=��  ��	��(���O5����V �� >Z�� &��7 q���. �A *5e�

�� �	���: 2��, *5:
 �A ���A �O �	5�7*�|�Q  2�e��: r5e� >�� .B��	 �.5��.



132                                                               C�ec�) ���5���: qv�] >Z3DC  �eA

AC( 

�� q���. �/:� �)�* �A i�A�Q�� �m� �* 
 ��A j5	 �A ���A �	�5��A�O�  .*5e� (��^�]

�4��^�] +� �z	 y�� >���� 
 ��/v� T��< +� �O 2���: r5� >�� �V���53 R�. 

�� (*�* ���5� *�eO ��/v� (*�. r5� �� �A �� r5� �O *��* *5:
 2���� g�� %*5�

�eV* �� ��e�� h	�eO�3 +� ����e� S�e?� �* %&��e7 q���. h	�O�3 �* �O. 

�	5�	 R�V��A +� ��'�A R�Vw�Y=��  �e�	�� %C5e��� R��*� 
 R��3* &�/�9v� >���

�	����] 
 �V����V q�z�� >A�7 B��. �A R�V5���* g��^�V 
 �V�����. 

 
) >��5-13��	5���V 
 ���� r5� >�� ( 

|t5ee�� 	5���V���eeV  �ee.5��. C��ee�� �* �� r5ee� >�ee� R+�ee. (*5ee
,2,�eeV 

 2�ee'	ee���ee�V*  �� r5ee� >�ee� oee��H� . ��ee�� h	�eeO�3 S��ee?� �* UeeQ3 �ee



ee��2�5ee�  �*h	�O�3�eeVR  (��ee�� h	�eeO�3 S��ee?�) �ee��H��eeA2�5��  �ee�

 2�ee.5	(�
*�R �Aee.
���  �ee��� C�ee� �* .*�eeO >ee���� 
 �ee�/v� �ee��53 /�
�ee	,

 �eeeec��� 
 r
+ 
 *�eeee3 R�eeee9��	5���V3  �*(+��eeee	��VR  o���eeee� �eeee��H�

h	�O�3�eeeVR  �* �eee��H��	���eee.�VR  �eeeO �eee	*5:5� �eee�����
�Q�eee���|�� 

 �� �eee�����
� �	���eee. &�/eee�9v��mueee�� eee���	+�eee. ���eee��� �* .eee.
�X�� 

	5���V���eeVR  �eec��� 
 r
+3  k-ee� �ee��Vee���ee��O  �ee~�= �� R�ee)�* �eeO

 ge�� Be.� C*�e��� �e	 ��eA �eO �	�e�+ &�e� �* �

 .�����		5���V���eVR  
 r
+

 �c���3  ���� RW�	� y-�� 
 C5	 �* ��A �3��� �A �v�����	5�. 



                                                                          ����� ��	
���
�133 

 

 

5-8-���'� 

 �@�. ���'� �.�.�–  (�V�e'� �eV��A j�5e	� ��V �* �	+�=e��*5e� �e4� �e

 .

	5���V���V  ��c� �*+5��X  ����c	 X���mu���  (�	�'	
�3 ���'���*5� . 

 �@�. o�O�� �V �*–  �* % R+�5e� Be
�� �* �e1 
 R�e. Be
�� �* �1 �	+�=

 �� ���'� ��= ��	�O�3���V*  (����	 ���'� h	�O�3 ��= h	�O�3 g�� �O��

*5� .) �	+�e= h���eO�� 2, �* �eO Be.� ��	�O�3 ���'� h	�O�3cX h	�e�O� 
 (

) ���Q
�LX .����V �A��A ( 

5-8-1-R�. ���'� 

 �eA >eO h	��ep�� ���e'� h	�eO�3 �* % 2+�e= 
 ��e. R�e. o�O�� �<�= �A

�]��g���g  iV�O �Y.����A�  ���
�Q� ����c< ���'� h	�O�3 �* h	��p�� g�� 


 �eA��A (���eQ
�) �@�e. h	�e�O�� 
 �	+�= h	��O�� ���'� h	�O�3 �* g���A��A .*��*

 �	�5e� i��/e3� % ���e'� h	�eO�3 �* R*
�
 2�5� R��A g���] h	��p�� g�� .����V

 �v��	 �� 2���:���V* . 

5-8-2-R+�5� ���'� 

�c�O�� R+�5� ���'� ��  ��e�3� �ev��� �* .Be.� ���eQ
� 
 �	+�e= h	�e�O�� +�

 �eA h	��ep�� ���e'� h	�O�3 �* .*5A �V�5= R+�5� ���'� B
�� h���A h	��p��

 i��/3� t�A R���Q�����A� �v�� ��� g�� .�A *5:
  2�e�� R+�5e� ���'� ���� 2��,

2+�=�VR  ��A h	��O
�	� 
 2�5� o��� ;-����*5�  ����A W��

 �5c� 2, �v��	 �O

 (+��	� qV t�Ah	��p���V  
�:�2��VR .*5A �V�5= �Q�� 2
�* t�A ����A �A�*�4  

5-9-  ���Q� 
 ���	5���V k�'�w� j5�v�n��m 

 j5	 g���1(+��	�4��R � >�� �� ��	5���V (+��	� 
 qv� 2*�* 2�'	 R��A r5

 +� ��� . *��* *5:

5�������g 2,�V ���	5���V k�'�w� j5�v�1 �����A  �O��

2�5� �� 2,  2���: �� W��

 R��AB.* �A . *�
, 

 

                                                   
١  - TDH 

١

max

٢

٢

M

M

THD
h h∑ =

=



134                                                               C�ec�) ���5���: qv�] >Z3DC  �eA

AC( 

 

 P5e3 �YA�� �*hM   ���eQ��mne� �e@
n�  �e�	5���Vh  Be�@�O +� ��M e���e��A  .

TDH  ���eeQ��mnee� �ee@
n��VR  
 Bee.� (�ee� k5ee�s� r5ee� �ee� ���	5���eeV

 ���eQ� . Be.� ��e��  ���eQ� �eA Bce�	 �e�	5���V ���e��4 RW�e	� ���eQ� �)	�'	

�mnee�  j5ee�v� % r5ee� �ee� j5ee�v��ee@
n��V  �
\eev� �ee��A Bee��	 ���ee9�� �eeA

 XA�� j5�v�2,�V �����A  �YA��TDH  r5� >�� ���Q� �A�A���7 :B.� ��+ 

٢
١

max

١

٢ ١ TDHmRMSM
h

h

h +==∑
=

 

TDH  �eV*�A��O +� �e��= R��eA �ce.��� B�@�Oe���e��A   2, B�*
�e�� �e

 %

 +� �e��	 �3�e�� &���e� 2*�eO �He'� R��eA �A5e=  (�e�� ge�� . *5� �H'� ���A

 ���
�eQ� ��eA �e� �e. 
* (�e� k5's� W��

e���e��A  &�5e� ge�� �* %e���e	�5� 

 R*�eeV +� 2�ee��: Uee.5� �eeO �ee��A �3�ee�� &�ee@�� (�ee�V* 2�ee'	ee��*�\ee4 �eeV �* .

 &�5ee�ee�	��ee	�5�  W�ee�

 gee�� ��ee�+ �eeV*  2�ee'	 �� 2+�ee= �ee� �ee. 
* W�ee�

 &�ee�

 |�ec��Q� ���	5���eV W�e�

 . 2, &���e�  ���eQ� �e	 Be.� W�e�

 �e�] ���eQ� �eA d5A��

ee� >�ee� ��ee�� ��*�eeQ� �eeA d5eeA�� 2�ee�+ �* r5�ee	5�	��*�AR ee����ee��A  .�eeO�v	,+� 

 �e��s� R�e��* �e�1 UQ3 W��

e���e�O  W�e�

 %TDH  *�e� �e'��V |�ec��Q�e����

��*R  ge��� �e15O 2�e��: �e�. *���e	 *5e:
 2�e��: R��eA Be
�� g��. *5A �V�5=

 R���* Bee.�TDH  +� . *5eeA �eeV�5H	 q�ee��. R��eeA �ee�9� �ee��9� �ee�� �ee��A �ee4�/A

 �eeO ���eev	, 
 Beecm >��ee.
 ��ee'�A(+��ee	�4��R  THD 8�ee.� �eeA ���ee	5�	��*�AR 

 k��/4 �������e��O  %(*�@�e.�(���O  l�e	�Y= �� 2�e��: (�c�e�� �eA Be.� ge���

  �ee?�A . �ee�O *��ee��7����>�eeV�4  >�ee'� gee�� +� S�ee��:� R��eeATHD  �eeA ��

 j�e:�� ��e= �e	5�	 ��e�� h	�eO�3 �eA �e� �e�] 2���: 
 ���� h	�O�3e��e�V*�  .

 (*�e. �-eO �eA �e� >eO y�eZ� k�e'�w� % k�'�w� g�� �ATDD  �e�@4e��*5e�  


�eeA2�5��  *���	��ee.� �* ���ee��V�� R��eeA 8�ee.�1992-519 IEEE   (*�eeA ��ee�Aee��

*5�. 

 



                                                                          ����� ��	
���
�135 

 

 

 

5-10- 	5���V���VR �. S�?� 

	5���V���VR % ... ) ����V �� ��	5���V *�3 oJ��� �. S�?�21  %15  %9  %

3 =h  (2,�V  R��A o�w� ���+ . �	��* ���= �4��
	5���V���VR  S�?�3  y-�e=�

>A�7�z�-��R  �)�* �A Bc�		5���V���V  . *��* *5:
	5���V���VR  % �e. S�?�

 R��A ��9� j5�5�.�q���VR  �5ec� 2���: C5	 q�. +� �O (�� g��+ (���.e��

��O A 2���: �5c� ��� *��* *5:
 (��� >�'� 
* .����V 
 C5e	 +� �e� +� i�A ��

 (���� >��.
 �A d�c��� �* o�w� �O R/�1 . ��@�� r�:5�� R�)�*��*5e�  ��eO �eA

 2*�O2,�V  �eA W�e�

 Be3� Ue.5� C5e	  �A +�3 R�VW��

 ���+ . B.�	5���V���eVR 

 C5	 q���. �* �O �. S�?�*5:
 �A ��,��  k5's� R�A �5< �A��*5� . 

 
) >��5-14 (�	5���V� �. S�?� 

 P5e3 >�� �* 
 *��* *5:
 �
*���� |-��O +�3 �� R�V��A �O �����. 2, R��A

 �O B.� g�� �A ��3 B.� (�� (*�* 2�'	�@
n��VR  *5e:
 �5. 
 ���� ��	5���V

 X�: �A . �	��*�:�2��V  (
�4 �*N  . �e� �eV�5= �@e� C5e	 �* ���� 2���: �/: %

 % �. S�?� ��	5���V R�V�/: �

. �A��A ��:�2��VR  +�e3 �. S�?� ��	5���V

�����A  2��+ 
 +�3 ���+ .2,�V  ���7 qV R
� ���c< �5< �A��4��	� .  >�e� 
* �*

 ��	5���V ��+7 
5  ��A ��w�Y=��  .Be.� (�e� (*�* 2�e'	 +�e3 �e� �e� R��eA



136                                                               C�ec�) ���5���: qv�] >Z3DC  �eA

AC( 

 +�3 ��
�+ +�3 �. q���.180 �� ���] B@�� �:�*��	5���V 
* �V R��A . ��O 5  


7 .B.� P*�� ��}�� g�� 

 
 >��)5-15( �5. ��	5���V 

 
>�� )5-16( qv�] ��	5���V 



                                                                          ����� ��	
���
�137 

 

 

 
) >��5-17 (q�@V ��	5���V



 

 
: q'� >Z3 

 �ee�	
���
� R*�A��eeO &����ee�

����� 
6-1- ��A �3��� W��

 x3��� ���� 

 >��6-1  2�'	 �� �:
�= W��

 �3��� x3��� ���� 
 ��\s� Xc�� �����V* . 

 
) >��6-1 W��

 x3��� ���� (�3�����A 



                                                                          ����� ��	
���
�139 

 

 

 �	+ *5�* U.5�1D  
B�
�Q��VR  W��

 (���O q��Q�1R  
2R  R+�5� �=�� ��

 *�ev�� ��\s� Xc�� �:
�= W��

 �A ��(*�eO��q �e�\s� Xec�� R*�e� ��eO Be
�� �* .

���)�V�O  XeY7 B
�� �* �	+ *5�* B.� ���c< �� �* �:
�= W��

*��* ���e7 �* .

� Xc�� �:
�= W��

 U���� g��B.� ���O �	+ B��� W��

 +� ��\s �eV �A �^	��1 .

A�� i��/3� �:
�= W��

 ���
**5� ��'�A �	+ B��� W��

 +� 
 � B���eV �	+ *5�* %

����O  �=�� +� R�5c� 2���: 
2R  %1R  %1D  i��/e3� ��e���eV* i��/e3� ge�� .

 �. 
* W��

 B3� 2���:2R  B�4 W��

 ����SCR  i��/e3� ��e���eV*  
�� 2,  �eA

 g�
� B
����*�A.  2�� >�
 �ASCR  *�e�+ 2, +� R�5c� 2���:��*5e�  +5e�3 


 �� �������	�+5.  XeY7 ��\s� Xc�� R*
�
 W��

 o���� g�� �A��*5e�  �* �� ��eA 


�� >A�Q� Bz3��� W��

 �3�����O . 

6-2- R���Y�� P�A ���� 

 >�� �*6-2  . B.� (�� (*�* 2�'	 ��c�� �� R���Y�� P�A ���� ��� �*e�g 

 ����SCR  R���A W���6  RW�	� g��^�V . *��* (�9� �A �� ��

DC  ��tL  �* ��

 �9� P�A XY7 2��+�u��g ����O . 

 
) >��6-2 (R���Y�� P�A ���� Xc�� �� �A 

 ���� �A �:5� �A�'��>(��  U.5�1D  %2D  
* �* r5e� ��e�� (�e� 5��� W��



 ��t �.6  ��

*5:
 �A ����,  
�� 2,  g�
�����O  2+�e= �e@�� �e��] �eA .C 



140                                                  >Z3'� q: ����� ��	
���
� R*�A��O &����� 

 �. 
* W��

2R  2+�= Bc~� ���] �A . B.� >�
C  �:
�= W��

��+�e.5.  >e�


 2+�= g���A��A . (��C  �:
�= ��] W��

 >��@� (+��	� �A��+�.5.  �. 
* W��

 


2R  W�����*5�  W��

 U���� g�� �* g���A��A .SCR  % B.� Bc~� 2, �	, �A Bc�	

SCR 	 B���V����O . *��* ���7 XY7 B
�� �* 
 

 R���A6  T��< +� ��

1R  
3D  W�����*5�.  ���Q�1R ���: �A �:5� �A W��� 2

 S�H�	� R���A R��A��*5� �	, ��7
 B.� �9��A .3D  2, ���O +�Bc~���  W��� ���A

 ��v	���4�*� �Ye. Be.� >e�
 �9e� P�A �O �	��+ .DC  �* (�e� 5e��� W�e�



 �:
�=��+�.5.  �)	 g�
� �� ��t��*��*.  �9� P�A �^	��1XY7  2+�e= . *5�

C  T��< +�3D  %1R  
3R  ���H���*5�  ���O Bc~� W��

 ��CSR  �	, +� ���O 2,

 C�Z�� >�� W��

 �z�
 g��V �* . *5�2R  
3R  Bc~� /�	��*5�  �� �3�O W��

 


 B�4 ����� R��ASCR �u��g ����O  
SCR  g�
� ������O 2�e� ge�
� �eA .

CSR  T��< +� R���A W��

SCR  ��t �A���.�  ge�
� R��A �� +��	 *�5� RW�	� 


 2, 2*�O�u��g ����O 2+�= *5� >�
 �9� P�A �O �	��+ .C  W��� (��A
*��*5� 

 
SCR  ��5��= ����� �A��*
� . 

6-3- �V����R �A��4�� 

|t5���  2*�O *
��� R��A
�ø�º  +�v� ���	 ���Q� �~O��� �* % ���A�e�4�� RC 


* �A  2��
� �� �.���	R*�V  >�
��*5�  g�� .�A��4�� ���	�5�  �e�w �e� �ecY7

 �� . ���A �cY7�A��4��  >�e� Tec< �O B.� o.��� �	��+ R��A q�Q��� �cY7

 . �e��A (*�eO ���e7�A C�eZ�� 85��� R+�5� *5�* �� �A �5���/	��� �� �5����� % ��+

 B�
�Q�R  ���Q�
�ø�º  *
�e�� �� q�Q������e�O 7 �e�7
 
 % �e��A >e�
 �e�Y¿1 

 *
��� �� 2+�= ���H� 2���:����O . 

 >�� �*6-3  g��^�V�A��4��  �O 85��� �cY7
�ø�º  *
��� ������O  2�e'	

 2, �* �O B.� (�� (*�*¿1 ��: *
��� �� 2+�= ���H� 2����e�O. ���)�V�eO  
*

 R+�5� �5< �A �5����� 
 % �	5� >Z�� qV �A 85����A��4��  B9: 
* �V �* ���A

 g�� �* . ���A ����* �����O&�5�  +��A��4��  (*�@�.� �cY7 ��w��*5� . 



                                                                          ����� ��	
���
�141 

 

 

 
) >��6-3 (���� &��A��4�� 

6-4-  +� (*�@�.� �A W��

 B6�@�*��V*5R  ��5���. 

 ��\4 W��

 �3��� �A��A �* B6�@� R��A��2�5e�  +�*��eV*5R  (*�@�e.� ��5���e.

*5�* g�� .*�O 85��� B��� W��

 
 qO q�Q��� W��

 % �V|-��eO  �e����(�e��R 

 >�� �* ��5���. *5�* �ZH'� . �	��*6-4  . B.� (�� (*�* i���	|t5���  �eYQ	

��* ���7 �ZH'� ����� R5	�+ +� >c7 ��O ���� +� ��O ����A 2���: 
 *e���e'O  .

 g���A��A W��

 �3��� ��7
*5:
 �A  85e��� 2���: 
 (*�O �5c� ��5	�+ �YQ	 +� % ��,

 i��/3� 2�94�	 ��5���. *5�*����A�  
�A�g&�5� |t5��� 
�� ��\4 W��
  �eA��A 
* �A

 *
��� R*�� W��

����O . 



142                                                  >Z3'� q: ����� ��	
���
� R*�A��O &����� 

 
) >��6-4 *5�* (��5���. 2, �ZH'� ����� 
 

 
) >��6-5 *5�* +� (*�@�.� (��5���. 

 �	�5�A ���A ��5���. *5�*2
�A � % ��* *��+ i��/3�	 RW�R*��+  �eV . ��O ��� ��

 ��5���. *5�* ���
|t5���  W��

n� ���	 �m25  *
�� �* k�A W��

 
 B

72  B



 +� B6�@� R��A . *��*�V����R DC  ���� % P5e3 >�� Tc< (�	��*+�A���e��A  �* .

�V����R ac  %(�	��*+�A�V  ��wcY7��	�  �\
 
����	�5�  �3����VW��

  Be9: �V �* ��

 �* . ���O *
����V����R  % +�3 �.(�	��*+�A�V  >�� ��	�� (���. C�Z�� �A �cY7��+ 

 >A�7(*�@�.��	�  . 



                                                                          ����� ��	
���
�143 

 

 

 
) >��6-6 *5�* +� (*�@�.� (��5���. +�3 �. &����� �* 

*��V*5R  % �e�=�* 2+�e= qO B�3�6 >�
* �A ��5���.
�ø�º  2�/e�� 2�e�V �eA ��

 R�V�����A��4�� RC  *
����	����O  g���A��A .2,�V  ��*�eQ� �� �� ��\4 R�VW��



|-��O  *
��� �ZH'������O  �e� �A *����� B��A�7 % 2��
� �� +� B6�@� R��A .

 ����RC  +� ��'�A*��V*5R  ��5���.�����A  . 

6-5-  B6�@�GTO  
MOSFET 

GTO  �eO +5e�3 �e� Ue.5� % �
5e��� �5����� �A�'� % 2���: �3��� �A��A �*

 >�� X��. ���=����O  B6�@���*5�  2�e��: 2*�eO ���e7�A �eA �)�* R5. +� .

 B�4 ���� �* 85�����2�5� GTO  C5e< �eO �	��+ . *5�	 XY7 ��e���e'O  �e�

 XY7 
 *5� (*�* ��H'� % ��.5�] j57
 �A C����GTO **�e4 +�ew,  
/e�	  2�e�+

=u���R  ���	 2��
� *5= +� �O��*5� %  �� k
� g��w�>A�7�  2����<���*+�.  . 

 ��c��A��4��R  >�� �* �O6-7  B.� (�� (*�* 2�'	|t5e���  *
�e�� R��eA

 ���7 (*�@�.� *�5� XY7 ��)�V �A W��

 i��/3� B��. g�=�.��*��4  . 

 �� 2+�= (+��	���2�5�  �eYA�� +�® � · �ø�º   �eO *5e�	 �ce.���I  �e	, 2�e��:

 
 B.� (�� [�J5.
�ø�º  2�'	 �� +�v� W��

 i��/3� 2�/�����V*  R�. B�
�Q� .R 

 �5����� �* 2+�= RW�	� �	�94�	 ���H� +� % �5����� >�
 ��)�V R��45�:����O  


 2, (+��	� 2*5�	 �H'� R��A��2�5�  �	��+ BA�mRC  �A��A ��
1

5
  �z	 �* >�
 2��+



144                                                  >Z3'� q: ����� ��	
���
� R*�A��O &����� 

 B�
�Q� g��^�V . B3�4R  �eA �eA��A 2�5� y-�� �A �*�7 ���A>���S�e�  h	�eO�3

 _��^�J5.Ö²  �*9;ä � 1

2
Ö²·ù±2: 1

2
·±2   . ���A 

 ��c� % >�� �*�A��4��  &�/�9v� �* 2, +� (*�@�.� �\
 
 B.� &�@�� Xc�� *5=

 ��6�@����2���t�  oce. *5e�* +� (*�@�e.� . �e.�A >7��� �A ���A��**�e4  �eO

+
�A ��)�V
�ø�º    X��e.=ue���R  �e��	 Be�
�Q� +� �eO��*5e�  �* . **�e4 y\e�

 �e�+ >�e� (�e� (*�e. ���e� �e��A �+t Be.� ge��� �V���� ���. 
 >] R�V����

(*�@�.�*�5� A /�	 
 ���� >�� �A % ���� g�� +� (*�@�.� . *��4 ���7h	��O
�	� � R�eV

h	��O
�	� 2�	�.� >7��� �A R��A . *��* �)��A (��O��] �O B.� �+t (��O��] R�V

 �����A��4��  . *��4 ���7 �<5A�� ��Y7 ��*/	 *��* 2���� �O ���: �� 

 
) >��6-7 ���� (�A��4��  R��A XY7 ��)�V �A W��

 i��/3� B��. g�=�. *
��� 

 Bee6�@� R��eeAMOSFET   �eeO �ee
���O �ee��A 2�ee��: �3�ee�� �eeA��A �* �eeV

H'���(��V*  ���A 2���:(*�@�.�*�5�  oce. Be�4 W�e�

 iV�eO �A �� *��4 ���7

XY7MOSFET  �e��/	��� �A�e'� . *5�e� ge�� �* +5e�3 +� (*�@�e.� &��e7 �5 ���

 ge��* g�eA RW�e�

 i���e�] oce. 2�e��: i��/3� ���+ B��	 o.���_  8�5e.

��**�4 �

 g�� . *
��� �� 2���: W�����O  >=�* �* 2�5� &�@�� i��/3� oc. ��� %

 ��Y7��*5�  �O���	�5�  ���� (��O��] h	��O
�	� �4� ��� . **�4 2, o��H� oc.

 �* 2���: XY7 ��)�V �A ���A qOMOSFET   �Q
� oc. % X��. _��^�J5. 2��+



                                                                          ����� ��	
���
�145 

 

 

 g��* W��

–  �� +� i�A 8�5.��**�4  �e	+ *5e�* �e� �e�+ >�� *�5� g�� �* .

 W��

 k�A B9:��**�4  ��� B�
�Q� U.5� ���\4 RW�	� �O g�� g�� .��*5e�  .

 ���� ��+ >�� �*�A��4�� RC  *
��� �� W��

 i��/3���*+�.  +� C�e� g�� �* ���

 �O ����.MOSFET   ����2�5�  *5�	 [�J5.���V�O  R�V���� +� ��� S�H�	� .

�� ��ce� +� �eO ���@�� 
 _��^�J5. 2�/�� 2���3 ���� R�V������] 8�.� �A ��+ >

 ���	 ��6�@���*5�  &�5���*��4  . 

6-6-  >A�Q� �* �5����� B6�@�
�
� 

��� R��A �5����� �� B���V 2���: �	�5�A ���A�5<  Xe�+5� �V�e	5�] �* Be=�5���

 B��. �A ����Q� �* �	, 2���: i��/3� B��. �4� . *��* +��	 ��O 2��+ �� �A ��O

 ���A X��. ����A R*�� 2�� g�
� �� �* ��t �* 2���: X�+5� %
* �Ae�>  �
�e)1

 2���: *��+% 	5�] R��* g�3� t�A �A �v�� ����	5� 
  ���� �5�������A���  �\e
 .

� �* >A�Q� �* �� �5����� ���A ���� R�V���
�ò�º  *�O Bz3��� *��+ . >�� ����6-8 

 ��J�* B
�� �* . ����)A �z	 �* �����)�V�O  �5������1  *5e�* B.� k5��=³´ 

 B���V����O �4� .�1 
���*��O ³´  B���V���e�O  % *5e� ge�
�
�ò�º  �eA UeQ3

 *
��� ���� (��O��] ���Q
� ��5=��*5�  
���	�5�  >�� �* . ���A ��/A ����A
�ò�º 

 �A�3���  R�. ��. �� 2*�OÐ²  *
��� ��+ >�� ��	����*5�  
 �~O��e�
�ò�º  �*

 g���� ��+ &�5� �A q�Q��� 8���A��*5� : ¸Ú¸¹ 9Åãú:  =  ±²Ð² 

 
) >��6-8 ( ���� >A�Q� �* �5����� B6�@�
�
� 



146                                                  >Z3'� q: ����� ��	
���
� R*�A��O &����� 

6-7-  >A�Q� �* �5����� B6�@�
�
� 

 ���Q� *��5� �?�A �*
�ø�º  ���� �5����� �A ��	, �A (
-� *��+���	+  �e)��� �e��A %

 /�	 2, ��.�5=�	 2����**�4  R5e�	 �eA ���A �5z�� g�� R��A .
�ø�º  . q�e�O *
�e�� ��

����V W��

 &����s� (���O *
��� �O ������� . B.� (�� (*�* 2�'	 ��+ >�� �* 

 
) >��6-9 ( &�����(���O*
��� W��

 &����s� 

 ���O �^	��1ö1  >�� �*6-9  �*t = 0  W�e�

 % *5e� ���A�e�]�R  �e. �eA�1 

 
 �� �V�5= C����
�ø�º  . *5A �V�5= ��/A �3�O (+��	� �A 2, 2*�O g�
� R��A

�ø�º  ��

��2�5�  2+�= C�Z�� �A·²  . *�eO *
������)�V�eO  �5�e�����1  ge�
���*5e� 

 B�
�Q�¿²  �� 2+�= W���* 2���:2��V�5<  (��* �O��*5e�  *
�e�� %���e�O  .

 ����RC  ���� �A �O�A��4��  B.� y
��� 
* W�e�

 % �5�e���� �e.�eA�5<  ���e�	

 i��/3�����A�  

�ø�º  �� �����A�5<  �c��Q���2�5�  ��+ �YA�� +�B.* �A : *�
, ¸û¸¹ �  0.632±²ü = 0.632±²¿²·²  

�+� �AR  �5��� ���Q�
�ø�º  ���� �	��+ BA�m�A�e�4��  �eOü = ¿²·² ���e��A �� 

��2�5�  ��+ �YA�� +�B.* �A *�
, ���Q� .¿²  ) W���* 2���: +� /�	®Çä  �ce.��� (

��*5� �A�5<R�O : ¿² = ±²®Çä 



                                                                          ����� ��	
���
�147 

 

 

 W���* R��A·² 2��V�5<  (�V�'� P53 >�� �* �O��*5� ��2�5�  �� +� i�A

O �A �� B�
�Q� ����� g�� �* . B3�4 ��
�ø�º  U.5�¿1  %·²  W��e�* 2���: 
 Ue.5�

)¿1 4 ¿2  *
��� (��*5�: �v��	 �* . 

®Çä � ±²¿1 4 ¿2
 

 ��A g��^�V���	�5�  ��c� �A�A��4��  . �eV�A �� R�e. ���� �� >��'� R��eA

 ��] W��

 i9: 2*�O *
���C����(��  �* �e����� Bce�	 +� % �5����� �. 
* �A

 
 q�	 (*
���1  (*�@�.���*5�  �eO ) �e��A *�e�+ ��A ���Q
� B���= �4� .|t5e��� 

 ���Q� x@� R��A ( B.� g��1�z	*�5�  % ������ o�����2�5� ¿²  
 ��/A ��·² 

 *�e�+ ���eQ� . B3�4 �z	 �* �15O ��¿²  qeO ���eQ� 
 W��e�* 2�e��:·²  &�e@��

�A��4��  iV�O �����V*  . 

6-8-  ���� R���A �W��� 

 >��6-10  �. R, �A �����5�� �W��� ��741 (��� 0,) �����A  ���e� g�� %

 R��A���AR�VR 12  B

5/4 �p�,R  o.��������A  . 



148                                                  >Z3'� q: ����� ��	
���
� R*�A��O &����� 

 
) >��6-10 (R���A �W��� ���� 12  B

5/4 �p�,R 

 ��ev	� �	�e.5	 &�5e� �A W�����*5e�  .�A�g&�5e�  R���eA W�e�

 �e�7
 �eO

 +� ���O �A6/13 �e��] W�e�

 ���eQ� ��.� B

3  �e��] W�e�

 +� �e��O2 e��*5e�  


 �@e� �ez�
 �� R��A �:
�= o���� g�� �Ae��*5e�  �e��A ge�� 
e��*5e�  �eO

2+�= ·1 �5�e��/	��� 8�e��A �eA j
�e� 
  *5e� W��e�* ÷1 �5�e��/	��� . �e�O÷1 

 2�ee��: qeeV(��+��ee	�R �5�ee��/	��� ÷2  ���uee��g ee���ee�O  �eeA 2�ee��: (�=t�eeA 


 C�e��� R���Ae��*5e� . 2+�e= ��eQ1�V ·1   �e�*/	 % >e��O W��e� �eAe��*5e� 

�5�e��/	��� h�eA �A 2, �V* 2���:÷1   �e��O qeVe��*5e�  2�e��: (�=t�eA �e�

 Rt�eA �eA R���eA �eO ���5e� �* . *5e� �@e� �e:
�=6/13  (��e.��e��A  �ee)�*

5�� W��� ��w �* % �� �V�5= �7��g &�5�  ����� >��. g����*5�  . ÷3 
 ¿9  �eeO �ee	��* (�ee9� �eeA �� �ee:
�= 2�ee��: 2*�eeO BeeA�m �ee@�6
 qeeV

� *
�ee� �eev��500 ��ee���eep�, ���ee��A. 5Q��B(�ee��O�VR  R���ee��] +� �ee�� 0,

 Be�
�Q� >e~� �:��e= �e���� +� �ce.��� oe�O�� C�eZ�� �eA 
 �e	��*�5=�A ��t�A



                                                                          ����� ��	
���
�149 

 

 

 �eeA (�ee�w 
 *5ee�* % 2+�ee= %2,�eeV ee��2�5ee�  
 �eeY= &�ee���� j�5ee	�w�eeY=��  ��

 (�e���	 �e�� 0, ��eZ�=� �A �O *�* ��v	���*5e�  �* Xe��v� ���e� &�5e� �eA 


 ���7 8��.*��4��	�. 

 +�
�eee4���eeeVR  �eee��Z�=�5Q��B(�eee��O�VR  
 ��eee��@� R*
�
 ���eee����

 *��+ ����A (�9A2,�eV ���e��A �e�
� ge�� . R�eVW��

 2�e�� y-�e=� �e��	
���
� 2

 �* R*
�
�]���VR  ���e�, ��t�eA ���e�A Be�5Q� �eA �e:
�= �* �� �e@�� 
 Bec~�

��*+�.  �e��A /e�	 �e15O W�e�

 y-�e=� ge�� �e4� ��� .�� 2,  >eA�7 �Ye. �eA

W��

 +� �
5c7  >��c� �:
�= �*����O  . 

g�ee�t ;-Ye�� �* �� Beec~� R*
�
 �e��] noninverting �� �ee@�� �e��] 
 

inverting eee��54��eee�.  �eee4�inverting>noninverting  �eee��] �eee���)

 W�e�

 R���* (���O 85�����/A�e� �e@�� B�e. �eA �e:
�= (�e��A ±²² j�ce��

��*5��@�� +� �5z��. ±²² Be.� �e. R, �e�\s� W�e�

 �e@�� ���Q�  .|-~e�  �e4�

 R*
�
 W�eee�

5  RW�eee�

 R���* �eee@�� �eee��] R*
�
 
 �eee��A Beee

��/A�eee�  +�

 �e@�� B�e. �eA �e:
�= �e��A Bc~� ���] R*
�
5  j�ce�� �eA Be

e��*
�  
 .

�ee4� h���eeA inverting < noninverting   85ee��� �ee�w �ee��] �ee���)

 W�ee�

 R���* (�ee��O��/A�ee� Beec~� B�ee. �eeA �ee:
�= . (�ee��A ±²² j�cee�� 

��*5ee�  .|-~ee�  �ee. R, �ee�\s� �ee4�5  R���* Beec~� �ee��] R*
�
 
 �ee��A Bee



 RW��

��/A��  Bec~� B�e. �eA �e:
�= �e��A �e@�� ���] +�5  j�ce�� �eA Be



ee��*
�  �* j�cee�� q��/O�ee� % R*
�
 �eeA �ee:
�= +� �A�ee�3 2*�* ���ee7 2
�eeA

W�e�

 y-�e=� g��e��O �eA �:
�=  �*�]e���VR  R*
�
 �e@�� 
 Bec~�*5e:
 �eA 

����,  B.� ��\] /�5	 ����A ���� B
�� g�� �* .. 

 

 

 

 

 



150                                                  >Z3'� q: ����� ��	
���
� R*�A��O &����� 

6-9-  ���5���100 &�
 

 
) >��6-11 ���� ( ���5���100 &�
 

 �*>�e� 6-11 ���e� ���5e��� 100 &�
 �eA (*�@�e.� +�  �e. R, CD4047
 

MOSFET IRF540  B.� (�� (*�* 2�'	 .CD4047  �e. R, ��2�.5	+�e. 

�:
�= �����]�	CMOS   &��7 qO �ev��� �* . Be.� �eA2�5�� 2�.5	+�e. ���e��]�	 

 (*�@�.���*5�  ��
5� h
�] ��Y7 
* �O����O �O �* �]���VR 10  
11  *��* *5:


 
180  *��* +�3 y-�=� �:�*. ���] 10  �A �5���/	��� B�4 ÷1  
 ���] 11 �A  B�4

�5���/	���÷2  >Z�� B.� (�� .  B�
�Q�¿3  
¿4  +� X	�� R��\4��A �e. R, �eA 

MOSFET  R�V �<5A��  ���	5�  .���)�V�O  ���]10 �5���/	���  ÷1   %2���: 

�� +� T��< ��t�A ���	 ��

� �5����5@�	���  B���V����O ���	 % Bc~� �:
�= W��

 

AC  �� S��� �A . ��,���)�V�O   �e��]11  �5�e��/	��� ÷2  �� 2�e��: Te��< +� 

���	 �5����5@�	��� �����] �* �e�

� �
�eH� Be9: �� B���eV% �e�O �e��	 �e@�� 

�:
�= W��

 AC  �� �A *5= ��Z�=� ���V* . 

6-10- �A��3 ���� �A �5�5� B��. C���O 

 >��6-12  l���� +� (*�@�.� �A �5�5� B��. C���O ���� �������A  ��\s� �O

 ��A 2���: +� �� *5= �A��3 ������*��4  ��7
 �O B.� &�5� g��A ���� *����� .



                                                                          ����� ��	
���
�151 

 

 

 B���V l��������O  Be�
�Q� 
 l���� �. 
* W��

 B3� (+��	� �A U= R*�� W��

 % ¿5  C���� �5�5� �A 
 (�� ��.�O��*5�  �A �A .=u���  �� l���� 2�� i�, g�=��	�

% >��. +� ����7 ��  W��

�mn�  �ev	, +� 
 (*�eO ��e�] iV�O �5�5� �A (�� C����

 iV�O �5�5� B��.����A�  . 

 R�V*5�*³1  ��³4  >]��+�e.5.  >��e'� ��e���e�V*  l�e��� +�e3 C�e��O .

�A.
���  2+�= W���·1  B�
�Q� (�� +�¿2  
¿3  Ue.5� (�e� *�ev�� W�e�

 �Y. +�

 �	+ *5�*³5 B.* �A ����,  .�7
��O ·1  �eA �5�e��/	��� 2�� R*�V W��

 (+��	� �A

 �5���/	��� C�Z��÷1  W�����*5�  %·1  ����� (�� +�÷1   �
�=��*5�  �eO �	�e�+ .

 B���V l��������O  g�A W��

 B3�A 
 B  B��� W��

 ��+³5 ����3�  g���A�e�A .

 W��

 % B���V *5��] �	��+ ����3 �*·1 B3� ���.
 �A  +� W��

A  
B  
B�
�Q��VR ¿1  %¿2  
¿3  g������**�4  g�A W��

 251 .A  
B  ���	 �5�5� 2���: +� ��A��

 B�
�Q� +�¿5 �����A  %·1  �eA oe.���� �eO ���Q� �� B���V *5��] �	��+ ����3 �*

 �] B.� �5�5� 2���:��*5�  ���Q� .¿5  S�H�	� R�5<��*5e�  �eO·1  �e� �e	�5�	

 2�e� ie�, �e��A *5:5� W��

 �O *5� W��� R���Q�÷1  *5e��] �	�e�+ ��e��3 �*

 2�e� ie�, B9: �+t 2�� W��� ���Q� . *5� B���V÷1  ���eQ� �e� ���e.
 �eA

 iV�O �5�5� 2���: �A o.��������A�  2, �* �eO B���V ��
�+ g���A��A .÷1  ie�,


/3� �5�5� 2���: �A o.���� �� �V�5= (*��*5�  �5�5� �O 2��^�V .��*��A ��*5� 

 ��'�A 2���: 
���'O  2�� i�, ��
�+ %÷1  (*
/e3� ��'�A ��� /�	��*5e�  �eO

 W��

 �* o.���� i��/3� �� ���An� �m �* i��/e3� �e� 
 �5e�5� �eA (�e� C�e���

 �
��'4n� 2, �m��*5�  . 



152                                                  >Z3'� q: ����� ��	
���
� R*�A��O &����� 

 
) >��6-12 ���� (�A��3 �A �5�5� B��. C���O 

6-11- +�3 �. >] ���5��� 

 >�� �* +�3 �. >] ���5��� ����6-14  25�.��5�O B9: . B.� (�� (*�* 2�'	

 R��c:���2�5�  �� +�3 �. >] ���5��� . *5�	 (*�@�.� 25�.��5�O R�V���� +���2�5� 

 �A�'��5�� (���O  % +�3 �. >]��5� �A�  &�� �A �5����� �V �O *�O C���O120 

 . ����	 B���V �:
�= >��. �:�* 

 
) >��6-14 ���� (+�3 �. >] ���5��� 



                                                                          ����� ��	
���
�153 

 

 

 ��A�� �c� ��A �:
�= 2���: r5� >�������A  �eA �� ��A 2���: �5����� �V 


� B���V >��. �5. �� &�����	�� .  �� �V�5����� �4��A2�5��  % q��O �Q�� ���O

 Xc��dc  [�J5. ����� i� �*��*5�   B��e. . *5e� �e�
5� +�e3 �. �:
�= ��

 g���� �� ��A h	�O�3 �V�5����� _��^�J5.����	�� . 

6-12- ������
� >��.
 x3��� ���� 

 
) >��6-15������
� >��.
 x3��� ���� ( 

 ����6-15  Bez3��� �e�����
� �+�5e
 +� �9� P�A &�	�.5	 >A�Q� �*e���e�O  .

������� (���O B�5Q�IC LM324  �A&�5�  (�e� (*�@�e.� W�e�

 (�e��O ����Q�

gee�� .Bee.�IC   ��ee91 +�5Q��B(�ee��O  
* +� UeeQ3 �eeO % (�ee� >��ee'� ���ee����

5Q��B(���O 2, �������) 2, N 1(N B.� (�� (*�@�.� ���� g�� �*.   �e
54� ��\s�

 R�. ��5�v� �A (�'	B�
�Q��VR 2, R 1R 
 1VR � 2�e�V 
 Be.� (�e� >eZ�

 �	+ *5�* �� �A ��\s�8/6 ��

) 1(ZD B�
�Q� T��< +� 3R  B.� (�� >�
 . 

 1VR ���A�5<R  q�z��(*�O��q  C���	 W��

 R��A �O180  �
�240  W��

 % B



 g�]) Bc~� ���] �*3 (5Q��B(���O ������� 1N  +� ���O8/6  .�e��A B

�	�*��ev 

 �:
�=5Q��B(���O �5���/	��� 
 *5A �V�5= �@� ������� 1T  k5��=���	�� �
� .

�5���O �A �O 1T  . �� �V�5H	 ��\s� /�	 % B.� >Z���	�*��v ��\s�AC  �A.
��� 



154                                                  >Z3'� q: ����� ��	
���
� R*�A��O &����� 

 P�eA R*�e� *�e���� �< �* % �� �V�5= C���� �
� ���A C���	 �s�� T��< +� �7�A

 XY7�	�*5�  .  

	��+� �O  +� �9� P�A240  i��/3� B

����A�  g�e]) Bec~� C������ W��

 %3 (

5Q��B(���O ������� 1N  ���] i��/3�����O  �e@�� C�e����� �* W�e�

 ���Q� . �eA

B��  �	+ *5�* *5:
8/6   �:
�= % �	�� �V�5= B

5Q��B(���O  Be3� �eV�5= t�A

 ���A �O(��+��	�R �5���/	��� 1T  ��\s� �
� 
��*5� ��\s� �v��	 �* . AC  
 XY7

 k5��= �7�A ���.
��**�4  W�e�

 �3�e�� �eY= >eA�Q� �* �e7�A ���e.
 g���A��A .

 Bz3�����**�4 . C����V�5=�q �A  �* ���� *����� �.��A2��+�VR  W�e�

 Be3�

 �e�+ W�e�

 �O �	��+ . q�+�*�pA180  g�e]) �e@�� C�e����� W�e�

 % �e.�A Be

6 (

5Q��B(���O ������� 2N ) Bec~� C�e����� �* W��

 +� ���O6 . �e� �eV�5= (Be



��A��A�g  �:
�=5Q��B(���O ������� 2N  *��+��*5�  �� �
� 
�A.
��� �5���/	��� 

 1T C��3����O ��\s� .AC   k5��e= �e�����
� ���e.
 
 (�e� XeY7e��*5e�  .

 Bz3��� W��

 B3� >A�Q� �* �7�A ���.
 g���A��A����O R��A q�. . IC  �� R��A

 ��\s�12 B.� (�� B�c~� B

. 

  C��3 B
�� 
* �* �
� h]��**�4 .  g�] �* �4� B�H	3 +� IC  ��t�A8/6  B



 g�] �* W��

 �4� �
* 
 ���A6 % 2IC  +� ���O6  g�J�] 
 t�A W��

 ;5Y. . ���A B



 U.5���� �A�o1VR % 2VR B.� q�z�� >A�7.  



 

 



 

 XA��� 
1 – ) ����e� ��	
���
��V���e�  
 &�e�Y7 %�eV*�A��O / (n��e
 / ��e�� .( .� :

2���97 *�/9A ��O* % ��7��� ������ ��O* : 2��:���.  

2 –   / ����� ��	
���
�n��
�c�Y� ��� ��O* :.  

3 –  / ����� ��	
���
�n��
 : g��:�e�� / ���
 >���. :�7�A�e���  R�e����

R�9� �Q�@� g��� % ����3 ��� �V�< ��. % *��	. 

4 –   / ����� ��	
���
� �	�c�n� ��� : g�@
���������  %������� ������. 

5 –   / ��	
���
� �	�c�n��Q'� ��� ��� ��. : �
. 

6 –  >���� 
 ��/v� R�V������	
���
�
���� �
,*�4 /R���� ���� q~�� : (�	. 


